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1. O01me MoJ10KeHUs
1.1. @ono ouenounvix cpeocme (POC) oucyunaunvt Hnocmpannulii A3vIK

SIBIISIETCSI COCTAaBHOM YacCTBIO HOPMATUBHO-METOANYCCKOI'O 0o0ecCIIeUeHnsT CUCTEMBI OICHKM Ka4dy€CTBa

ocoenus [MIICC3 obyuarommmucs CIIO.

1.2. B coorBerctBuu ¢ TpeboBanmsimu DOI'OC CIIO (POC) mpenHazHadyeH IS aTTECTAllUU
o0y4aroImMXcsi Ha COOTBETCTBUE MX MEPCOHAIbHBIX JOCTM)KEHUH IO3TalHBIM TpeOOBaHUAM
coorBercTBytomeii IIIICC3 B ¢opme TeKymero KOHTPOJIA pe3yiIbTaTOB YCHEBAEGMOCTH W/WIIH
MPOMEXYTOUYHOM aTTECTALIUH.

1.3. ®OC pa3paboTan B COOTBETCTBUH C:

®enepanpubiM 3akoHOM oT 29.12.2012 N 273-®3 "OO6 obpazoBanuu B Poccuiickoit
Oenepanun";

denepanbHBIMU  TOCYJAPCTBEHHBIMH  OOpa30BaTENbHBIMU  CTaHAAPTAMH  CPEIHETro
npodeccuorabHOro oopazoanus (PI'OC);

ITpukazom MunucrepcTBa oOpazoBanust u Hayku Ne 464 ot 14.06.2013 «O6
YTBEP)KACHUH TOPSAKA OPraHMU3alMU M OCYILECTBICHUS 00pa3oBaTENbHON EATETBLHOCTH IO
00pa3oBaTeNbHBIM TPOrpPaMMaM CpeIHEro MPOoQEeCcCHOHAIIBHOTO 00pa3oBaHUs» (B pemaKIud
ITpukaza MunucrepcTBa oOpasoBanusi 1 Hayku Poccuiickoit @enepaunu Ne 1580 ot 15 sHBaps
2014 r. u Ne 31 ot 22 suBaps 2014 1.);

Ycrasom @I'BOY BO «MypMaHCKHi rOCy1apCTBEHHBIM TEXHUUECKUN YHUBEPCUTETY;

[TonoxxeHHeM O TEKyIIEM KOHTPOJIE YCHEBAaeMOCTH M IPOMEXKYTOUYHOH aTTecTallu
obyuaromuxcs @PI'BOY BIIO «MI'TY» o obpazoBarensHbiM porpammam CI1O;

[TonoxxenneM o ¢oOHIE OLIEHOYHBIX CPEACTB IO O0pa3oBaTeIbHBIM MpOTrpamMmam
cpennero npodeccuonaabHoro oopazopanus ®I'BOY BO «MI'TY »;

pabounM ydeOHBIM TUTaHOM 10 crernuanbHocTh 13.02.07 DHeprocHabkeHHe Y4eOHOW MMCITUTUTHHBI

HHOCTpaHHBIN SA3BIK;



2. Ilacnopt ¢donaa oueHouyHsbIx cpeacts Y/ UHocTpaHHbIN A3BIK
2.1 ®OC nosBomnser orennsars OK:

OK 1. Bribupats crocoObl pemeHus 3a1ad npopeccuoHaIbHON NeSTeTbHOCTH MPUMEHUTEIHHO
K Pa3JINYHBIM KOHTEKCTaM.

OK 2. OcymiecTBisTh MOUCK, aHAIW3, W HMHTEPIpETaIruio HHPOpMAIMK, HEOOXOMUMOU s
BBITIOJIHEHUS 3a/1a4 PO ECCUOHATBHON AEATEIbHOCTH.

OK 3. IlmanupoBaThb M peEaJH30BBIBATH COOCTBEHHOE NPO(PECCHOHATBHOE M JHMYHOCTHOE
pasButne.OK 4. OcymecTBiasTh TOWUCK W HCHOJb30BaHWE WHPOPMAIMH, HEOOXOIUMON st
3 PEeKTUBHOTO BBIOTHEHUS NPO(ECCHOHATBHBIX 33/ad, MNPOPECCHOHATHPHOTO W JMYHOCTHOTO
pa3BUTHSL.

OK 4.Paborath B KOJUIEKTHBE U B KOMaH[e, 3()()EeKTUBHO B3aMMOICHCTBOBATH C KOJIJIETaMH,
PYKOBOJICTBOM, KIIMEHTaMH.

OK 5.0cymecTBisiTh YCTHYIO M THUCbMEHHYIO KOMMYHHUKAIIMIO Ha TOCYJApPCTBEHHOM SI3bIKE
Poccuiickoit @enepannu ¢ yueToM 0COOEHHOCTEH COLMATBHOTO U KYJIBTYPHOT'O KOHTEKCTA.

OK 10.Jlonb3oBaTbcsi MpO(ecCHOHANBHOM  TOKYMEHTAalMell Ha TroCyJapCTBEHHOM U

HHOCTpaHHOM A3bIKax.

2.2 ®OC 1o3BOJIAET OIIEHUBATH OCBOSHUE YMEHHIA:
V-1: obmarbcst (yCTHO W THCbMEHHO) HAa WHOCTPAHHOM S3bIKE€ Ha NPOQECCHOHATBHBIE H
MIOBCEHEBHBIC TEMBI;
VY-2: mepeBoauTh (CO CIOBapeM) HHOCTPAHHBIE TEKCThI MPO(heCCHOHATBLHON HAMPABICHHOCTH;
VY-3: caMOCTOSITENIbHO COBEPIICHCTBOBATH YCTHYIO M MUCbMEHHYIO PEYb.
V-4: nonoaHATH CI0BapHBIN 3amac.
2.3 ®OC mo3BoIIAET OLIEHUBATh YCBOCHNE 3HAHMIA:
3-1: nexcuueckwnii (1200-1400 nexkcuueckux €IWHUI) MUHUMYM;
3-2: TpaMMaTHYeCKHMii MHHUMYM, HEOOXOAMMBIA JUIsi YTEHUS M TepeBoaa (Co CloBapeM)

MHOCTPAaHHBIX TEKCTOB MPO(ECCHOHATHLHON HAIPABIECHHOCTH.



2. 3. KoMiieKThl KOHTPOJIbHO — OLICHOYHBIX CPECACTB 110 BUIaM aTTeCTAllUA

3.1 Ilpumepnoe nanornenue KOC/KVM nyist Tekyiero KOHTPOJisi

OueHo4YHbIE CpPeACTBA

KoMmIeKTbl KOHTPOJIBHBIX 33aJaHMH MM HMHbIE MAaTEpPHAJIbI,
He00X0AUMBbIe /1JIs1 OLleHKHU 3HAHUM, yMEeHNH, HABBIKOB M ONbITA
NPAKTHYECKON [esiTeJIbHOCTH, XapaKTepusywliye 3Talbl
(GopMupoBaHusi KOMIIETEHIMH

OpoHTaNEHBIN onpoc, Oecena

- IEpEYCHb BOIIPOCOB;
-KPUTEPUH U LIKaJa OLICHUBAHUS

Opdorpaduyeckuii U JEKCHUSCKUN
JIUKTAHT

- TCKCThI JUKTAHTOB,
“KPpUTCPUU U IIKaJIa OIICHUBAHUS

ColOecenoBanue - BOIIPOCHI ¥ 3aJIaHUs IS IOATOTOBKU K COOECEIOBAHUIO;
-KPUTEPHH U IIIKaJIa OLCHUBAHMS OTBETa 00YUYaIOIICroCs
TectupoBanue - (hoH/T TECTOBBIX 3aJaHUIA;

- UHCTPYKIUA I o6yqaloumxca 110 BBITIOJTHCHHUIO,
- KpUTEPHUHU U HIKaJla OUCHHUBAHUSA

Co3maHue YCTHBIX M TMHCHMEHHBIX
BBICKA3bIBAHUN PA3THYHBIX CTHIICH U
JKaHPOB

- BOIIPOCHI U 3aJaHus OJId TOATOTOBKU K CO6CC€I[OB3HI/IIO;
-KpUTCPUHU U IIKaJIa OLICHUBAHUA OTBCTA o6yqafomeroc51

IIpakTrueckas pabora

- KOMIUIEKT 3aJaHUM 110 BapuaHTaM;
-MCTOANYCCKHUC YKA3aHUS 1O BBIITOJIHCHUIO pa60T;
-KpUTCPUU U IIKaJa OICHUBaHU.

3.2 IIpumepnoe nanoanenue KOC/KUM 1y1st IpOoMeKYTOYHOM aTTeCTAIMHU

®opma npoBeeHNsI

KoMmiieKTbl  KOHTPOJIbHBIX  3aJaHUl  WJIH  HMHbIE
MaTepHuaJibl, He0OXO0AMMBbIe /IJIsl OLeHKH 3HAHWH, YMEHHH,
HABBIKOB M ONbITA TMPAKTHYECKON IesiTeJIbHOCTH,
XapakTepu3yuye 3ranbl GopMUPOBAHUA KOMIIETCHIMMI

I epeHInPOBaHHBIN 3a4eT

BONPOCHI U 3a/IaHUS JIJISl IOATOTOBKH K TU(GEpESHIIUPOBAHHOMY
3a4eTy;

- OMJIETHI;

-KpPUTEPHH U IIIKAJIA OICHUBAHUS OTBETa 00YJaIONIeroCst




2.4 KogudukaTop OIIECHOYHBIX CPEACTB

Kox HanmenoBanue Kpatkas xapakTepucTika OleHOYHOTo cpeacTBa | [IpeacraBieHue OIeHOYHOTO
ocC OLIEHOYHOT'O CPEACTBA cpencta B KOC
1 2 3 4
1 ®poHTaNBHBIN ONpocC, CpencTBO  KOHTpOJIA, OpraHM30BaHHOE Kak | Bompocsl o Temam/
Oecena crienanbHas  Oecema  mpemoaaBarens ¢ | pasienam
oOydJaromuMmcs Ha  TEMBI, CBS3aHHBIE C
M3ydyaeMol JUCHUIUIMHOW, pacCUUTaHHOE Ha
BEISICHEGHHE 00beMa 3HaHM OOydYaromerocs: mo
OTIpEACIICHHOMY pa3ziely, TeMe, mpoldliemMe u
T.I. H TO3BOJISIOINIEE JHArHOCTUPOBATh MITyOUHY
3HaAHUH 00yUJaIOIIHUXCS
2 Cosznanue yCTHBIX U [pomxykT CaMOCTOSITETLHON paboter | OOpa3selr yCTHOTO OTBETa
MUCHMEHHBIX oOyyaromierocsi,  NPEACTaBIAIOLIMA  coOol
BBICKA3bIBAaHUH KpaTKO€ M3JI0KEHHE B YCTHOM U IMHCHBMEHHOM
BUJIC MOYYCHHBIX PE3YIbTATOB TEOPETUUECKOTO
aHaJIM3a OTPEACIICHHON Y4eOHOM TEMBbI
3 Opdorpaduyeckuit  u | CpeacTBO MPOBEPKH YMEHHHA TPUMEHSTh TeKCThI AMKTAHTOB
JEKCUYECKUIA JUKTAHT MOJTyYeHHBIE 3HAHUS [T pEIISHUs 33124
OTIPEICIICHHOTO THIIA TI0 TEME WU pa3Jely.
4 CobecenoBanue - BOIIPOCHI U 33JJaHUS JUT TOJTOTOBKH K Bormpocs v 3agaaus mis
co0eceI0BaHuIo, JUTSI TIOATOTOBKH K
-KPUTEPHH U IIIKaJIa OLICHUBAHYSI OTBETA co0eceT0BaHuI0
obydJaromerocs
5 TectupoBanue -()OHJ] TECTOBBIX 3a/IaHUH; doHx TECTOBBIX 3aJaHHM;
- HHCTPYKIUSA JJIs1 00yYarOIINXCs 10 WHCTPYKITUS JUTSE
BBITIOJTHEHUIO; oOyyarontxcs o
- KPUTEPHH U IIKaJIa OIEHUBAHHMS BBITIOJTHEHHUIO.
6 [IpakTudeckas pabora | - KOMIUIGKT 33JJaHUH 110 BApUAHTAM; Kommiekr  3amaHuiéi 1o
- MeToudeckre yKka3aHus 110 BBITIOJIHEHUIO BapHaHTaM
pabor;
--KpUTEPUU U IITIKAJIa OICHUBAHMUS.




Kommiekr KOHTPOJ/IbHO-OLICHOYHBIX CPEACTB
IJISA TEKYHIEro KOHTPOJIA

1o y4eOHoU qucrurinie MHOCTpaHHBIN S3bIK

(HaUMEHOBaHUS TUCIHUIUINHBI)

CocraBurenn /E.H.I'opuikoBa/

(Tonuck)



[MTPMJIOXKEHME 1

IlepeyeHb BonpocoB AJisi GPOHTAIBLHOIO ONPOCA

no Pazngeny 1 «PoJib aHTJIHIICKOTO SI3bIKA JAJIl MOATOTOBKH CHEHUAINCTA»

1o yu4eOHOM JqucUIUIMHE MHOCTpaHHBIN S3BIK

(HaMMEHOBAHHUE JMCIUILIUHBI)

CocraBurenb /E.H.T'opuikoBa/

(moxnuce)
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10.
11.
12.
13.
14.
15.
16.

17.

18.

Kaxk ymotpebnsroTcst onpeieIeHHbIN 1 HeonpeAeIeHHbIN apTukau? [IpuBeauTe npumepsl.

Kak oOpa3yercs MHOXECTBEHHOE YHCIIO UMEH cyllecTBUTENbHBIX? Kakue uckmodeHus Ber
3Haere?

Kak oOpa3yercs  mpuTsKaTenbHBIA — MageX  OAYIIEBICHHBIX UM HEOAYIIEBIECHHBIX
CYIIIECTBUTEIIHHBIX?

Kakue nuunsie Mecroumenus Bei 3Haete? [IpuBeaure npumepsl.

Kak ornnyars TMYHBIE MECTOUMEHUS B 0OBEKTHOM IMaJIeKe OT MPUTSKATEITLHBIX MECTOUMEHU?
Kax 00pa3yroTcst mopsiIKOBbIC YHCIUTEIbHbBIE?

Kakwue crenenu cpaBHeHUs mpuiiararesibHbIX Bel 3Haete? [IpuBenute mpumepsl.

[pocmpsraiite rnaroxn to be Present Indefinite Tense.

[TepeBenute mpennoxkeHus: «5 - Mopsik.», «OH ObUT KanmuTaHOM», «ThI OyAelIb JTOIMAaHOMY U
COCTaBbTE K KaXXJOMYy M3 HUX IO YETHIPE BOIIPOCA Pa3HBIX TUIOB: OOIIMMU, albTEPHATHUBHBIM,
CIICLIMAIBHBIN U pa3/IeUTEIbHBIN.

[pocmpsraiite rnaron «TO HAVE» B Present Indefinite Tense.

Kaxk nepeBoasrcs npemioxenus ¢ ooopotrom « THERE IS /ARE»? [IpuBeaute npumMepsi.
IMpocnpsraiite rimaroa «TO SAIL» B Present indefinite Tense.

Ha kaxue rpymmsl gensrcst Bce riaroisl npu oopasosanuu Past Indefinite Tense?

Korna ynorpe6isitorest Bpemena rpynmnsl CONTINUOUS?

Cpasuute ynorpeodnenue Present Perfect Tense u Past Indefinite Tense?

[lepeBenute npemioxkeHus: «5 ObUT B 3TOM MOPTY», «S1 ObUT B 3TOM HOPTY B HPOILIOM TOIY»,
«Korma Bel 06111 B 3TOM MOPTY?», «S1 OBLIT B 3TOM MOPTY B 3TOM TOIY».

Kakue skBuBanentsl 3ameHstor riaronbl «CAN» u «MUST» B mpomenmem u OymaymieMm
BpemeHax?

B dem paznuuue Mexy JeHCTBUTEIBHBIM U CTPAIaTEIIbHBIM 3aJI0ramMu?



Oopazey omeema

APTHKIIB- TO CITy)KEOHOE CJI0BO, KOTOPOE HE TIEPEBOJUTCA HA PYCCKH s3bIK. CyIIEeCTBYeT /1Ba BUIA
apTUKJIeH: onpenenenuslii (the) u HeonpeaencHuslit (a/an).

A/An yrotpebseTcs nepes CyNIeCTBUTEIbHBIM B €IHHCTBCHHOM 4YHCIIE M 0003HA4YaeT, TO, YTO
CYIIECTBUTENBHOE SBISETCA OJHMM W3 MHOTUX JPYIHX TaKUX € CyIl. (HEOmpereNeHHOE CYII,
HE3HAKOMOE roBopsieMy). A/an ynorpeOisiercst nepea Ha3BaHusIMU npodeccuii. Ecnu cymi. B ex.uncne
HAYMHAETCS Ha TJIACHYI0, TO CTaBUTCS apTUKIIb an, €ClIM CYIl. HAUMHAETCS Ha COINIACHYIO, TO CTaBUTCS
apTUKIb . The ymorpebisercs nepe KOHKPETHBIM CYIIl., B €MHCTBCHHOM M MHO)XECTBEHHOM YHCJIC.
The ynorpebasiercs ¢ cymi., 0003HaYarOIUMHK PEIMET, CIUHUYHBIA B cBoeM poae. Hanpumep: A book,
a person, a table, an apple, an eagle, an elephant, a teacher, an engineer. The old book, the old person,
the round table. The moon, the earth.

VYrotpebienue omnpeaeaeHHoro apTukist the ¢ uMeraMu coOCTBEHHBIMH.

1. Ilepen umeHeM cOOCTBEHHBIM, 0003HaYarOIKM BCio ceMblo: The Browns- cembst BpayHos

2. mepejl Ha3BaHUSMU CTpaH, Ijie ecTh ciioBa State, republic, union: The Russian Federation. Ho: Russia,
England u 1.1

3. Ilepen Ha3zBaHWSIMHU MOpEH, OKEAHOB, PEK, 3AJIMBOB, MPOJIMBOB, KaHAJIOB, TOPHBIX XpeOTOB, TPYIII
octpoBoB: The Atlantic Ocean, The Urals

4. Ilepen Ha3BaHUSIMU CYJOB, I1OE310B, CAMOJIETOB, TOCTHHHMII, My3€€B, ra3erT, xKypHaioB: The Arctica
Hotel, The Times

5. Ilepen naszsanusimu ctopon ceera: The North, the South, the East, the West

ApTUKIIb HE yIOTpebsieTcs (HyIeBOi apTUKIIb):

1. [lepen nmeHamu, haMUITUSIMU, TOPOAAMHU, HA3BAHUSIMHU YIIUII.

2. Ilepen abCcTpakTHBIMH, HEMCUHMCISIEMBIMU CYII. (4yBCTBA, KUIAKOCTH UT.J.), €CIU pedb HE UIET O
KOHKpPETHOM KOJIHYECTBE.

3. Ilepen cyml., 0003HAYAIOIIUMU TUTYJIBI, 3BaHHSL, (POPMY OOpaIICHHUS.

4. Ilepen Ha3BaHUSMHU MECSIIEB, BDEMEH TOfa.

5. Ilepen Ha3BaHUSMU HayK.

6. B HEKOTOPBIX YCTOMYMBBIX BBIPAKEHUSAX C MPEIIIOTOM.

Hanpumep: Helen, Murmansk, Shabalina street, this is important information, Mr. Smith, Sunday, May,
English.

MHnooicecmseennoe 4ucio cyujecmsumenbHulx

Cyl1iecTBUTENbHBIE B @HTJL.513. MOTYT OBITH UCUUCISIEMbIE M HEHUCUUCIISIEMBIE.

CymiecTBUTENbHBIE, KOTOPhIE MOXXHO IMOCYUTATh MOMITY4yHO-UcuucisgeMble. OHU MOTYT OBITh KaK B

CAMHCTBCHHOM, TaK 1 BO MHOXXCCTBCHHOM YHUCJIC.



CymiecTBUTENBHBIE, KOTOPhIE HENb3s TMOCYUTATh MOIMTYYHO-HEUCUUCIIEMbIE. DTO CYIIECTBUTEIbHBIE,
0003HAYaOIINE >KHUJIKOCTH, YyBCTBA W T.0. OTH CYIIECTBUTENIBHBIE YHNOTPEONSIOTCS TOIBKO B
€IMHCTBEHHOM YHCIIE.

Hanpumep news, money, fish, love, friendship u t.1.

1. [y 0Opa3oBaHUs MHOYKECTBEHHOTO YHMCIIA CYIIECTBUTENBHBIX HEOOX0AUMO MMPUOABUTH OKOHYAHUE —
s(es).

2. OxkoHUYaHUE —eS MPUOABISIETCS, €CIH CYIIECTBUTEIHLHOE 3aKaHYMBACTCS HAa —0, HA IIUTISAIINE WA
CBUCTSAIINE 3BYKH (-8, SS, X, sh, ch, tch, g ), Ha —y, ¢ mpenmecTByIomen COrIacCHON, KOTOpast TOMEHSETCS
Ha 1.

3. Byksa f MmensieTcs Ha v, npu npudasieHun —S(es).

4. B ocTasIbHBIX ClTy4asix 100aBsieTcs OKOHYaHue —S.

5. UcknroyeHust B 00pa3oBaHMM MHOKECTBEHHOTO YHCIA!

EnnucTBEeHHOE YHCIIO MHOXECTBEHHOE YHUCIIO MepeBO/I
man men MY>KUUHA
woman women JKEHIIMHA
child children pebeHok
goose geese rych

(0):4 oxen OBIK

foot feet HoTra
tooth teeth 3y0
mouse mice MBILLb

OKOHYAaHUS MH.YHCIIa MOTYT IPOU3HOCUTHCS TpeMsi criocobamu [s], [z],[iz]

1. Ecam cymi.3akaHuMBaeTcsi Ha IJIyXYyH COIVI,TO OKOHYAaHME IPOM3HOCUTHCA INIyXO [s], eciau
CYII.3aKaHYMBAETCS] Ha 3BOHKYIO COIJL.UJIM IJIACHYIO, TO OKOHYAaHHE MPOM3HOCHUTCS 3BOHKO [iz], eciu
CYII.3aKaHYMBAETCS HA IUTISIIANA WU CBUCTAIIUN 3BYK, TO OKOHYaHUE TIPOU3HOCUTCS [1Z].

Hpumﬂofcameﬂbelﬁ naoesxc umen cywecmeumebHblx.

[IpuTsoKkaTenbHBIA  MameX CIYKHT JUII  TOro, 9YTOOBI TIOKa3aTh NPHUHAMICKHOCTH  OJHOTO

CYILIECTBUTEIBLHOTO IPYTrOMY.
Hanpumep: mammna (koro?) moero apyra-My friend’s car.

3ayacTyro HepeBOJl Ha AHIIMACKUN SI3bIK OyAE€T HAUMHATBHCS C OAYIIECTBIEHHOIO CYII., TO €CTh CO

cJ10Ba MO Apyr. Yucino Hajgo onpeaears o ITOMY XKeE CIIOBY.
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Jlist 06pa3oBaHus MPUTSHKATETHHOTO TaIeKa UM.CYIIl. HEOOXO0IUMO MOCTaBUTh anocTpod ( ).
Ecnu cymi. B eIMHCTBEHHOM YHUCIEe, TO anocTpod craBUTCs 10 OYKBHI “S.

Ecnu cymi. Bo MHOKECTBEHHOM YHCJIE, TO alloCTpod CTaBUTCS mocie S’.

Ecmu cym. sBisercs WCKIIOYEHWE TIpM OOpa30BaHWM MHOXKECTBEHHOTO 4YHCIA, TO

MPUTSHKATEILHBINA MaIe)X 00pa3yeTcs Mo IPUHIMITY €JUHCTBEHHOIO YHCA, TO €CTH °S.
Y Yy )

Hcuucnsemwt u Heucuucnsemole cywecmeumesibivle

1.

Hcuncnsemsle CYHECTBUTCIIBHBIC MOT'YT OBITH KaK B CANHCTBEHHOM, TaK 1 BO MHOKCCTBECHHOM
quCJc.
CyH_IGCTBI/ITeJII:HBIG, 0603Haqa10mne KHUJIKOCTH, YYBCTBA W T.[A. —HCHUCYHCIIACMBIC. Ot

CYIICCTBUTCIILHBIC y1'IOTp66J'I$IIOTC$I TOJIBKO B €CIMHCTBCHHOM YHCIJIC.

Hampuwmep: news, money, fish, love, friendship u ..

Mecmoumenus
Jluunsle (MOAIEK.) Their - ux
Kto? Yto?
| -
He - on
She - ona
It - oHO (7151 HEOAYIII.CYIIL.)
YOU - THI, BBI
We - MBI

They — oun

[TputsoxarenpHbIE (C CYIIL.)
Yeit? Unsa? Une?

My -moe

His -ero

Her -ee

Its-ero, ee (AJ1s1 HEOYIIL.CYIIL)
Your —tBoe,Balle

Our - mamre



OOBEKTHEIC MECTOMMEHHUS

(xomy? uemy?)-IOTIOTHCHIE

Me-mue

Him-emy

Her-eii

It- st HeoyI.CyII.
You-tebe, Bam

Us-Ham

Them-um

AoOcomroTHas (hopma IPUTSHKAT.MECTOMMEHHUM (0€3 CYIIEeCTB. )
Mine-moe

His-ero

Hers-ee

Its-u1st Heoy1IL.

Ours-nare

Yours-Baiie, TBOE

Theirs-ux

YkazaTenbHble MECTOMMEHHUS
En.qa. MH.U.

This (310) - these (3TH)
That (To) - those (Te)
BosBparHbeie MecTonMeHHsI(-C51)
Myself

Himself

Herself

Itself

Yourself (yourselves)



Ourselves

Themselves

9.

One
Two
Three
Four
Five
Six
Seven
Eight

Nine

10. Ten

KoanuectBeHunie

11. Eleven

12. Twelve

13. Thirteen

14. Fourteen

12.

Fifteen

13.
14.
15.
16.
17.

30.

Sixteen
Seventeen
Eighteen
Nineteen
Twenty

Thirty

50. Fifty

60. Sixty

70. Seventy

YucrumenvHuvie

80. Eighty

90. Ninety

100. One hundred
200. Two thousand

1,000,000 One million



Second
Third
Fourth
Fifth

Sixth
Seventh
Eighth
Ninth
Tenth
Eleventh
Twelfth
Thirteenth
Fourteenth
Fifteenth
Sixteenth
Seventeenth
Eighteenth
Nineteenth
Twentieth
Thirtieth
Fortieth
Fiftieth
Sixtieth
Seventieth
Eightieth
Ninetieth
One hundredth

One thousandth

Topsokosvie (the)First



One millionth

Jlamuwi
1. I'onga mpou3HOCATCS KOTHMYECTBEHHBIMU YUCIUTENBHBIMU (110 2 TIU(PHI).
2. C 2000 roma MOKHO TPOM3HOCHTH 'O/l HE 110 ABYM Hudpam, a uepe3 cinoBo thousand.
3. JlaTbl MPOM3HOCSTCS MOPSIKOBBIMU YHCITUTEIbHBIMU.

Hanpuwmep:

1989 roza-nineteen eighty-nine

1800 roxa- eighteen hundred

2000 rox- two thousand

2013- two thousand thirteen

28.04-the twenty-eighth of April

ﬂpO6Hbl€ ucjiumeliibHole

1. Ywucaurenn MMPOU3HOCUTCA  KOJIUYCCTBCHHBIM YHUCIIMTCIBbHBIM, a 3HAMCHATCJIb-

MOPAAKOBBIM YHUCIIUTCIBHBIM.

% one half

2/3 two thirds

2 ¥ two and a half

0.2 [ou] point two

1.93 one point nine three (ninety-three)

Cmenenu CPABHEHUA npuiacamelbHblx

Nwms MMpUIAraTCiibHOC-3TO CAMOCTOATCIIbHAA YaCTh pCUU, OTBCHAIOIass Ha BOIIPOC KaKOfI, Kakasd, Kakoc€.

1. CymectByer 3  CTENECHH

CpaBHHUTCIIbHAA 1 IIPEBOCXOaAHAA.

CpaBHCHUA npuiaraTeibHbBIX: IMOJIOKHUTECIIbHAA,

2. CymectByer 3 crnocoba o00pazoBaHusi CTENEeHEW cpaBHEHHS. 1 CcHocoO-mis

OOHOCJIOXKXKHBIX W  HCKOTOPBIX

IBYCIOKHBIX TpPHIAratelbHBIX; 2  CIOCO0 st

MHOTOCJIO’KHBIX TMpUJIaraTelbHbIX; 3 CIOCO0-3TO HUCKIIIOYEHHs. (CJIOBa, KOTOpPHIE HAA0

3ay4YHTh).
[MonoxwurensHas CpaBuurenbHas (-er) THE npeBocxoanast (-est)
1.Warm Warmer The warmest
Hot Hotter The hottest
Dry Drier The driest

2. interesting

More interesting

The most interesting




3. UCKITIOUCHUS

Good-xoporuit Better The best
Bad-mutoxoii Worse The worst
Many/much-muoro | More The most
Far-nanexwii Farther The farthest
Little-manenpkuii | Less The least

IIpasuna nanucanus

1. Ecnmu mpunararenpbHOE 3aKaHUYMBAECTCS HA —Yy, C MPEAIISCTBYIONICH COTTIACHOH, TO —Y
MEHSIETCS Ha 1 IpH npudaBiieHuu cyHPUKCOB.
2. Eciu opHocnoxHOEe mpuiaraTeIbHOE 3aKaHUYMBAaeTCs Ha OJIHY COIJIaCHYIO C
MPEeUIEeCTBYIOIUM KpPAaTKUM IJIACHBIM, TO KOHEYHas COTrjlacHas yJBauWBaeTCs MpH MpuOaBICHUU
cyhduxcos.

Coro3vl, ynompebisiemvle cO CMeneHAMU CPAGHEHUS.
1. than-yem. YnoTpe0isiercsi co CpaBHUTENBHOW CTENCHBIO.
Hanpuwmep. Tis book is more interesting than that book.
2. as...as-TakoM ke KakK. YTOTPeOIeTCs ¢ MOJOKUTETHHON CTETICHBIO.
This film is as interesting as that film.
3. Nnot SO ...as-He Takol Kak. YNOTPeOIsSeTCs C MON0KUTEIBHOM CTETIEHBIO.
This film is not so interesting as that film.

Cmenenu cpagnenus Hapeyutl

1.CymectByer 3 cTeneHU cpaBHEHUSI HAPEUHil: MMONOKHUTENbHAS, CDABHUTEIbHASI U TPEBOCXO THASI.
2. CymectByeT 3 cnocoba oOpa3oBaHUsI CTETEHEW CpaBHEHHs. | CIOCOO- ISl OJHOCIOXKHBIX W
HEKOTOPBIX JBYCIIOXKHBIX Hapeuuid; 2 crmocod mias Hapeuwit ¢ cypduxcom .-ly; 3 cmoco6-3T0
HCKJIFOYCHHUS. (CITOBA, KOTOPHIC HAJIO 3aY4YHTh).
Takum oOpa3om, CTETICHH CpaBHEHUS HApeUHii 0Opa3yrOTCs MO TEM K€ MpaBUJIaM, YTO M CTEICHU

CpaBHCHUA MPUJIAraTCIbHBIX.

IIOJIOXKUTECIIbHAA CpaBHUTCIIbHAA IMPEBOCXOJHAA

hard harder The hardest

early more early/earlier The most early/the earliest
Hckintouenus

Badly-mtoxo Worse Worst

Well-xoporiro Better Best

Much-muoro0 More Most




Little-maio less least

I nazon to be (6vims, Haxooumuvcst)
['maron umeet Tpu GopmbI- am, is, are B HACTOSIIIIEM BpeMeHU, was(were) B TPOIIe/AneM BPeMEHH,
will be B Oynymiem BpemeHHU.
UtoObl onpeenuTh Kakyto (popmy riiaroiia Hafo MOCTaBUTh, CIEAYET MOCMOTPETh Ha MOIIeKaIIee
(MecToMMeHHME WK CyliecTBUTENbHOE). Ecnu moasiexarnee en.4uciia, To yrnorpeodasercs is(was).
Ecnm nmonnexarniee Bo MHOKECTBEHHOM 4ucie, TO ynorpebmsercs are (were). C mectonmeHuem I
ynotpebisercs am (was).
[Ipy mOCTpOCHHH OTPHUIATEIBLHOTO MPEIJIOKEHUS MOOABISETCS YacTHUIA Not, KOTOpas CTaBHTCA
MocJIe TJIaroa.
[Tpu mocTpoeHUN BOMIPOCUTEIHHOTO MPEATIOKESHUS MEHSIETCS MOPSIOK CIIOB: [ J1aroi ctaBuTCs Ha

IIEPBOM MECTE.

Bpewms IToBecTBoBarenpHOE | OTpULIATENBHOE BonpocurensHoe
| am | am Am |
He is He is Is He
HACTOSIIEE She IS She IS Is She
It is It is not Is It
We are We are Are We
You are You are Are You
They are They are Are They
| was | was Was |
MIPOIIEIIIee He was He was Was He
She was She was Was She
It was It was not Was It
We were We were Were We
You were You were Were You
They were They were Were They
Oynmyiee I I I
He He He
She She She
It Will be It Will not be Will It be
We We We
You You You
They They They

Hampumep: | am a seaman. He was a Master. You will be a Captain.

Hacmoswee npocmoe (neonpedenennoe) epems




1. Hacrosimee mpoctoe (HeompeaeneHHOe) BpeMsl yIoTpeOseTcs sl TOBECTBOBaHUS JICHCTBUH,
KOTOPBIE MPOUCXOAAT OCTOSHHO, PETrYJISPHO, IEPHOAMYECKH.

2. [TokazareneM BpeMeHU SABISIOTCA Hapeuns Tuna: usually, always, every day, sometimes u T.11.

3. B moBecTBOBaTEIPHOM NPEMJIOKCHUH K TJarojly Ao00aBiseTcs OKOHYaHHE —S(es), eciu
nojuiexaniee BoipaxkeHo mMecroumeHusmMu HE, SHE, IT wnu cymecTBUTEIbHBIM B €IMHCTBEHHOM
grcne. B octanbHBIX ciiydasx okoHYaHue S(es) He J00aBIseTCs.

4. B orpunarensHOM MpemiokeHuu pobasisercs do not u does not mocie MOANIEKAIIETO
(MecToMMEHHMS WJIM CYIIEeCTBUTENbHOr0). Ecmm mnomnmexamee BbipaxkeHo He, She, It, To
ucrnons3yercs does not.

5. Ilpu o6pa3zoBanuu BompocutenbHOi (Gopmbl ucnonszyercss DO/DOES, xotopblie cTaBsTcs Ha
MEepPBOE MECTO WJIM TIOCJIE€ BOIPOCUTENLHOTO CII0Ba, eciii TakoBoe nmeetcs.(What? When? Where?)

IIpoweowee npocmoe (neonpedenennoe epems)

1. Ilpomeamee npocroe Bpems ymnoTpedisercs A 0003HaueHHs! ACUCTBUI, KOTOpbIE
MIPOU30LLIN B IPOILIOM.

2. TlokazaTensiMu MpOIUIOro BPEMEHU SIBIIIOTCS Takue Hapedws Kak yesterday, last year, last
week, in 2000 year u T.1.

3. Hnsa o0pa3oBaHMs TIOBECTBOBATEIBHOTO MPEAJIOKEHHS B  MPOILICAIIEM BpPEMEHH
He0o0X0IMMO K IIPaBWJIbHOMY IJaroiy 1o0aBUTh OKOHYaHUe —ed, a HempaBHJIbHBIN IJ1aroi
U3MEHUTH Ha 2 GpopMy (2KOJTOHKA TAOIHIIBI HEMTPABUIIBHBIX TJ1aroyioB).

4. Jlng mocTpoeHUs OTPULIATEILHOTO MPEUI0KEHUST HEOOX0IMMO J00aBUTh BCIOMOTaTEeIbHBIN
riaroi did not, a y cMbIcIIOBOTO Ii1arojia yopatb okoHuanue —ed mium 2 opmy MOMEHSTh Ha
l(ucxoanyro) popmy riaroma.

5. Ilpum oOpa3zoBaHMM BOMPOCHUTEIHLHOTO MPEAJIOKEHUS Ha TepBoe Mecto crtaButcs DID,
CMBICIIOBOH TJ1aroj ynorpeOsieTcsi B MICXOJHOH (HavyaiabHOM) hopme.

byoywee npocmoe (neonpedenennoe) epems

1. Bynymiee mpocroe BpeMst yroTpeosercs s 0003HaYeHHs ACUCTBUIA, KOTOPhIE TIPOU30MIYT

B Oymymiem.

2. [Tokazarensimu OyIyIiero BpeMEHH SIBIAIOTCS Hapeuus THIa tomorrow, next year, next week

H T.I.

3. B OyayimeM npocToM BpEeMEHH YIOTPEOIISIeTCsl BCTIOMOTaTeIbHBINA Ti1aros will mis Bcex muig

Y YHCell.
4. B orpuniarensHoM nipenoxkennn K will mo6asmsiercst not=will not (won'’t).

5. B BompocuTensHOM mpeaoxkennn will cTaBuTcst Ha IEpBOE MECTO.



Bpemena epynnot INDEFINITE (SIMPLE):

Hacmosuwee, npoweowee, 6yoywee

BpCMiI IIOBCCTBOBATCIIBHOC OTpI/IHaTeJ'IBHOC BOHpOCHTCJ’IBHOC
Present | | |
(Hacrosiee) YOU YOU YOU
WE love WE do not | Do WE love ?
love
THEY THEY
THEY
HE HE
HE
SHE loves Does SHE love?
SHE does
IT not love IT
IT
| | |
Past YOU YOU YOU
(mpormmemmiee) WE WE WE
THEY loved THEY DID NOT | DID THEY love/go
love/go
HE went (2 HE
) HE
b) SHE
SHE SHE
IT
IT IT
Future | | |
(Oymymuee) YOU YOU YOU
WE WE WE
THEY will love | THEY will not love | Will THEY love
HE SHE SHE
SHE HE HE
IT IT IT

30 camuix pPacnpocmpareriblX HeEnpasUulbHblx 2lladco106

HauanpHnas ¢hopma riaromna

(MHQUHUTHB)

[Ipomeamee BpeMst IlepeBon

(2 dopma)




be
become
begin
break
bring
come

do

drive

eat
10.feel
11.find
12.get
13.give
14.90
15. have
16.keep
17 know
18.leave
19.make
20.meet
21.read
22.say
23.see
24.send
25.sit
26.speak
27 .take
28.think
29.understand

30.write

Was/were
Became
Began
Broke
Brought
Came
Did
Drove
Ate

Felt
Found
Got
Gave
Went
Had
Kept
Knew
Left
Made
Met
Read
Said
Saw
Sent

Sat
Spoke
Took
Thought
Understood

Wrote

beiTh
CTaHOBUTHCS
Hauunats
Jlomatp
[IpunocHuTh
[Tpuxoauth
Jematn
Boauts (Mammuny)
Ecth
YyBcTBOBAaTH
Haxonuts
[Tonyuars
JlaBaThb
XOOUTh

Nmets
XpaHUTh
3HaTh
IToxkunate
Jlenath(M3roTOBIATH)
Bcerpeuats
Yurath
I'oBoputs
Bunets
OtnpaBisTh
Cunerts
PasroBapuBath
bpars

Jymatb
ITonumats

InucaTb

Hacmwzu;ee onumenvHoe 6pemA.




Present Progressive (Continuous)
1. VYnorpebusercss s 0003HAUEHUSI NEHCTBUSA, KOTOPOE IMPOUCXOAUT B MOMEHT pPEUYH H
JUTUTCS KAaKOW-JINOO TIepHO]] BPEMEHH.
2. DTOT MepHoa BpEMEHH MOXKET ObITh BRIPAKCH TAKMMH CIIOBaMH Kak NOW, at this moment u
KOHTEKCTOM.
Hamnpumep: Look! It is raining. Wuu It is raining now.
3. [TocTpoeHrne TNpeAIOKEHUH MPOMCXOAUT TMpPHU TOMOIIM riiarona bDe, KOTopeli He

MEPEBOAMTCS HA PYCCKHIA A3bIK U OKOHYAHUS —INg.

IloBecTBOBaTENbHOE OTpULIATCIILHOC BOITPOCUTCIILHOC
| am + r.ing I am not + ri.ing Am | + riing?
He is + it ing He is not + 1 ing Is he + i ing?
Sheis+rming She is not + i ing Is she + 1 ing?
Itis +rming Itis not+rming Is it + rming?
We are +r ing We are not +ru ing Are we +t1 ing?
You are +ri ing You are not +r ing Are you +rit ing?
They are +rur ing They are not +r ing Are they +ra ing?

[Mpumeuanue: [maronsl, BBIpaXKalIIMe YYyBCTBA M COCTOSHHUS HEe ymnoTpebinstorcs B Present
Continuous.
To love-nmro6uts
To like- HpaBuThCS
To hate- neHaBUICTH
To want-xoteThb
To know-3HaTh
To see-BuaeTh
To hear-cneimars
To believe-seputn

Ipoweowee onumenvroe epems

Past Progressive (Continuous)

1. Ynorpebnsercst st 0003HaUEHUs IEHCTBHS, KOTOPOE MPOUCXOIUIO B MOMEHT PEUYH B MPOILIOM

1 JUTHJIOCH KaKOW-THOO Mepro1 BPEMEHH.



2. DTOT Mepro BpeMEHH MOKET OBITh BBIpaXKCH TaKMMHM ciioBamu Kak Yyesterday at 5 o’clock wm
3aBHCHMBIM IIPEUIOKEHUEM (KOTOPOE MPEPHIBAET IJIaBHOE MpeaIokeHue). B atom ciyuae, rimaBHoe
NPEUIOKEHUE YIIOTPeOIIIeTCs B

Hanmpuwmep: It was raining all day long yesterday. Mnu he was reading when she came into the
room.

3. [TocTpoeHue mpeIoKeHNH TPOUCXOAUT TIPH TIOMOIIM TJaroia be, KOTopblid He IepeBOANUTCS Ha

PYCCKUH SI3bIK U OKOHYAHUs —iNg.

IToBecTBOBaTETBHOE OTpUIATCIIBHOC BOITPOCUTCIIBHOC

| was + ri.ing | was not + r.ing Was | + ri.ing?

He was + i ing He was not + ri ing Was he + it ing?
She was + i ing She was not + ri ing Was she + i ing?
Itwas +raing It was not + rr ing Was it + i ing?
We were +r1 ing We were not +ru ing Were we +r1 ing?
You were +ri ing You were not +r ing Were you +ri1 ing?
They were +ri ing They were not +r ing Were they +ri ing?

[Mpumeuanue: ['maronpl, BBIpaKAIOIIME YYBCTBA U COCTOSHUS HE YIMOTPEOJSIOTCS BO BpeMEHaX
rpynmsl Progressive/Continuous.
Mooanvnvie enazonsi.
1. MopnanbHble T1arojibl- 3T0 0co0asi TpyIia TIarojioB B aHTJIMHCKOM S3bIKE, KOTOpbIE HE
W3MEHSIFOTCS 110 JIULIaM U YHCIIaM.
2. [Tocne MOTaNbHBIX TIarojI0B CMBICIOBOM IJ1aron yrnotpebdisercs 6e3 yacTuisl to.
You must not smoke here.
3. CoxkpaieHHbie (OpMbl MOJITII. ¢ YacTHIIEH NOt.
Cannot=can’t
May not=
Must not=mustn’t
4, [lepeBoa MOJANBHBIX TJ1aroJIOB:
Can- Mory, ymero (B GU3HYECKOM U YMCTBEHHOM CMBICTIE CIIOBA)
May —M03kHO, MOTYy (B CMBICIIE pa3pELICHHs), Yallle B BOIPOCUTEIbHBIX MPEIOKEHUIX.
Must- momkeH, 00s3aH (TpuUKas, 00s13aHHOCTB)

1. [TocTpoeHue npeIoKeHUH.



MOI[aJ'II)HI)Ie TJ1aroJibl CTpOAT BOITPOCUTCIILHBIC n IIOBECTBOBATCIIbHBIC MMPECATOXKECHUA

CaMOCTOATCIIBHO, IMYTECM NEPCCTAHOBKU MOJ.TJI. Ha IICPBOC MECTO U ,Z[O6aB.H€HI/I€M qacTulkl NOt Ha

3 MmecTo.

Hanpuwmep: He can swim. Can he swim? He can’t (cannot) swim.

IToBecTBOBaTENBHOE OtpunarensHoe BonpocurensHoe
I I I
He He Can He
She Can She Can May + She+ rn?
It May + rmaron It May+not+rm. Must It
You must You Must You
They They They
We We
Kpurepun oieHKH yCTHOIO 0OTBeTa
Ouenka Kpurepum ouenkn

OueHka «5» (0TJIHYHO)

OOyuarommiicss BIaJceT 3HAHUSIMU B TOJHOM OOBEME TEMHI,
JO0CTAaTOYHO I‘JIYGOKO OCMBICJIINBACT MaTepI/IaJI; CaMOCTOATCIIbHO, B
JIOTUYECKOW ITOCIIeIOBATeILHOCTH OTBEYAaeT Ha BOIPOC, yMeEeT
YCTaHABIIMBATh MPUYUHHO-CIICJICTBEHHBIC CBSI3H; YETKO (hOPMHUPYET
OTBET

Ouenka «4» (xopoio)

OOyyaromumiicss BiajeeT 3HAHUSAMU 1O TeME IOYTH B IOJTHOM
o0BeMe; CaMOCTOSITENIHHO J1aeT MOJHOLIGHHBIE OTBETHI HA BOIPOC,
HE BCEr/Ia BBIIEISICT HambOosee CYIIECTBEHHOE, HO HE JOIyCKaeT
BMECTE C TEM CEPbE3HBIX ONIMOOK B OTBETE

Ouenka «3»
(Y10BJI€TBOPHUTEIBLHO)

OOyuvaromumiicst BlageeT 00s3aTeIbHBIM 00hEMOM 3HAHUH TI0 TEME;
HO ONEpPUPYET HETOYHBIMHU (POPMYJIUPOBKAMHM; B IPOIECCE OTBETA
JIOMYCKAIOTCS OIIMOKM MO CyIIecTBY Bompoca. OOydaromuiics
CIOCOOCH pelaTh JIMIIL HanOoJiee JISTKUE 3a/1a4H, BIAJACET TOJIbKO
00s13aTeNTbHBIM MUHUMYMOM 3HAHUH.

Ouenka «2»
(Hey10BJIETBOPHUTEJIBHO)

OOyuarommiicss He OCBOMJI 0053aT€TLHOTO0 MHHHUMYMa 3HAHHH 10
TeMe, He CITI0COOEH OTBETUTH HA BOIIPOCHI




[MTPMJIOXKEHUE 2

C03uamle YCTHBIX H MIUCbMEHHBIX BBICKA3bIBAHMI

no Pasgeny 1 «Pojib aHIJIIMHCKOTO SI3bIKA /151 MOATOTOBKHU CHELMAJIMCTA

1o yueOHOM qucuuiuinie MHOCTpaHHBIHN S3bIK

(HaMMEHOBAaHUE AMCLUILTHHBI)

CocraButennb E.H.I'opuikoBa

(monmnuck)



«In a foreign port»

You are a stranger in the town and want to go sightseeing. You may walk or take a bus or a

taxi. You may find yourself in different situation. In some countries (the USA, for instance) you get

on the front of the bus and pay as you get on. There is no conductor. You should have the exact

change as the driver carries no change of tokens. In many countries bus fares depend on the

distance. If you want to do shopping you go to a shopping centre. You can find many small shops

and big department stores there. In the shop windows you can see many goods with the prices on.

So there is no need to drop in at every shop to see what is sold there. Some people prefer

department stores because one can buy many different goods there and save time.

KpnTepml 1 HIKaJa OHCHUBAHUSA YCTHBIX U MUCbMECHHBIX BbICKA3bIBaAHMIA.

Onenka

Kpurepun oueHku

Omauuno

KomMyHuKaTHBHas 337a4a penieHa MOJHOCThI0. BrICKa3pIBaHNE JIOTHYHO,
JEKCHKa  COOTBETCTBYET  IIOCTaBJICHHOW  3a/jade,  HCIOJIB30BaHEI
pasHoOOpa3Hble TpaMMAaTHYECKUE KOHCTPYKIIMM B COOTBETCTBHM C
MOCTaBJICHHOW  3afayeil ©  TpeOoBaHWsIM  OOydYeHHsSI  SI3BIKY,
rpaMMaTU4ecKue OUMOKH OO OTCYTCTBYIOT, JHOO HE MPEMSTCTBYIOT
pelICHHI0 KOMMYHMKAaTHBHOM 3amaun. Opdorpadpuueckue ommoOKu
OTCYTCTBYIOT, COOJIIO/ICHBI ITPAaBUIIA ITYHKTYaIlHH.

Xopowo

KoMmmyHukaTuBHAs 3a/1aya pelieHa MoJHOCThI0. Bhicka3pIiBaHKE JIOTHYHO,
WCIIOIB30BaHbl CPEJCTBA JIOTUYECKON CBs3U. JIeKCHMKa COOTBETCTBYET
MOCTaBJICHHON 3amaue W TpeOoBaHUsM. Ho mMeroTcs HE3HAYUTEIbHBIC
omuOku. Mcnonb30BaHbl pa3HOOOpa3HbIE TPAMMATHYECKUE KOHCTPYKIIUU
B COOTBETCTBHMU C TIOCTaBJICHHOW 3amadeil. ['pammarmdueckue OmMMUOKH
HE3HAYMTENIbHO TPEMATCTBYIOT PEIICHHI0 KOMMYHHKAaTHBHOM 3aJadH.
HesnauutenbHpie opdorpaduueckue OMUOKH, COONIONCHBI TpaBUia
MyHKTYaluu.

Yooenemeopumensvno

KoMMyHuKkaTuBHAsT 3afada pelieHa. BbICKa3bIBaHUE  HEJIOTHUYHO,
HEaJICKBaTHO WCIOJIb30BaHbl CPEACTBA JIOTHUECKOW CBsi3u. MMmerorcs
rpyOble TpaMMaTHYECKHE OMUOKHM U HEe3HAYUTENbHbIe opdorpaduueckue
OIITUOKHU.

HeynoBiieTBOpUTEJIBHO

KoMMmyH#kaTHBHAs 3a7a4a He perieHa. Bricka3piBaHUE HEIOTUYHO,
HEaJIeKBAaTHO MCITOJIb30BAHBI CPEACTBA JIOTUIECKOM CBSI3U, opMaT
BBICKa3bIBaHUS HE cOOIt0IeH. IMEIOTCs rpyOble TpaMMaTHIYCCKHE
OIIIMOKMU.




[MTPMJIOXKEHUE 3

Bonpocs 7151 codecenoBanmsi

no Pa3neny 1 «Pojib aHTJIIMHACKOTO SI3BIKA IJIS1 MOATOTOBKHU CIEIHAJINCTA

Mo y4eOHoM nuciurinHe NHOCTpaHHbIN S3bIK

(HaMMEHOBAaHHUE AMCLUILTHHBI)

CocraBurenb /E.H.T'opuikoBa/

(monmnuck)



Bomnpoce! 115 cobecenoBanust

Do you prefer walking or taking a bus if it’s a short distance?
How do you usually get to your office, port ?

How long does it take you to get there?

What is the bus fare in a foreign country?

How do you pay your fare if there is n conductor on the bus?

Do you prefer to do the town by yourself or to have a conducted tour?

Do you like to take pictures when you’re doing the town?

Have you ever been to any foreign port?

Did you go shopping in a foreign port?

What places of interest did you visit?

Have you ever been lost in a strange town?

How long did you stay in a foreign port?

1. Do you like walking?

2.

3.

4,

5.

6.

7. Do you like to go sightseeing?

8.

9. Do you always listen to the guide?
10.

11.

12.  What impressed you most of all?
13. Did you speak English abroad?
14. Did the foreigners understand you?
15. Did you understand the foreigners?
16.

17. Did you like to go sightseeing?
18.

19. Did you make friends abroad?

20.

21.  Who helped you out?

22.

23.

Are you going to visit foreign countries and foreign ports in future?

KpuTtepuu onieHkHn ycTHOro oTBeTa

Onenka

Kpurepum ouenkn

Ounenka «5» (0TJIMYHO)

OOyyaromuiicst BlIafieeT 3HAHUSAMH B TIONTHOM OOBEME TEMBI,
JIOCTaTOYHO TIYOOKO OCMBICIHUBACT MaTepHall; CaMOCTOSITEIBLHO, B
JIOTUYECKON TIOCIIeIOBATETFHOCTA OTBEYAaeT Ha BOMPOC, yMeEeT
YCTaHABIIMBATh MPUYUHHO-CIICJICTBEHHBIC CBSI3H; YETKO (hOPMHUPYET
OTBET

Ouenka «4» (xopoiio)

OOyuarommiicss BiIafieeT 3HAHUSMH IO TEME IOYTH B IIOJTHOM
0o0BeMe; CaMOCTOSITENTLHO J1aeT TOJHOIICHHBIE OTBETHI HA BOIPOC,
HE BCErJa BBIACIsACT HamOoJiee CYIIECTBEHHOE, HO HE JOIMyCKaeT
BMECTE C TEM CEPbE3HBIX OMIMOOK B OTBETE

Onenka
(Y10BJI€TBOPHUTEIBLHO)

«3»

OOyuaromumiicst BlageeT 00s3aTeIbHBIM 00bEMOM 3HAHUH TI0 TEME;
HO ONEPUPYET HETOUYHBIMHU (POPMYJIUPOBKAMHM; B IPOIECCE OTBETA
JIOMYCKAIOTCS OIIMOKM MO CyIIecTBY Bompoca. OOydaromuiics
CIOCOOCH pelaTh JIMIIL HanOoJiee JISTKUE 3a/1a4H, BJIAJCET TOJIbKO
00s13aTeIbHBIM MUHUMYMOM 3HAHHH.

Onenka

«2»

OOyuaromuiicss He OCBOMJI 0053aT€TLHOTO0 MHHHUMYMa 3HAHHH 110




| (HeY/10BJIETBOPHUTEJIBLHO) \ TEeMe, He CITIOCOOCH OTBETUTH HA BOMTPOCHI




[TPMJIOXKEHUE 4

Opdorpadpuueckuii ¥ JJEeKCUHIECKUH TUKTAHT
no Pa3zneny 1 «Pojib aHTJIMICKOTO SI3bIKA VISl MOATOTOBKH CIEIIHATNCTA)

1o yueOHOM quctuiuinae MHOCTpaHHBIN S3BIK

(HaMMEHOBaHKE MCLUTLIAHBI)

CocraBurenn /E.H.I'opuikoBa/

(moanuce)



Hanuwume Cﬂe()y;ou;ue Cl108A HA AH2TIULICKOM A3blKE, 06pau4aﬂ 6HUMAHUE HA npasonucanue.

OcmarpuBath JOCTOMPUMEUATEIHLHOCTH, CAIUTHCS HA TOE3]l, B aBTOOYC, METPO, TAKCH, MEJIOYb,
ciayva, mpsiMo, BIepEé, KBapTall, MOBEPHYTh, YOI, AeTaTh MEPecaiKy, CXOIUTh, CTOSHKA TaKCH,
OBICTPO, FKCKYpcusl, poTrorpadupoBath, Majo BpeMeHH, HEOOCKPED, MOTydaTh yA0BOJILCTBUE,
YHHBEpMar, BUTPHUHA, TOBAPHI, MPEIIOYHTATS.

Kputepuu omneHku 3a TUKTAHT

Onenka Kpurepun onenkn

Ouenka «5» (oram4uno) | JIMKTaHT BBHIMOJTHEH TMOJHOCTHIO, Oe3 OomMOOK (BO3MOXHA OfHA
HETOYHOCTb, OIMKCKA, HE SIBJISIOMIAACA CJIEICTBUEM HEMOHUMAaHUS
Marepuaa)

Ouenka «4» (xopo1uo) JIUKTaHT BBINOJHEH MOJHOCTHIO, JOMYIIEHA OJlHA Herpybas ommlka
WM J1Ba-TPU HEAOYETA

Onenka «3» B nukrante pomymeHo Gosjee ogHOW rpy0Ooil ommOku wim Oomee
(Y10BJ1€TBOPHUTEJILHO) IBYX-TPEX HEI0YETOB, HO OOydarouuiics BiaAeeT 00sA3aTeIbHBIMU
3HAHHUSAMH T10 ITPOBEPSAEMOI TeMe

Onuenka «2» B nukTaHTe MOKa3aHO MOJIHOE OTCYTCTBHE 0053aTeIbHBIX 3HAHUN
(Hey10BJI€TBOPHUTEIBLHO)




[MTPMJIOXKEHUE 5

Tect mo Pa3neay 1
«Po0Jib aHIVIMICKOTO A3BIKA ISl NOATOTOBKH CHEHUATHCTA

1o y4eOHOM quciurnHe MHOCTpaHHbIN S3bIK

(HaUMEHOBAaHHUE AMCLUILTHHBI)

CocraBurenb /E.H.I'opuikoBa/

(moanuce)



1. He tennis tomorrow.
A. is playing

B. play

C. plays

D. is play

2. out tonight.
A. are you going

B. are you go

C. do you going

D. go you

3. What to the party tonight?
A. are you wearing

B. are you going to wear

C. do you wear

D. you are going to wear

4. | think this cadet
A. passes

B. will pass

C. will be pass

D. will passing

the exam.

5. We ashore on Saturday.
A.we go
B. we’ll go

C. we’re going
D. we will going
« you tomorrow, OK?
phone

phoning

m phoning

6.
A.
B.
C.
D. I’ll phone

7.
A. | watch

B. I’ll watch

C. I’m going to watch

D. I’ll watching

8. It’s a nice day . for a walk?
A. do we go

B. shall we go

C. are we go

D. we go

There’s a good film on TV tonight.

Tect «English Tenses»

it.



Kpurepun ouneHku Tecta

IIponeHT pe3yJbTaTHBHOCTH

OueHka ypoBHSI NOATOTOBKH

(MPaBIIL HEIX OTBETOR) 0aJs1 (oT™MeTKA) BepOaJIbLHBIN aHAJIOT
80 + 100 5 OTJIIMYHO
70+ 79 4 XOPOLIO
60 + 69 3 YAOBIETBOPUTEILHO
Menee 60 2 HEYIOBJIETBOPUTEIHLHO




[MPUJIOKEHUE 6

Tect mo Pazmeny 1
«PoJib aHIVIMIICKOTO A3BIKA ISl MOATOTOBKH CIIEIUATINCTA

1o yueOHoU qucuuruinie MHOCTpaHHBIHN S3bIK

(HaMMEHOBaHUE JUCLUIUINHBI)

CocraBuTteib /E.H.T"'opmikoBa/

(moanuce)



Tect «English Tenses»
Bapuanr 1
1. Can you close the cabin, please?

A. | cold

B. I am cold
C. I have cold
D. I has cold

2. Our captain in politics.

A. Isn’t interested
B. Not interested
C. Doesn’t interested
D. Don’t interest

3. « » «No, he is out»

Is it ship your mate?

Does your mate on the ship?
Is your mate on the ship?
Are your mate on the ship?

COw>

4. « How much ?» «Fifty pence»

Are these postcards
Is these postcards
These postcards
Do these postcards

OCoOw>

5. Look at Dick! his new hat.

A. he wearing

B. he has wearing
C. he is wearing
D. he’s wearing

6. You can turn off the TV. it.

A. |1 am not watch
B. I am not watching
C. | not watching
D. I do not watching

7.« today?» « No, he is at home»

A. Is working Paul?
B. Is work Paul?
C. Is Paul work?
D. Is Paul working?



8. Look! There’s John!

A. Where he is going?

B. Where he go?

C. Where’s he going?

D. Where he going?

9. The Earth round the Sun.

A. going
B. go

C. goes

D. does go
E.isgo

10. Tom lives near us. We him.

A. often see

B. see often

C. often seeing

D. are often seeing

11. We TV very often.

A. not watch

B. does not watch
C. don’t watch

D. don’t watching

12. near here?

A. Do your friends live
B. Are your friends live
C. Does your friends live
D. Do your friends living

13. 1 don’t understand this sentence. What

A. mean this word
B. means this word
C. does mean this word
D. does this word mean

14. Please, be quet.

A. 1 working
B. I work

C I’m working
D. I’'m work

15. Tom a shower every morning.

A. has

B. having
C. is having
D. have

?



1. He tennis tomorrow.

A. is playing

B. play

C. plays

D. is play

2. out tonight.

A. are you going

B. are you go

C. do you going

D. go you

3. I’m going meeting tonight.

A. is start

B. is starting

C. starts

D. start

4. What to the party tonight?

A. are you wearing

B. are you going to wear

C. do you wear

D. you are going to wear

5. I think this cadet the exam.

A. passes

B. will pass

C. will be pass
D. will passing

6. We ashore on Saturday.
A. we go
B. we’ll go

C. we’re going
D. we will going
7.« you tomorrow, OK?

A. | phone

B. I phoning
C. I’m phoning
D. I’ll phone

8. There’s a good film on TV tonight.

A. | watch

B. I’ll watch

C. I’m going to watch

D. I’ll watching

9. It’s a nice day . for a walk?

A. do we go
B. shall we go
C. are we go
D. we go

Tect «English Tenses»

Bapuanr 2

it.



Kpurepun onenkn recra

OueHka ypoBHSI NOATOTOBKH
IIpoueHT pe3yIbTATUBHOCTH

(NPABHILHLIX OTBETOR) 0aJs1 (oT™MeTKA) BepOaIbLHBIN aHAJIOT
80 + 100 5 OTIIUYHO
70+ 79 4 XOPOIIIO
60 + 69 3 VIOBJIETBOPUTEITHHO
Menee 60 2 HEYIOBJIETBOPUTEIHLHO




[TPMJIOKEHUE 7

Co3naHne YCTHBIX U IINCbMEHHBIX BBICKA3bIBaAHMI

no Pazneay 1
«PoJIb aHIJIMIICKOT0 A3BLIKA JJISl MOATOTOBKH CIEIIHAJIHNCTA)

1o y4eOHOM nuciurInHe MHOCTpaHHbIN S3bIK

(HaMMEHOBaHUE JTHUCIUILIUHEI)

CocraBurenb /E.H.I'opuikoBa/

(moanuce)



My profession

Choosing a career and getting a job are the most important things in anyone’s life. As for me I am a

future electrician. 1 am responsible for the electrical equipment. There is always much work to do

for electricians. All electrical equipment sometimes need repairing. That’s why electricians look

after machineries and electrical devices. I try to work hard to be a well-qualified specialist.

KpnTepml 1 HIKaJJa OHCHUBAHUSA YCTHBIX U MUCbMECHHBIX BBICKA3bIBaHUI.

Ounenka

Kpurtepun onenkn

Omauuno

KoMMyH#KaTHBHAS 3a/1a4a pelieHa MOJHOCThIO. BhIcKa3bIBaHUE JIOTHYHO,
JIeKCHKa  COOTBETCTBYET  IIOCTAaBJICHHOM  3ajJadye,  HUCIOJIb30BAHBI
pasHoOOpa3Hble TpaMMAaTHYECKUE KOHCTPYKIIMM B COOTBETCTBHHM C
MIOCTAaBJICHHOW  3afayeil ©  TpeOoBaHWsIM  OOy4YeHHsSI  S3BIKY,
rpaMMaTHYeCKue OMMOKH JIMOO OTCYTCTBYIOT, JTUOO HE TMPENATCTBYIOT
pEelIeHNI0 KOMMYHUKATHBHON 3amgaun. Opdorpaduueckne OMMOKH
OTCYTCTBYIOT, COOJIOJICHBI ITPABHJIA ITYHKTYAIHH.

Xopowo

KoMmMmyHuKaTHBHAs 3a/1aya pelieHa MOJHOCThI0. BbICKa3pIBaHME JIOTHYHO,
HCIIOJIB30BaHbl CPEICTBA JIOTMUYECKOM CBsA3U. JIeKCHMKa COOTBETCTBYET
MOCTaBJIEHHOW 3adaue W TpeOoBaHusM. Ho MMerOTCs He3HAuMTeIbHBIE
omnOku. Vcrnonb30BaHbl pa3HOOOpa3Hble TpaMMaTHYECKUE KOHCTPYKLIUU
B COOTBETCTBHHM C IIOCTaBICHHON 3anmauell. ['pammarndeckue OmIMOKH
HE3HAYUTENIbHO MPEMSTCTBYIOT PEIIEHUI0 KOMMYHUKATHBHOM 3aJlauM.
HesnauutenbHeie opdorpaduueckue OMUOKH, COONIONCHBI TpaBUia
MTyHKTYaluu.

Yooenemeopumensvno

KomMmyHuKkaTuBHAsT 3agada pelieHa. BbICKa3bIBaHUE  HEJIOTHUYHO,
HEaJIeKBaTHO HCITOJIb30BaHbl CPEICTBAa JIOTHYECKOH CBsi3u. Mmerorcs
rpyObIe TpaMMaTHYECKUE ONTUOKUA U HE3HAYUTENIbHBIC Opdorpaduueckue
OIHUOKH.

HeynoBjieTBOpUTEJIHLHO

KoMMyHHMKaTHBHAs 3aja4a He perieHa. Bricka3piBaHUEe HEJIOTHYHO,
HEeaJIeKBATHO MCITOJIb30BAHBI CPEACTBA JIOTHICCKOM CBSI3HU, JopMaT
BBICKA3bIBaHUS HE cOOIt0IeH. IMEIOTCs rpyOble TpaMMaTHYCCKHE
OIIIMOKMU.




[MPUJIOKEHUE 8

Bonpocs 7151 codecenoBanmsi
no Paszmeny 1

«PoJIb aHIJIMHCKOIO A3bIKA AJIF MOATOTOBKHU CIICIHAJIUCTa»

1o yueOHOU qucuuruinHe MHOCTpaHHBIN S3bIK

(HaMMEHOBaHKE JMCLUILIHHBI )

CocraBurenb /E.H.T'opuikoBa/

(momnuck)



N o g b~ w D oE

Bomnpoce! 1151 codbecenoBanust

What is your future profession?

Is the profession of the electrician interesting?
What is the electrician responsible for?

Must he know his duties well?

What are the duties of the electrician?

Are you going to work at sea in future?

Who helped you to choose your future profession?

8. Is it important for the electrician to know English well? Why?

9. Are you going to improve your skills?

10. What must you do to master your future profession?

Kpurepun onieHKH yCTHOIO OTBeTa

Ounenka

Kpurepun onenkn

OueHka «5» (0TJIHYHO)

OOyuarommiicss BIaAceT 3HAHUSIMH B TIIOJHOM OOBEME TEMBI,
JO0CTAaTOYHO I‘JIYGOKO OCMBIC/INBACT MaTepI/IaJI; CaMOCTOATCIIbHO, B
JIOTUYECKOW ITOCJIeIOBATeILHOCTH OTBEYAaeT Ha BOIPOC, yMeEeT
YCTaHaBJII/IBaTB HpI/I‘-II/IHHO-CJIC,Z[CTBeHHBIC CBA3H, YCTKO (bOpMI/IpyeT
OTBET

Onenka «4» (xopoio)

O6y‘-IElIOLLIPIfICSI BJIaACCT 3HaAHUAMHU II0 TEMC IIOYTH B IIOJTHOM
O6’beMe; CaMOCTOATCIIbHO OAC€T IMOJHOUCHHBIC OTBCTHI HAa BOIIPOC,
HC BCCraa BbIACIIACT HauOoJee CYHICCTBCHHOC, HO HC AOIIYCKACT
BMECTC C TEM CCPLE3HBIX OIOOK B OTBETE

OOGyuarommiics BiageeT 00sM3aTebHBIM 00bEMOM 3HAHHUH TI0 TeME;
HO ONEepUPYeT HETOUYHBIMHU (POPMYITUPOBKAMH;, B IMPOIIECCE OTBETA
JOTTYCKAIOTCS OIMMOKM IO CYIIECTBY Borpoca. OOydarommiics
CIOoCcOOCH pelaTh UMb HanboJiee JIETKUE 3a/1a4u, BIAJeeT TOIbKO
00s13aTeTbHBIM MUHUMYMOM 3HAHHH.

Ouenka «3»
(Y10BJI€TBOPUTEJIHHO)
Ouenka «2»

(HeY/10BJIETBOPHUTEJIHLHO)

OOyuaromuiics He OCBOMJI 00s3aTE€IBHOIO0 MHUHMMYyMa 3HAHUU MO
TeMe, He CITI0COOCH OTBETHTH Ha BOITPOCHI




[MPUJIOKEHUE 9

IIpakTuyeckasi padora no Pazmeny 1
«PoJIb aHTVIHIICKOTO SI3bIKA JIJIfl MOATOTOBKH CHEIUAINCTA

110 y4eOHOM JucHUIUIMHE MTHOCTpaHHBIN S3BIK

(HaUMEHOBAaHHUE AMCLUILTHHBI)

CocraBurenb /E.H.T'opmikoBa/

(moanuce)



Bapuanm 1
I. Insert the proper form of the verb.
1. My friend (to live) in Moscow.
2. The cadets (to have) English lessons yesterday.
3. I (to be) a marine engineer next year ship next week.
I1. Put 4 questions to the sentence:
1. The engineer keeps watch in the engine-room.
Insert the proper form of the verb:
2. The sailors wash the deck every day.

Bapuanm 2

I. Insert the proper form of the verb.

1. The cadets (to have) English lessons yesterday.

I1. Put 4 questions to the sentence:

1. The engineer keeps watch in the engine-room.

2. The sailors wash the deck every day.

Kpurepun u mkana oneHUBaHUS MPAKTHYECKOH padoThI

Ouenka Kpumepuu oyenxu

Omauuno [TpaBUIBHOCTH BBIOJHEHUS 3aJaHHsl Ha Ja0OpaTOPHYIO/MPAKTUUECKYIO
paboTy B COOTBETCTBUM C BAapHAHTOM; BBICOKAs CTENECHb YCBOCHHS
TEOPETUYECKOr0 Marepuaga To TeMme JabopaTopHON/MPaKTUYECKOM
pabotel. CrocoOHOCTH IPOAEMOHCTPHPOBATH IIPETIONABATENI0 HABBIKU
paboThl B MHCTPYMEHTAJIILHOW MPOTPAMMHOM Cpefie, a TakKe NMPUMEHUTh
UX K PELICHUIO THITOBBIX 33/1a4, OTJIMYHBIX OT BapHaHTa 3a/aHus. Bricokoe
Ka4eCTBO MOJATOTOBKH OTYETa M0 JabopaTOpHOI/MpakTHUecKoil padore.
[IpaBUIBHOCTD M TIOJHOTa OTBETOB Ha BOMPOCHI IIPENOAABATENs IPH
3aI1UTe PAOOTHI

Xopowo JleMOHCTpHUpYET  JOCTAaTOYHO  BBICOKMH/BBIIIE  CPEAHETO  ypOBEHBb
BBITIOJIHEHUST 33/1aHUsl  Ha J1abOpaTOPHYIO/TIPAKTHUECKYI0 paboTy B
COOTBETCTBUM C BAapUAaHTOM U XOpOIIYI0  CTENEHb YCBOEHUS

TEOPETUYECKOI0 MaTepuaia Mo TeMe JTabopaTopHON/MPaKTUIECKON
pabotsl. Bece TpeboBanMs, MpebsBIsIeMble K pad0Te, BBHITIOJHECHBI.

Yooenemeopumens | JleMOHCTpUpYET  CpeAHUN  ypOBEHb  BBIIIOJHEHMS  3aJaHHAs  Ha
HO 71a00paTOPHYIO/MIPAKTUYECKYI0O paboOTy B COOTBETCTBUM C BapHaHTOM
bonpimmHcTBO Tpe6OBaHHﬁ, MPCABIABISACMBIX K 3aJaHWUIO, BBITIOJIHCHBI.

Heyoosnemeopume | JIeMOHCTpUpYEeT HU3KUN/HU)KE CpPEAHEr0 YPOBEHb 3HAHWUN, YMEHHH,
JIbHO HaBBIKOB B COOTBETCTBUM C KPUTCpUSAMH OLEHUBaHUA. MHorue
TpeOOBaHUs, IPEIbSIBIIEMbIE K 33JJAHNUIO, HE BBITIOTHEHBI.
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Tect mo Pa3zmeny 1
«PoJIb aHTVIMIICKOTO SI3bIKA JJIfl MOATOTOBKHU CHEIUAINCTA)

1o yuyeOHou qucuurinie MHOCTpaHHbIN S3bIK

(HaMMEHOBaHKE JMCLUILIAHBI )

CocraBurenb /E.H.T'opuikoBa/

(moanuce)



Tect «English Tenses»

1. I can’t talk to you now. I’ll talk to you later when___more time.
A. I’ll have

B. I had

C. I have

D. I’m going to have

2. late this evening, don’t wait for me.

A IfI’'m

B. If I’ll be

C. When I’'m

D.When I’ll be

3. I don’t know the answer. If I ___the answer, 1’d tell you.
A. know

B. would know

C. have known

D. knew

4. 1 like this jacked.__ it if it wasn’t so expensive.
A. | buy

B. I’ll buy

C. I bought

D. I’d bought

5. John lives inahouse_ is 100 years old.

A. who

B. that

C. which

D. what

6. The members of the crew __ work on the ship are very friendly.
A. who

B. that

C. which

D. what

7. Did you find the document__ ?

A. who you wanted

B. that you wanted

C. what you wanted

D. you wanted



8. I metacaptain____ can speak six languages.
A. who
B. which
C. must
9. The weather last week
A. is good
B. was good
C. were good
D. good
10. Why late this morning?
A. you was
B. did you
C. was you
D. were you
11. Ted in a bank from 1998 to 2013
A. worked
B. working
C. goes
D. got
12. Mary to the cinema three times last week.
A. go
B. went
C. goes
D. got
13. 1 television yesterday.
A. didn’t watch
B. didn’t watched
C. don’t watched
D. don’t watch
14. «<How ?» « | don’t know. | didn’t see it.»
A. happened the accident
B. did happen the accident
C. does the accident happen
D. did the accident happen
15.What___ at 11.30 yesterday?
A. were you doing

B. was you doing



C. you were doing

D. were you do

16. Jack was reading a book when the phone

A. ringing
B. ringed
C.rang

D. was ringing

17. I saw them this morning. They at the bus stop.

A. waiting
B. waited
C. were waiting

D. was waiting

Kpurepum oueHku tecra

IIpoueHT pe3yJbTATUBHOCTH

OueHka ypoBHSI NOATOTOBKH

(MPABHIILHEIX OTBETOR) 0aJs1 (oT™MeTKA) BepOaILHBIN aHAJIOT
80 + 100 5 OTJIIMYHO
70+ 79 4 XOPOIIO
60 + 69 3 YAOBIETBOPUTEIILHO
MmeHee 60 2 HEYJIOBJIETBOPUTEIIEHO




Kputepun oieHKH yCTHOTO OTBeTa

Onenka

Kpurepum ouenkn

OueHka «5» (0TJIHYHO)

OOyuarommiicss BIaJceT 3HAHUSIMU B TIIOJHOM OOBEME TEMHI,
JO0CTAaTOYHO I‘JIYGOKO OCMBICJIINBACT MaTepI/IaJI; CaMOCTOATCIIbHO, B
JIOTUYECKOW ITOCIIeIOBATEILHOCTH OTBEYAaeT Ha BOIPOC, yMeEeT
YCTaHaBJII/IBaTB HpI/I‘-II/IHHO-CJIe,Z[CTBeHHBIe CBA3HU, YCTKO (bOpMI/IpyeT
OTBET

Ouenka «4» (xopoio)

OOyyaromuiicss BiajeeT 3HAHUSAMU 1O TeME IOYTH B IOJTHOM
o0BeMe; CaMOCTOSITENIbHO J1aeT MOJHOILIEHHBIE OTBETHI HA BOIPOC,
HE BCEr/Ia BBIIEISICT HambOosee CYIIECTBEHHOE, HO HE JOIYyCKaeT
BMECTE C TEM CEPbE3HBIX ONIMOOK B OTBETE

OOyuarommiicst BlageeT 00s3aTeIbHBIM 00hEMOM 3HAHUH TI0 TEME;
HO ONEPUPYET HETOUYHBIMHU (POPMYJIUPOBKAMHM; B IPOIECCE OTBETA
JIOMYCKAIOTCS OIIMOKM MO CYyIIeCTBY Bompoca. OOydaromuiics
CIOCOOCH pelaTh JIMIIL HanOoJiee JISTKUE 3a/1a4H, BJIAJCET TOJIbKO
00s13aTeNTbHBIM MUHUMYMOM 3HAHUH.

Onenka «3»
(Y10BJI€TBOPHUTEIBLHO)
Onenka «2»

(Hey10BJIETBOPHUTEJIBHO)

OOyuarommiicss He OCBOMJI 0053aT€TLHOTO0 MHHHUMYMa 3HAHHH 10
TeMe, He CITI0COOEH OTBETUTh HA BOIIPOCHI
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1o yueOHOM qucuuruinHe MHOCTpaHHBIN S3bIK

(HaMMEHOBaHHE JMCLUILIHAHBI )

CocraBuTteib /E.H.T"'opmikoBa/

(oamnucek)



Bapuanr 1

|.  IIpouumaiime u nepesedume mexcm «Essential parts of a Diesel Engine» na
PYCCKUIl A3bIK.

The diesel engine in its main features is composed of the following parts:
Bedplate (engine frame) and crankcase.

These two parts make a supporting structure to hold the cylinders, crankshaft and
main bearings in firm relation to each other. The crankcase (mostly steel) serves as
oil sump for the forced lubrication system. Cylinders are of cast iron. They are
clamped to the frame by means of long through-bolts which transmit the combustion
pressure in the cylinders direct to the frame without causing tensile stresses. The
cylinders are provided with large removable inspection doors through which the
cooling water spaces may be inspected and cleaned. Cylinder covers (heads) close
the top end of the cylinders.

Cylinder liners.

The liner is a comparatively thin cylinder, flanged at the upper end and slightly
thickened at its lower end in the way of the packing grooves. The bore is carefully
finished to ensure perfect roundness and uniform diameter. The finish is given by
boring, grinding or reaming, but of these three methods the first is most generally
used. For high grade work it is general practice to finish the interior surfaces of diesel
engine liners by grinding, followed by honing. The outside surface of the liner is
rough turned. Owing to the fact that the maximum pressure, occurs at the top of the
liner and the minimum at the lower end of the stroke the thickness usually tapers
toward the bottom to about one-half that at the top. In the 4-cycle liners it is
frequently necessary to make recess at the top to provide clearance for the inlet and
exhaust valves, which can be placed close enough together in the head to clear the
liner. The holes for admission of the lubricating oil are placed at the height that will
coin-side with the second piston ring from the top when the piston is at the end of the

down stroke.

Piston and piston rings.



The piston is made of steel, cast iron or special alloy which is highly resistant to heat
stresses. The piston has a long life. According to size, the piston is provided with
piston rings to produce compression and scraper rings to prevent lubricating oil from
penetrating into the combustion chamber, where it would burn and deposit coke. The
correct function of the scraper rings contributes to the low lubricating oil

consumption.
Connecting rods.

The connecting rod is made of steel. The connecting rod connects the piston to the
crank on the crankshaft. It transmits force in either direction from the piston to the
crank on the crankshaft. The crankshaft is made of forged steel. It has bored ducts
conveying the forced lubrication oil to all bearings. Valves serve to admit the air and
to discharge the spent or exhaust gases. The camshaft is of steel and is driven from
the crankshaft through gear wheels. The bearings are roller and ball bearings. The
cams are of case hardened steel. The camshaft drives the fuel pumps, one for each
cylinder. The flywheel is a heavy wheel fastened to the crankshaft. Its purpose is to
keep the engine running smoothly from the time of one power stroke to the next
power stroke. Large-size diesels are often double acting. Then there is included with

the above a crosshead and a piston rod.
I1. Read and translate words and word-expressions.

Main features, supporting structure, engine frame, in firm relations to each other, to
serve as forced lubrication system, cast iron, hardened steel, combustion pressure,
without causing, tensile stress, removable inspection doors, cooling water spaces,
thin cylinder, flanged at the upper end, in the way of the packing grooves, perfect
roundness, is most generally used, high grade work, it is general practice, is rough
turned, to be highly resistant, a long life, according to, in either direction, to convey,
gear wheels, forged steel, heavy wheel, to keep running, is including with the above,
following parts, its purpose.

I11. Translate the following Russian word combinations into English.



CocrosTe w3, GyHAAMEHTHasi pama, yAEep>KHWBaTh, PAMOBBIM MOIIIUITHUK, KapTep,
clenaH W3, MPU TIOMOIIH, COCIUHSATh, MOXHO OCMOTPETh W TOYUCTHTH, KPHIIIKA
IIWIMHIpPA, CBEPXY, CPABHUTEIBHO TOHKHM, YTOJINATh, HWKHSS (BEpXHsS) 4YacCTh,
THIATENBHO O0OpabaTeiBaTh, CO- BepmieHHas ¢opMa, pacTouka, UUIH(OBKA,
MIOPIITHEBBIE KOJIbIIA, OCOOBII CIUIaB, KaMepa CrOpaHusl, TOPETh, KOKCOBATHCS, MAJIbINA
pacxop (TOmuiMBa, BOJBI), COCIWHUTH C KPUBOIIUIIOM, TIEpe- N1aBaTh, OTBEPCTHS,
OTpabOTaHHBIC Ta3bl, TPUBOAWUTHCSI OT, IIECTEPHU, IO OJHOMY Ha KaXKIbIi,

KpyIHOTa0apUTHBINA, KPEHITKOTI].

IV. Finish the sentences.

1. The diesel engine is composed of ...
2. This supporting structure hold ...

3. The crankcase serves as ...

4. Cylinders are clamped to ...

5. The lineris ...

6. The piston is provided ...

7. The connecting rod connects ...

8. Valves serveto ...

9. The flywheel purpose isto ...

V. Give synonyms to the following words.

To consist of, following, to keep, to fasten, to convert, to transfer, to be equipped

with, to examine, inner surface, high quality, to make, to join, operation.
VI. Give antonyms.

To connect, short, close, top end, cooling, thin, rough, high grade, inside,

compression, to prevent, power, to admit, heavy, small-size, double-acting.

VII. Put the proper English equivalents instead of Russian words.



1. The diesel engine (coctour) of the following parts: engine frame and crankcase.
2. The crankcase (caenan) steel.

3. Cylinders are clamped to the frame (ipu momor aHKEPHBIX OOITOB).

4. (Kpwimrku mmummmHIpa) close the (Bepxntoro wacts) of the cylinders.

5. (Bryxnka) is a comperatively thin cylinder.

6. (Buyrpennee orBepcerue) is carefully finished (uto6sr o0ecnieunts) perfect

roundness and uniform diameter.
7. (O6padoTka) is giving by boring grinding or reaming.
8. (Cornacuo pa3mepy) the piston (cuadxen) compression rings and scraper rings.

9. The correct function of the scraper rings (croco6ctByer) to the low lubricating oil

(pacxon).

10. The connecting rod (coemunsert) the piston to the crank on the crankshaft.
VI1I1. Answer the questions.

1. What are the essential parts of a diesel engine?

2. What do a bedplate and a crankcase make and why?

3. How are cylinders clamped to the frame and what are they provided with?
4. What is a cylinder liner?

5. What is fitted in the cylinder head?

6. What rings does a piston have and what are their functions?

7. What is a piston made of?

8. What is the function of a connecting rod?

9. What valves are there in the cylinder cover?

10. What do valves serve for?



11. What are the functions of the camshaft and crankshaft?
12. What material is used to make the engine parts?

IX. Tell about engine parts and their functions.



Bapuanr 2

|. Ilpouumaiime u nepeseoume mexcm «Major Running Parts» na pycckuii
A3bIK.
Diesel engine major parts are: crankshaft, connecting rod, crosshead, piston rod,
piston. Marine Diesel engine crankshafts are usually made of open hearth steel. For
large engines it is customary to build up the crankshafts, each pair of webs with its
crank pin being forged solid and the web forgings bored and shrunk on the shaft.
Standard type of connecting rod has a flanged out rectangular foot which rests on the
top crank pin box and to which the box is bolted. It tapers slightly towards the top
end and is there forked cut to form a support for the crosshead pin boxes. The rod is
drilled through its length to afford a passage for lubricating oil. The marine type
crosshead is a forged steel block with wrist pins projecting from the fore and aft
sides. The block is bored to receive the end of the piston and the cast steel slipper is
secured to the block by through bolts or studs. The piston rod may be solid but in
some cases hollow rods are used as a means of getting cooling water or lube oil into
and out of the piston. The upper end is formed into a flange for bolting to the upper
side of the piston. Pistons in general may be divided into trunk and crosshead types.
A typical trunk piston length is slightly more than twice its diameter. The reason is
that the piston is required to perform two major functions: to form a gas-tight and
movable cylinder end and to transmit side thrust to the stationary part of the engine
structure. For the 2-cycle, crosshead type engine the piston is usually made in two
parts: the prison proper and the skirt. The use of a long skirt on the piston is
necessary to keep the exhaust and scavenging ports closed when the piston is in the
upper part of the cylinder. Pistons are cooled by oil or water and for this purpose the
upper part of the prison is made in the form of a closed box. In the case of oil cooling
the lubricating oil is used. If water cooling is used or if the piston cooling oil is kept
separate from the bearing oil, the cooling fluid is led into the piston through a

telescopic or knuckle jointed pipe.

I1. Translate English word-combinations into Russian.



Running parts, connecting rod, piston rod, open heart steel, crank pin, rectangular

foot, crank

pin box, crosshead pin box, forged steel block, wrist pin, trunk piston, gas-tight

piston skirt.

I11. Supply prepositions or conjunctions.

1. Diesel engine crankshafts are usually made ... open hearth steel.

2. The web forgings are bored and shrunk ... the shaft.

3. The connecting rod is forked ... to form a support for the crosshead pin box.
4. Wrist pins project ... the fore and aft sides of the crosshead.

5. Hollow rods are used ... a means ... getting cooling water ... and ... of the piston.

6. Pistons are cooled... oil or water.

IV. Give English equivalents to the Russian words.

1. Crank pin boxes (nenaroT u3 4yryHa).

2. The rod (mpocBepJieH 1o Bcel IJIUHE).

3. The lower end of the rod (0bu1 ymMeHbIIIEH B TUaMeTpe).
4. Connecting rod (BrikooOpa3Hblii).

5. The piston skirt (ucrone3yercs) to keep the ports closed.
6. The drilled rod is used (o6ecrrieunts nmpoxoxn) for lubricating oil.
V. Answer these questions:

1. What are the major running parts of a Diesel engine?

2. What material are crankshafts usually made of?

3. What can you say about crank webs?

4. What kind of foot does a standard type connecting rod have and where does it rest?



5. For what purpose is the rod drilled through its length?

6. Where do the crosshead wrist pins project from?

7. What types of piston rods are used in marine practice?
8. What are the major functions performed by the piston?
9. Why is the use of a skirt on the piston necessary?

10. What is the piston cooled by?



Bapmuanr 3

|. IIpouumaiime u nepesedume mexcm «\alvesy na pycckuii azvix.

There are several arrangements to provide gas distribution phases in marine Diesel
engines: the exhaust valve, the fuel valve, the camshaft, the starting valve. They
ensure starting and reversing the engine, normal ahead and astern engine operation.
The exhaust valve housing is made of close-grained cast iron, water-cooled and
fastened to the cylinder cover by heavy studs. The gas passage is formed to give the
least possible resistance to the escaping exhaust gases. The exhaust valve and steam
are forged in one piece of highly alloyed heat-resistant steel. The starting valve is
amply dimensioned to give a quick start under all conditions and is air-operated
through pilot valves, the air acting on a bronze piston fastened to the outer end of the
valve stem. The fuel valve has a sprint stem and is opened automatically by the oil
pressure from the fuel pump. The housing is of steel, and the stems and liners are of
alloyed steel heat treated to a very high hardness. The atomizers are fuel oil-cooled
which, in combination with the very small amount of oil enclosed between valve seat
and atomizer holes and the rapid closing of the valve seat and atomizer holes and the
rapid closing of the valve, prevents formation of coke at the atomizer holes, and thus
ensures faultless combination at all times, even with fuels tending to coke formation.
The camshaft, which is driven from the crankshaft by means of a roller chain, is
placed in an oil-tight housing and is supported in pressure lubricated white metal-
lined bearings. The exhaust valves are actuated by hardened cams, the motion being
transmitted through hardened rollers in cylindrical guides’ pushrods and rocking
levers. The starting air pilot valves are actuated from cams on a separate shaft which,
by means of the reversing handle, is brought in the desired position for ahead or

astern running.

I1. Give English equivalents to the following Russian words and word-
combinations.

ObecnieunBaTh; KOPITyC CAEIAH U3; BHIKOBAH U3 LIEJIOT0 KyCKa; )KapOMPOYHBIi; pu
BCCX YCIOBHIX; BHCEIIHUM KOHCII, IIPCIIATCTBOBATH 06p8,30BaHI/IIO Harapa, moMeiaThb,

FCpMeTI/I‘{HLIfI; IOAIMIHNITHHUKH O6JII/IHOB3.HHBI€ OCTIBIM MCTAJIJIOM; KYJIAa4YOK;



MepeIaBaTh; KOPOMBICIIO; OTAEIBHBIN Ball; PyKOsITKa peBepca; He00X0IMMOe
ITOJIOKCHUEC, OJIA pa6OTI>I BIICpEO U HA3al.
I11. Answer these questions:

. What arrangements provide gas distribution in marine Diesel engines?

. What do gas distribution arrangements ensure?

. What is exhaust valve housing made of and where is it fastened to?

. What can you say about starting valve?

1

2

3

4

5. How is the fuel valve opened?
6. What do you know about atomizer?

7. How is the exhaust valve actuated?

8. Where is the camshaft placed?

9. What does the reversing handle do?

IV. Translate into English, using Passive Constructions.

1. Kopmyc BBIXJIONHOTO KiamaHa ObUT CAENaH W3 MEJIKO3EPHUCTOrO0 YyryHa H
OXJIXKIAETCS BOJOM.

2. BbIIMyCKHOM KJlaraH BEIKOBAH U3 BBICOKO JIETUPOBAHHOM KapOIPOUYHOM CTaJIH.

3. TonnuBHBIN KianaH OyA€T OTKPHIBATHCS aBTOMATUYECKHU.

4. PaCHpC,Z[BaJI IMPUBOAUTCA OT KOJICHYATOI'O Baja.

5. JIBmKeHue nepenaercs nocpeiCTBOM POJIMKOB, TOJKATENEH U KOPOMBICEI.

V. Ask as many questions to the text, as possible.



Bapuant 4

|. TIpouuraiite u nepeBeaute TekcT « T he Four — Cycle Diesel Engine» na
PYCCKUU A3BIK.

Any internal combustion engine has a four — stroke cycle or a two — stroke cycle,
according to whether it receives a working impulse on the piston every other
revolution or every revolution. These two terms are commonly abbreviated to 4 —
cycle and 2 — cycle, and engines of either type may be single acting or double acting.
In the four — stroke cycle, or, as it is commonly called, the four — cycle engine, four
strokes of the piston, or two revolutions of the shaft, are required to complete the
cycle. As the piston moves down on its suction or intake stroke, a charge of pure air
containing the necessary oxygen for combustion is drawn in through the inlet valve
in the cylinder head. The inlet valve was opened mechanically by a cam at the end of
the previous upward stroke. After the piston has completed the suction stroke, the
inlet valve closes, and the piston starts on an upward stroke, called compression
stroke, compressing the charge of pure air into the inlet valve closes, and the piston
starts on an upward stroke, called compression stroke, compressing the charge of
pure air into the clearance volume to a pressure of between 350 and 450 Ib. per sg. in.
About the time that the piston reaches the end of its upward stroke, the fuel injection
valve opens for a short period, and finely atomized fuel oil is sprayed in the
combustion space under high, pressure. Because of the heat compression, the fuel oil
Is ignited and burns generating heat. The piston has now started downward on its
third stroke, and the hot gases generated by the combustion of the oil expand and
force the piston downward on its working or power stroke. Near the end of the
working stroke the exhaust valve in the cylinder head opens, part of the gases escape,
and the pressure in the cylinder drops approximately to the atmospheric. The piston
now starts up on its exhaust stroke, and all the products of combustion except those
contained in the clearance volume are forced out through the open exhaust valve. The
exhaust valve now closes, and the cycle is repeated.

I1. Translate into Russian.



According to; whether it receives a working impulse; every other revolution; engines
of either type; as it is commonly called; single acting engine; a charge of pure air;
containing oxygen for combustion; previous stroke; about the time; open for a short
period; because of; generating heat; generated by the combustion of the oil; to force
the piston down; approximately to the atmospheric; except those contained in; are
forced out through the valve.

I11. Find English equivalent to the following Russian words and word -
combinations.

4 — (2-X) TaKTHBIA JBHTaTeNb, KaXJIbI OOOPOT KOJEHYATOTO Bajia, TAaKThl —
BCaCbhIBaHUs, CXKATHUA, TOPCHUA W paCHIMPCHHA, BBIXJIOI, XO4 IMOPIIHA BBCPX (BHI/IB),
JaBJICHUC W TEMIICpaTypa, IaaarTb, aTMOC(i)CpHOC JaBJICHUC, KaMeEpa CropaHmus:,
BIIPBICKUBATHCS, (POPCYHKA, IIUKI MMOBTOPSAETCS, MPOIYKTHl CTOPAHUsI, BHITAIIKUBATh
yepe3 OTKPBIThIM BBINYCKHOM KJIAllaH, 3aCAaChIBACTCS YE€PE3 OTKPBITHIA BIYCKHOU
KJIaIlaH.

IV. Translate the following sentences into Russian, paying attention to the
Participle I and I1.

1. The amount of clearance applied by the various engine builders varies
considerably.

2. There are engines operating on the two — cycle, principle and having cylinders
arranged radially.

3. A pound of any kind of fuel used in engines contains a definite amount of heat.

4. Considering one cylinder the pressure of the exhaust at the exhaust valve will vary
considerably, falling to 2-3 Ibs and rising to 4-7 lbs.

5. The power transmitted is automatically monitored and controlled through engine
fuel control block.

6. Fuel oil is sprayed into the cylinder by means of the pressure produced by the fuel
—injection pump.

7. The 10 cylinder poppet — valve engine tested a month ago will be installed in the
tanker being built at S. shipyard.

V. Form the degrees of comparison.

High, low, wide, good, little, efficient, suitable, bad, long, short, narrow, convenient.



V1. Complete sentences according to the content of the text.
. Two revolutions of the shaft are required ...
. A charge of pure air isdraw in ...
. The piston starts on an upward stroke ...

. The piston compresses the charge ...

1
2
3
4
5. At the end of compression stroke ...
6. Finally atomized fuel oil is sprayed ...

7. The fuel is ignited ...

8. The exhaust valve in the cylinder head ...

9. All the products of combustion ...

VII. Change sentences from Active voice into Passive, pay attention to tenses of the
predicate.

1. Fresh air fills the cylinder.

2. Piston pushed the exhaust gases out.

3. They placed the exhaust valve in the centre of the cylinder head.

4. Fuel injection pump will spray the fuel oil.

5. The cam opens the inlet valve.

6. Piston compresses a charge of air to about 480 pounds.

7. Compression rose the air temperature to about 1,000 degrees F.

VI1I1. Answer the following questions:

1. How many strokes of the piston are necessary to complete the cycle in the 4 —
cycle engine?

2. Name the four strokes of the piston.

3. What valves must be closed during compression stroke? Why?

4. What is the action of the expanded gas?

5. Tell about the pressure and temperature during compression.

6. What takes place when the exhaust valve opens?

7. What happens after the exhaust valve closes?
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l. Ilpouumaiime u nepeseoume mexcm «The Two — Cycle Engine» na
PYCCKUl A3bIK.

In a two — stroke cycle compression occurs on the first or upstroke; combustion and
expansion occur during the downstroke; exhaust, scavenging and recharging with air
occur during the latter part of the downstroke and the beginning of the next
succeeding upstroke. This sequence of events is made possible by substituting ports
in the bottom of the cylinder wall for one or more exhaust valves. There are two
groups of these ports, one for the exhaust and the other for scavenging air, usually on
opposite sides of the cylinder, but in some designs both groups are arranged on the
same side. The exhaust ports connect with the exhaust manifold, while the
scavenging ports communicate with the scavenging air receiver. The exhaust ports
are slightly higher than the scavenging ports, so that they are uncovered by the piston
while the scavenging ports are still closed. This is necessary because the cylinder gas
Is at a pressure of about 40 Ib. per sg, in when exhaust begins, and, if the scavenging
ports were open, the exhaust gas would blow into the scavenging air receiver. During
the short time before the piston uncovers the scavenging ports, the gas pressure falls
to atmosphere with the result that when the scavenging ports are uncovered,
scavenging air rushes into the cylinder and blows the reminder of the burned gas out.
The scavenging ports are inclined up-ward to direct the air toward the top of the
cylinder and usually are positioned tangentially to give the air whirling motion. This
arrangement has the disadvantage that on the return stroke the piston covers the
scavenging ports while the exhaust ports are still partislly open, so that when
compression begins the air pressure in the cylinders is about the same as that in the
exhaust manifold. For this reason some engine designs include valve - controlled
scavenging ports. A two — cycle engine must be provided with a scavenging
compressor for supplying scavenging air.

Il. Translate into Russian.

Compression occurs, upstroke (downstroke) of the piston, during the latter part of the

downstroke, to be made possible by substituting opposite sides of the cylinder, in



some designs, on the same side, low pressure scavenging air receiver, to be slightly
higher, to be uncovered by the piston, to be still closed, with the result that, to be
inclined upward, to direct, to be positioned tangentially, to be partially open (closed),
valve-controlled scavenging ports, no exhaust gas can flow out, however, pressure-
controlled valve, to drop below that in the receiver, mean effective pressure.

I11. Give antonyms to the following words.

Upstroke, inlet, to disconnect, bottom, to cover, to blow in, advantage, partially,
below, to increase, usual, high, necessary, fall, before, short.

IV. Translate the sentences into Russian paying attention to the Conditional
clauses.

1. If the piston is water cooled, the cooling fluid is led into the piston through the
telescopic pipe and flow out through a similar pipe that discharges into the cooler.

2. If the allowed over speed was exceeded, the force would be sufficient to lift the
suction valves off their seats.

3. If the scavenging ports were open, the exhaust gas would blow into the scavenging
air receiver.

4. If the gasket is placed on the cage, it will fall off and if placed on the seat at the
bottom of the housing, it would be pinched between the edges of seat and cage.

5. If cooling water supply was insufficient, the engine would be overheated.

6. If the engine is large, the crankshaft will be built up.

V. Supply the words given below into the following sentences.

1. There are ... instead of inlet valves.

2. In a two-stroke engine ... occurs on the first stroke, upstroke.

3. The exhaust ports are connected with ...

4. Scavenging ports are in communication with ...

5. The cylinder is ... air at a pressure slightly above atmospheric.

6. ... are inclined upward ... the air toward ...

7. Scavenging ports are positioned ... to give the air ...

Scavenging ports, whirling motion, exhaust manifold, low-pressure compressor, to
fill, tangentially, to direct, the top of the cylinder.

V1. Answer the following questions.



1.

What is there instead of an exhaust valve in the 2-cycle single-acting Diesel

engine?

2. Where are the exhaust ports located?

3. What is there in place of air inlet valves?

4. What parts of the engine are the scavenging ports in communication with?
5.
6
7
8
9

How is the low pressure scavenging air compressor driven?

. Where do the scavenging ports open?
. What pressure does the air flow into the cylinder at?
. Where is the cylinder full of fresh air?

. When does fuel injection occur?

10. How many revolutions are necessary to complete a cycle in a 2-cycle engine?
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l. Read and translate the text “Fuel Injection System” into Russian.
In an internal combustion engine the combustion process is rather complicated. All
such engines operate with intermittent combustion. A charge of fuel is mixed with
the air and ignited in the engine cylinder. For introducing the fuel charge into the
cylinder if a Diesel engine fuel injection system is in general use. Each cylinder has
its own fuel injection pump connected directly through piping to the spray nozzle of
the individual engine cylinder. In this system oil is drawn into the individual pump
through the suction valve. When the nose of the fuel cam strikes the lower end of the
pump plunger, the oil in the pump barrel is forced out through the discharge valve.
The pipeline is kept filled with oil, so when a new charge if oil enters the piping from
the fuel pump, an equal amount is pushed out of the pipe into the spray valve
mounted in the cylinder head. This oil acts upon the surface created by the design of
the spray valve needle. The oil then issues through openings into the engine cylinder.
The amount of oil the pump delivers to the engine is controlled by the governor — the
particular type of control depends upon the pump design. On some, the pump stroke
Is varied to control the oil charge, on others a bypass valve allows part of the oil to
flow back into the pump suction line.
The spray valve may have a spring — loaded differential needle which is lifted by the
oil pressure as soon as the pump starts its delivery stroke. The fuel valve may also
contain only a light check valve to prevent the cylinder gases passing through the
valve, this is called an open nozzle.
I1. Find English equivalents to Russian words and word-combinations.
Cucrema BIIPBICKa TOILIMBA, IIPOHCCC CMCIICHUA, CHO)I(HLIﬁ; 3apAan, HpCpBIBPICTBIfI;
CMCIINBATHCA, O6bI‘-IHO HCIIOJIB30BaThCA, CBOH CO6CTBCHHLII>1; TOIIJIMBHO-
BHpBICKI/IBa}OHII/Iﬁ HacCocC, Q)OpCYHKa; COIJIO, TOIJIMBHBIN KYJIa4OK; HMXHAA 4YaCThb,
IIIYHIKCP; HarHeTaTelIbHbIN KJlaIllaH; BBITAJIKNBATh.
[11. Form nouns from the verbs.
a) to inject; to expand; to complicate; to vary; to create; to introduce; to introduce; to

connect; to reduce; to ignite.



b) to form; to charge; to issue; to control; to flow; to load; to start; to pass; to pump;
to force; to use.

¢) Compose sentences using both verbs and nouns.

IV. Ask questions to the following sentences.

1. Combustion continues until the entire fuel charge has been burned.

2. Each cylinder has its own high pressure fuel pump connected to the spray nozzle.
3. Small-bore, high-speed engines require highly developed combustion chamber to
prepare the fuel charge.

4. Atomization and spreading of the fuel depend on the shape of the combustion
space.

V. Translate into English using the text.

1. KoHCTpYKTOPBI CO3/1aJId MHOKECTBO CUCTEM BIIPHICKA.

2. CyHICCTBy}OT 2 OCHOBHBIX CHCTEMEI [moga4n TOIUNIMBHOTO 3apAada B HHIUHIAP
AN3CIBbHOTO ABUT'AaTCIIA.

3. 3apsia TOIIMBA CMEIIMBAETCS C BO3yXOM U BOCILUIAMEHSIETCS B IIUIUHIPE
ABUTATCIIA.

4. Bce neurarenu ([IBC) paGoTaet ¢ mpepbhIBUCTHIM CTOPAHUEM TOILIMBA.

5. TomuBo IMOCTYIIacT B I/IHI[I/IBI/IIlyaJ'II)HHﬁ HAaCOoC 4cpe3 BC&CLIB&IOIHI/Iﬁ KJIaIlaH.

V1. Answer the questions to the text.

1. What are the basic systems of introducing the fuel charge into the cylinder?

2. How long does combustion continue?

3. What can you tell about the time of introduction the fuel.

4. What is the amount of oil controlled by?

5. What can the spray valve have?



Bapuant /
I. Read and translate the text «Types of Diesel Engines». Check your
comprehension by answering the questions.
Two-cycle and four-cycle diesel engines may be divided, according to structural
arrangement, as follows: trunk-piston type, crosshead type, single-acting, double-
acting, opposed-piston.
Trunk-piston and Crosshead Types
In the trunk-piston type the piston is attached to the crank by means of a connecting
rod. Connection of the upper end of the rod to the piston is made by means of the
piston pin, while the lower end is attached to the crankpin by means of a bearing
known as the crankpin box. The horizontal component of the downward thrust of the
piston, when it drives the crank, is taken by the piston and results in a side pressure
against the wall of the cylinder. To provide adequate bearing so that this side
pressure will have a low unit value, the piston is provided with an extended skirt, or
trunk, from which this method of construction gets its name. This construction has
the advantages that it reduces engine height and is cheaper than crosshead
construction. It is universally used for small engines and in some cases for engines of
quite large power. The crosshead type is usually confined to large engines. The
piston is connected to the crosshead by a piston rod and the crosshead is in turn
connected to the crankpin by a connecting rod. This construction has the advantage
of relieving the piston and cylinder wall of side thrust and in the four-cycle engine
permits to use a short piston. In the case of a two-cycle engine the extended piston
skirt is still required in order to keep the exhaust and scavenging ports closed during
the upstroke of the piston. This construction is penalized by the extra height required
to make room for the crosshead and piston rod.
I1. Answer the questions:
1. How is the piston attached to the upper and lower ends of the connecting rod in the
trunk-piston engine?
2. What advantages does this engine have?
3. What advantage does the crosshead type engine have?

1. Ilepeseoume npeonorcenun na anenuiickuil A3viK:



1. B xononHyto moroay ABUraTens nepes] MyCKoM CIIeIyeT IPOrpeTh.

2. Ilocne mycka nBUTaTenist €ro paboOTy MPOBEPSIOT MO MOKA3aTeNsIM KOHTPOJIBHO-
MU3MEPUTENBHBIX TPUOOPOB.

3. Oco0oe BHUMaHHE CIIETyeT 0OpaTUTh HAa PaOOTYy CUCTEM CMa3KU M OXJIAXKICHUS:

4. Ilepen myckoM ABHUraTeNb T0JKEH OBITh TIIATEILHO OCMOTPEH.

5. YOenurech, YTO B TOIUIUBE HET BOJEL.

6. HeoOxoaumo onpo6oBaTh CUCTEMBI CMa3KH U OXJIaKJICHUS JI0 ITyCKa.

7. UadopMupyiTe MOCTUK O TOTOBHOCTH JIBUTATEIS.

8. IToBhIlIEHHE TEMIICPATYPEI B CUCTCEMEC CMA3KH ITIOKA3bIBACT, UTO IMOAIUITHUKH

HEPErPENUCH.

9. 3anucu B MalIMHHOM >KypHaJie JOJIKHBI IPOU3BOUTHLCS MO KpaitHell Mepe

KaXXJIbIi 4Jac.

V. Ilepeeecmu cnosocouemanusn na pycckuil A3viK:
damaged exhaust valve seat
worn ring groove

to cut off from

to weld in place

to use heat

grinding

wear rate

in due time

shut-off fitting

ultrasonic test

to verify the scope of work



BapuanTt 8
. Read and translate the text “Diesel combustion” into Russian.
Conditions for good combustion must be proved because the diesel engine has to
handle the entire job of mixing and igniting fuel inside the cylinder in an extremely
short time. Successful combustion depends on the following conditions:
a) fine atomization
b) high temperature for prompt ignitor
c) high relative velocity between fuel and air particles
d) good mixing of fuel and air.
Atomization and spreading of the fuel depend largely on the injection system.
Compression ratio, cylinder dimensions and cooling arrangements determine the
temperature conditions. Mixing depends on proper relation of the injection pattern,
the intake system and the shape of the combustion space formed by the cylinder
head, the cylinder walls and the piston crown.
There are different types of combustion chambers. The main of them are:
1) direct injection;
2) precombustion chamber;
3) turbulance chamber
Direct — injection Engines.
Most of the solid — injection engines turning at less than 400 r.p.m. and many
running at higher speeds employ direct injection, that is, the oil is sprayed directly
into the clearance space of the cylinder. The spray valve has from 5 to 10 orifices,
of about 0.01 to 0.002 in diameter. This separation of the oil charge gives the
necessary diffusion and insures that the oil drops penetrate and mix with entire air
charge Atomization and diffusion of the oil is brought about solely by the velocity
energy of the oil spray.
Precombustion — chamber Engines. This engine is one in which a small separated
part of the combustion chamber communicates with the main part in the cylinder,
through one or more small passages or orifices and the fuel is injected into the
small (precombustion) chamber opposite its point of communication with the
cylinder. In an engine of this type all of the fuel injected must necessarily pass

through the precombustion chamber.



Turbulence — chamber Engines.

Turbulence — chamber engines are similar in form and arrangement of parts to the
precombustion — chamber type, the main difference between them being one of
proportions, in that the separated portion of the combustion chamber and cross —
sectional area of the passage (or passages) between the latter and the main chamber
are smaller in the precombustion — chamber engine. In a turbulence — chamber
engine a section through the chamber which cuts the communicating passage in
halves is at least approximately circular in form, whereas in a precombustion —
chamber engine it is most likely to be rectangular. In the turbulence — chamber
engine the energy necessary to accomplish a rapid and through intermixture of the
air and fuel charges is derived from two sources — the kinetic energy of the fuel jet
and that of the swirl of air in the turbulence chamber. If fuel is injected directly
into the main combustion chamber, in which there is little or no turbulence, all of
this energy must be supplied by way of the fuel jet, from which it is natural to
conclude that in a turbulence — chamber engine it is possible to work with lower
injection pressures than in an engine having direct injection into the main
combustion chamber. This is one advantage of the turbulence — chamber engine.

I1. Answer the following questions to the text:

1. What are the necessary conditions for successful combustion?

2. What determine the temperature conditions inside engine cylinder?

3. What kind of combustion chambers do you know?

4. What engine use direct injection?

5. What is a precombustion — chamber engine?

6. What is the difference between the turbulence chamber engine and the
precombustion — chamber engine?

I11. Translate the following sentences into English.

1. CyILOBLIC ABUTATCIIN IPCUMYIINCCTBECHHO UMCIOT HECTIOCPCACTBEHHOC
BIIPBICKMBAHHC

TOIIJINBA.

2. Jlguratenu, paboTaronyue Ha MaKCUMaJIbHO BBICOKUX CKOPOCTSX, MCIIOIB3YIOT

KaMepbl 0COOBIX KOHCTPYKIIH, T. €. BUXPEBBIE.



3. TommuBo mojaercss B KaMepy CropaHusl WM BIPBICKMBAETCS B 0COOYIO
npeakamepy noj nasienueM B 100 a.T.M. M 3TO 3aBUCUT OT THUIIA KaMmepbl
CropaHusi.

4. B ABUTATCIIIX C HCIMOCPCACTBCHHBIM BIIPBICKUBAHUCM TOILIMBO IMOJACTCA B
KaMepy cropaHus.

5. I[JI}I HUHTCHCUBHOTI'O CMGC€O6pa30BaHI/I$I B 6BICTpOXOI[HBIX ABHUTATCIIAX
MPUMECHSCTCS BUXpEBas Kamepa.

I11. Give synonyms to the following words.

To separate, portion, cross, area, thoroughly entire, to drop, passage, to use, device,
medium to fit, to feed.

IV. Point out the suffixes in the following words and translate them into

Russian.

Formation, considerable, clearance, effective, receiver, partially, similar, likely,
suitability, turbulence, expansion, useful, passage, feature, loosen, gaseous,

careless, particularly, viscosity.



Bapuant 9
I. Read and translate the text “Engine Lubrication” into Russian.
The purpose of lubrication is the maintenance of a film of lubricant between any
two surfaces having relative motion. In the diesel engine there are two general
types of surfaces —those inside the cylinders and those in the bearings. Mineral oils
are mostly used as lubricant. This oil must be applied in small quantities for
lubrication of the cylinders, but if it is used for bearing lubrication, the oil can be
applied in any desired quantity and used repeatedly.
Cylinder lubrication.
Cylinder lubrication has two purposes — to maintain the required film to separate
the liner surface and the surfaces of the piston rings and to act as a seal to prevent
gases from blowing past the rings. These things must be done despite high
temperature of combustion and high pressure resulting from combustion. The first
tends to oxidize or burn the oil and the second tends to squeeze it out from between
the surfaces or force the combustion gases past the rings. The principal problem is
to produce an oil that will not break down and form carbon and gum- my lacquer
that will cause the piston rings to stick or break. The customary method of
applying oil to the cylinder walls is by means of small pumps assembled in units of
from 2 to 24, known as mechanical lubrications. The oil is supplied in measured
quantities, only enough to maintain a film and continuously replace that portion of
the oil that is burnt or blown past the rings.
Bearing Lubrication
Bearing lubrication is effected by means of a pressure circulating system. A large
amount of oil under pressure if forced through the bearings. In general, the system
Is made up of a sump from which a circulating pump draws oil and discharges it
through the coolers and filters to a manifold which has a branch to each main
bearings. Some of the oil flows out of the ends of the main bearings while the rest
passes through an axial hole in the crankshaft to the crankpin bearings. Here more
oil is lost and the rest passes through axial holes in the connecting rods to the
wristpin or crosshead bearings. From here all of the oil may be discharged from the
bearings into the crankpin or a portion may be passed through pipes to the interior

of the pistons for cooling purposes and then return to the sump.



I1. Translate the following words and word-combinations from English into
Russian.

A film of lubricant, to have relative motion, to separate, to act as a seal, to prevent
gases from blowing, past the rings, to oxidize the oil, to squeeze the oil out, to
apply oil, to assemble in units, measured quantity, is effected by, pressure
circulating system, large amount, to force through, to draw and discharge, a
manifold with a branch, axial hole, crankpin bearing, wrist-pin bearing, crosshead
bearing, a portion of oil, to pass through the pipe, interior of the piston, a sump.

I1. Give English equivalents.

YT10o05I CMa3aTtb, NOAACPKUBATHL MACIIAHYIO INUICHKY, ABMKYIIHMECA 4aCTH, CUCTCMA
CMa3KH 1104 HJaBJICHHMEM, CBCPJCHHBIC OTBEPCTHA, IICPCAaBaTb MaACIIO K,
MNOAIIUITHUKHA MOTBUICBBIX HICCK, CTCKATb B KapTep, MOKpHﬁ KapTep, N30BITOK
CMa3KH, CYXOM KapTep, MpelOTBPAaTUTh OOpa3oBaHUE CMOJIO- U JIaKOOOpPa3HOTO
Harapa, 3aJIMIIaHuC  KOJICI, IIpoOpBaThCAa  4YCPE3, Har”HeTarthb, MOTBLIEBBIN
IOAIIUITHUK, H_IaTYHHHﬁ IIOAUIINITHHUK.

I11. Answer the questions.

1. Why is it necessary to lubricate the engine parts?

2. What oil is used for lubrication?

3. What mechanism supplies oil to the cylinder walls?

4. What lubrication system is used to oil bearings?

5. What quantity can oil be applied in when lubricating cylinder and bearings?

6. What way does oil pass to the crankpin bearings?

7. Why is it necessary to clean the oil before supplying it to the system?

IV. Translate sentences into English.

1. CMma3ka npenoTBpaiaeT u3HOC JIeTaJIe IBUTATEIS.

2. Cmaska MUJINHAPOB UMCCT 2 aeiu. MacnsgHas njeHka pasacisi€T HOBEPXHOCTH
BTYJIOK

M INIOPITHCBBIX KOJICII. Ona Mpca0TBPalACT IIPOPLIB Ia30B 3a KOJIbIIAMMU.

3. I[JI}I CMAa3KH1 INOAIIHUITHUKOB MCITIOJIB3YCTCA HUPKYJLIIUOHHAA CUCTEMA IO
JABJICHUCM.

4. IIupKyJISIIMOHHBINA HACOC 3aCaChIBAET MACIIO U MOJAET €ro 4epe3 OXJIATUTENU U

GbUIBTPHI K TPYOOIIPOBOTY.



5. Macno nogaeTcsi K HOpIIHEBOMY MOJUIUITHUKY Yepe3 OTBEPCTUE B IIATYHE.

6. MexaHn4eckue JTyOprKaTOphl TIOIAI0T MACIIO B HEOOIBIITNX KOJNYECTBAX.



Bapuant 10
I. Read and translate the text “Engine Cooling System” into Russian.
When fuel burns in the cylinders of a diesel engine only about one-third of the
fuel’s heat energy changes into mechanical energy and then leaves the engine in
the form of brake horse- power. The rest of the heat shows up in hot exhaust gases,
frictional heat of the rubbing surfaces and heating of the metal walls which form
the combustion chamber, namely, the cylinder head and piston. The cooling system
job is to remove the unwanted heat from these pasts so as to prevent:
1. Overheating and resulting breakdown of the lubricating oil film which separates
the
engine rubbing surfaces.
2. Overheating and resulting loss of strength of the metal itself.
3. Excessive stresses in or between the engine parts due to unequal temperature.
Cylinder heads and cylinders are generally provided with jackets through which
cooling
water is circulated. Pistons transfer their heat to the cylinder walls and to the
lubricating oil. Many engines use oil coolers to remove the heat in the lubricating
oil. The heat balance of an engine and the amount of heat absorbed by the cooling
water vary with the type of engine and the design of cylinders, exhaust manifold,
pistons lubricating oil system and any other equipment which may be cooled
directly or indirectly by the circulating water.
Closed Cooling System
In closed cooling systems the jacket water is recirculated through closed heat
exchangers. A heat exchanger is a device that transfers heat from one fluid to
another. Thus, in closes systems, the same water remains in the system indefinitely
and is recooled without exposure to air. The heat exchanger may be water-to-water
(shell-and-tube type) or water-to-air (radiators and through only once if the supply
Is ample and there is no need to conserve it. Scale deposits are not as serious in
heat exchangers can be easily cleaned. In the radiator type of a closed system air
blown by a fan cools water within the tubes of the radiator. The water is not
exposed to the air and there is no evaporation. Both salt and fresh water are used

for cooling system. When a separate fresh-water system is employed, an extra



fresh-water cooler and pump for circulating sea water through this cooler must be
available. The advantages of the separate fresh-water system are that higher
temperatures of the cooling water can be used; salt-water fittings are not necessary
beyond the fresh-water cooler, muddy (dirt) and other objectionable over-board
water cannot get into the engine jackets, main circulating-water piping and
circulating-water pumps.

The temperature of the discharge from sea-water cooling systems shouldn’t exceed
130°F, because higher temperatures lead to deposit of solids on the cooling surface.
When fresh water is used for cooling, the discharge water temperature should not
exceed 160°F. to maintain efficiency the temperature of the cooling water
shouldn’t fall below 100°F. Under no account must a large amount of cold water be
supplied suddenly into a hot engine. Such sudden cooling would cause unequal
contraction of the structural and working parts, would crack cylinder heads and
cylinders and lead to seizing of pistons.

I1. Answer the following questions.

1. In what form does mechanical energy leave the engine?

2. What’s the cooling system’s job?

3. What are cylinder heads and cylinders provided with?

4. Where do pistons transfer their heat?

5. What is the heat exchanger?

6. What types of heat exchangers do you know?

7. What should you know about the temperature of cooling water?

8. What can a large amount of cold water supplied into hot engine cause?

I11. Give extensive answers.

1. Why is it necessary to cool the engine?

2. What cooling medium can be used?

3. Why is it preferable to cool the piston with oil?

4. Why is sea water used generally in the coolers?

IV. Translate into Russian

a) defining the prefixes in the words.

Unwanted, unequal, uncomfortable, indirectly, insufficient, indefinitely, incorrect,

irregular, discharge, disconnect, remove, recirculate, recover, reheat, recool.



b) combine the following words with the above and translate them into Russian.
Heat, heating, stress, conditions, cooling, water level, timing, supply, operation,
combustion products, heat balance, as much heat as possible, cold water,
circulating pump.

V. Find synonyms to the following words in the text.

Thermal energy, to alter, to escape, burnt gases, warm, cylinder cover, function, to
eliminate, undesirable, failure, to divide, to supply, to transmit, quantity, liquid,
sufficient, additional, to keep.

V1. Translate sentences paying attention to the Infinitive functions.

1. The cooling system job is to remove the undesirable heat from the moving parts
of the engine.

2. Many engines use oil coolers to remove the heat in the lubricating oil.

3. To transfer heat from one fluid to another a heat exchanger is used.

4. Cooling is also provided for the exhaust manifold to prevent high temperatures.
5. The plant utilizes a heat exchanger to recover heat from exhaust gases.

VI1I. Change the following sentences into the Passive Voice.

1. Fresh water cools the piston.

2. The burning fuel transfers the heat to the metal parts of the engine.

3. Sea water cools the oil and scavenging air.

4. The engine drove the pump.

5. We provided an oil film between the rubbing surfaces.

VIII. Translate sentences from Russian into English.

1. HlunuHApOBBIE KPBIMIKK U IUIUHAPBI OOBIYHO CHAOXKEHBI pyOaliKamH.

2. Macnsgueii XOJIOAUJIBbHHUK HMCITIOJIB3YIOT IJId YAAJICHUA TCILJIa U3 CMAa304YHOI'0
macia.

3. HazHaueHne CUCTEMBbI OXJIAKICHUS — IPEIOTBPATUTh MEPETPEB TPYIIUXCA
ITOBEPXHOCTEM.

4. TerioBon 6anch ABUTATCIIA MOXKET MCHATHCA B 3aBUCUMOCTHU OT THUIIA
ABUTATCIIAA 1 KOHCTPYKIWH HUJIWHAPOB, HOpHIHeﬁ N CUCTEMEBI CMAa3KH.

5. TGHHOO6MGHHI/IKI/I MOTYT 6BITB BOAAHOTO X BO3AYHIHOI'O OXJIAKIACHUA.

6. OxyaxaeHue MNPEeCHOW BOJAOW BBI3BIBAET MEHBIIEE OTJIO0XKEHUE OCaJKOB U

HAKHWIIM, MCHBIIC BbI3bIBACT KOPPO3HUIO.



Bapuant 11
I. Read and translate the text “Turbochanging System” into Russian.
To increase the available output of a diesel engine of given main dimensions the
engine is connected with one or more exhaust-gas turbine-driven compressors and
air coolers: an arrangement which is generally known as turbocharging. The only
difference between an engine equipped in this manner and a normally aspirated
engine is that the former operates at an increased pressure level. The exhaust gas
drives a turbine which, in turn, drives a centrifugal compressor which increases the
air pressure before the reciprocating scavenging air pumps. Since the density of
scavenging air is increased by the pressure rise in the turbo-compressor and the
subsequent cooling, a larger quantity of air by weight is entrapped in the cylinder
which, in turn, permits the combustion of a larger quantity of fuel and gives a
higher available output. Each turbo-charger consists of a single stage or two-stage
centrifugal compressor and axial turbine which are assembled on the same shaft.
Rotation of the rotor depends on the engine load and scavenging resistance, since
the unit is connected to the engine without any mechanical transmission. The
turbo-charged engine is maneuvered in the same manner as a normally aspirated
engine. MAK engines use only pulse turbocharging and to meet this requirement
cylinder numbers which permit good grouping of the turbocharger connections are
employed. A distinction is made between three-pulse charging for 6 — 9 and 12
cylinder engines with cams specially timed for three-pulse mode and four-pulse
charging for 8 and 16 cylinder engines with completely different timings for the
four-pulse mode. The disadvantage of pulse charging for highly-supercharged
engines compared with the constant pressure charging is the fact that during the
full load the single-stage exhaust turbine can only utilize the lower part of the very
high exhaust gas pressure wave. But this is the advantage at part load or reduced
power. Pulse charging has a further advantage that the engine can adapt very
quickly to sudden changes in load. With exhaust gas turbo-charging it has proved
possible to triple the power obtained from the swept volume of a diesel engine.
I1. Compose your own sentences with the words.
Full load, drive, larger quantity, increase.

I11. Translate the following word-combinations into Russian.



Burning more fuel oil, at a pressure higher than atmosphere, exhaust-gas turbine-
driven compressor, air cooler, is generally known, the only difference, normally
aspirated engine, pressure level, reciprocating scavenging air compressor, by the
pressure rise, subsequent cooling, larger quantity, higher output, single-stage, axial
turbine, on the same shaft, depend on the load, scavenging resistance, transmission,

to triple the power, swept volume.

IV. Give English equivalents to the Russian words and expressions.
yBCJII/I‘{I/ITB, MOIITHOCTH ABUI'aTCJIA, Typ60HaIIILYB, BBICOKAA TCMIICPATYpPaA U
JaBJICHUEC, BBIXJIOIIHBIC I'a3kbl, Typ6OKOMHpeCCOp, I10JIHAg HArpy3Ka, 4aCTH4IHasd
Harpyska, HMHYHLCHBIﬁ, AAaBJICHUC BO3JyXa, 3apsaKa 1oa JaBJICHUCM,
HEHTPOOCKHBIN, MOPITHEBOM, IBYXCTYIIEHYAThIN, OCEBOM, Mepeada, TAKUM ke
00pa3zoM, TTOJIHOCTHIO OTJIMYAOIIIANCS, TIOCTOSIHHOE JIABJICHUE, UCTIOJIb30BaTh,
HpI/ICHOCO6I/ITLC}I.

V. Form adverbs using suffix —ly and translate into Russian.

General, subsequent, main, normal, mechanical, special, complete, high, full, part,
quick, sudden, independent, hard, different.

VI. Translate sentences paying attention to modal verbs and their equivalents.
1. The power output of any engine can be increased by burning more fuel in the
cylinder.

2. The fuel pumps must have a definite phase relation to the engine crankshaft.
3. All engine parts may be removed and replaced easily.

4. The worn rings have to be replaced by new ones.

5. When the wear reached the allowable level the cylinder had to be rebored and
resurfaced.

6. To burn more fuel more quantity of air should be supplied.

7. These valves were to be pressure tested.

VII. Translate from Russian into English.

1. HamnyB — »3T0 mpoumecc, NOCPEACTBOM KOTOPOrO UWJIMHADP JIBUTATEIS

3apsKacTCsa BO3AYXOM I1OA AABJIICHHUCM.



2. I[BI/IFaTCJIB C HAAAYBOM pa60TaeT Ha IMOBBIICHHOM YPOBHE J1aBJICHHA.

3. BeIxutonHbIe Ta3bl IPUBOIST B IBIXKCHHUE TYpOUHY.

4. CYHICCTBYCT JABa THUIIa ,ZIBI/IF&TGJIGIZZ ABHUTATCIIN C OOBIYHBIM BCAaCbIBAaHHUEM H
ABUTATCIIM C HAATYBOM.

5. TypOuHa nmpUBOIUT BO3AYIIHBIA KOMIPECCOP, KOTOPBIA YBETUUHBACT JIaBIICHUE
BO3yXa.

6. TypOoHamyB ObIBA€T UMITYJILCHBIN H IIOCTOSTHHOTO JTaBJICHUS.

7. llpeumyiiecTBO HUMITYJILCHOTO HaJjayBa B TOM, 4YTO JBHUTAaTelb OBICTPO
HpI/ICH008,6JII/IBaeTCH K HCOKNAAHHBIM N3MCHCHUSM B HArpy3Ke.

VIII. Answer the questions to the text.

1. What is a purpose of supercharging?

2. What is a turbocharger?

3. What’s the difference between normally aspirated engine and turbocharged
engine?

4. What does the rotation of the rotor depend on?

5. What permits the combustion of a larger quantity of fuel?

6. What is the result of this combustion?

7. What is the disadvantage of the pulse turbocharging?



Bapuant 12

I. Read and translate the text “Air Starting System” into Russian.

Although all small engines and some fairly large ones used in connection with
electric drive are started by electric motors? In connection with electric drive are
started by electric motors, the method almost used for starting engines of more
than 200 h. p. is by admitting air at 250 to 400 Ib. pressure to the cylinders through
timed valves. Air for this purpose is provided at any convenient point in the engine
room and connected to the starting valves in the cylinder heads. This compressor is
of two-stage construction because of the lower pressure to be handled. In some
cases the compressor is built into the engine but driven by gears, chairs, or V-belts,
and in most installations, especially of large engines, it is independently operated,
usually by an electric motor but in some cases by a separate auxiliary engine. Since
the maintenance of an adequate supply starting air is vitally essential, the air
compressors must be installed in duplicate. If an attached compressor is used, a
small independent unit must be provided; if no attached compressor is used, two
and sometimes three units are installed. In order to eliminate the possibility of the
compressor’s not being started in time during extended periods maneuvering,
automatic controls should be installed that will start and stop the compressors in
accordance with pressure changes in the air tanks. Although every air starting
system uses timed valves in the cylinder heads for admitting air into the cylinders
at the right point in the cycle, there are several different methods in use for
operating these valves. In every case the air main leading from the tanks is
connected to each starting valve, but air is turned into these lines only during the
times when the valves are in operation. In one arrangement the valves are operated
by cams and levers, the levers being mounted on eccentric fulcrum bearings.
Normally the rollers are held up clear of the cams but, when the eccentric bearings
are rotated by the control gear, which at the same time operates to open the valve
that admits air to the lines leading to the cylinders, the rollers drop onto the cams
and the valves open and close in accordance with their timing under the influence
of the cams and valve levers. In another arrangement the starting valves in the
heads are simply spring-loaded valves that open when air pressure in the valve

body exceeds the spring pressure. Air is admitted to the valves at the right times by



cam — operated control valves in a control unit at the operating station. In other
designs the starting valve is operated by a piston in a cylinder incorporated in the
valve body. Air is admitted to this cylinder through a small pipe line leading to a
timed pilot valve in the control unit at the operating station. In every case the
maneuvering gear is arranged so that air from the tanks is automatically turned on
when starting controls are moved to the start position, and cut off when they are
moved to the run or stop position.

I1. Translate into Russian.

Almost universally used, 200 h.p., at 250 Ib. pressure, timed valves, to discharge
air to tanks, at any convenient point, two-stage compressor, to be handled, to be
driven by gears, v-belts, chains, a separate engine, an adequate supply of air, to be
installed in duplicate, attached compressor, automatic controls, pressure changes,
air main, leading to, arrangement, by cams and levers, accentric fulcrum bearing,
to hold up clear of the cams, control gear, to drop onto the cam, simple spring-
loaded valves, to exceed spring pressure, control unit, operating station,
maneuvering gear, to be arranged so that, cut off, turn on, run position, stop
position, to be in operation.

I1. Find English equivalents in the text.

3anyCTUTh JABUTATENb, JJI 3TOM 1IeNH, YI0OHOE MECTO, MAaIllMHHOE OTJEJICHHE,
KOHCTPYKIUSA, M3-34, 60.]'[66 HHU3KOC AABJICHHUC, B HCKOTOPLIX CJIy4dasiX, BCTPOCH,
OCO6CHHO, pa60TaeT HE3aBUCHUMO OT ABHIATCIIA, OTI[CJ'ILHBIﬁ, TaK KaK, KU3HCHHO
B&)KHBIﬁ, IITO6I>I, B COOTBCTCTBHUH C, HCCMOTpPSA Ha TO 4YTO, B HYKHOC BpPCM:, B
KaXXJ10M Ciiy4dac, B O6BI‘-IHOM COCTOAHHNH, HC KacaTbCsia, B ITO KC BpPCMs, B
COOTBECTCTBHHU C, B KAXKXAOM CJIy4dac, IMOJOXKCHUEC KITYCK», «pa60Ta», «CTOID».

I11. Complete the sentences.

1. This compressor is ... unit.

2. All the diesel engines are started by ...

3. The compressors can be driven ...

4. If an attached compressor is used ...

5. Automatic controls will start and stop the compressors ...

6. Timed valves in the cylinder heads are used for ...

7. The levers are mounted on ...



8. The air main is connected ...

9. Spring-loaded valves open when ...

10. The air starting valve is operated by ...

11. Air is admitted to ...

12. Starting controls are moved ... and cut off ...

IV. Read abbreviations in full and translate them into Russian.

450 lbs, 2.100 h.p., b.h.p., 28 in, 64 psi, etc., i.e., 30°C, 100°F, cu. ft., H.P., LP.
V. Translate from Russian into English.

1. OTKpOﬁT € Har"HeTaTeJIbHbIN KjlallaH Ha IUPKYISIMHOHHOM HACOCE.

2. [IpoBepbTe 1aBIIEHHE B PECUBEPE ITyCKOBOTO BO31yXa.

3. OTKpoiiTe BeHTEIb Ha TPYOOIPOBO/Ie MOAa4YH TOILIURA.

4. BkarounTe HacOC OXJIaXKIAIOIIEH BOIHI.

5. IIpoBeppTe naBiieHUE Macia.

6. [IpokauaiiTe cucTeMy IMyCKOBOTO BO3/1yXa, YTOOBI YJIaduTh BiIary (Boay) u
cMa3aTh BCC KJlallaHbl CUCTCMBI.

7. IlpoBepHUTE KOJICHUATHIM Bayl JBHUTateliss Ha 1 00OpOT M yOeauTech, YTO BCE

JBUKYIIHECS YaCTH paboTaroT CBOOOIHO.

V1. Ask questions to the following sentences.

1. Wear of the piston can be corrected by grinding the piston to a smaller diameter.
2. The bearings may pound when the engine is being shut down.

3. Oil reaching the piston pin flown out through from three or five drilled passages
to

spray upon the piston surface.

4. One of the two methods of cooling the interior of a piston crown is to circulate
lubricating oil through a tube into a chamber formed in the piston crown.

5. Thin liners in certain conditions are better than thick ones.
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I. Read and translate the text “ Preparations Prior to Starting the engine”
Directions for operation and maintenance of engines can be given with much
greater definiteness if intended for a single make or design. Nevertheless some
directions are given here, which are of fairly general application. Even where they
are not directly applicable, they may be suggestive as to what can be done in the
particular case. If the engine has not been operated since an overhaul:
1. Make a thorough inspection to insure that all bolts have been properly set up,
and that all devices for preventing the loosening of nuts and pins by vibration have
been installed.
2. Examine the piping connections to make sure that they have been properly made
up —this is especially important in the case of high-pressure air piping because
serious injury to personnel may result if air should be turned into a disconnected
pipe.
3. Go over the entire engine carefully to find any tools or other objects that may
have fallen into the working mechanism.
4. With the compression released, jack the engine over by hand several times.
5. Check the cooling system:
(a) Open the vents at the high point on the cooling system.
(b) Fill the engine jacket spaces completely.
(c) Be sure that there is an adequate supply of cooling water available before the
engine
IS started.
6. Before the engine is closed, examine the lubricating system:
(a) See that no rags or other material have been left to plug piping or oil channels.
(b) Check the oil sump for the presence of water.
(c) Make sure that the oil is at the required level for engine operation,
If the engine is being started after a routine securing, the checking does not have
to be as extensive as just after an overhaul, but the operator must:
1. Make certain that the moving parts of the engine are free.
2. See that the cooling system is full of water.
3. Check the lubricating oil in the supply sump.



4. Operate the hand or stand-by lubricating pump before or while the engine is
being jacked — to cover all journals and bearings with a film of oil before the
engine is started.

5. Clean the filters before starting the engine if they are not cleaned during
operation routine.

6. Supply oil to all hand lubricated parts.

7. Test low-pressure oil alarm.

8. Fill the engine fuel-oil system.

9. Make sure that no water is present in the fuel.

10. Prime the fuel pumps and line through the priming arrangements, and make
sure that all air is expelled.

11. With the stand-by or hand-operated lubricating oil pump in operation before
turning

the engine, jack the engine at least one full turn and disengage the jacking gear.

12. Open the sea-injection and overboard valve, and operate stand-by sea-water
circulating pump.

13. See that there is an adequate flow of water through the cooling system.

14. Make sure that the controls are in stop position.

15. If engines are of reversing type, set the reverse gear in proper position.

I1. Give synonyms to the following words.

Operation, rapid, application, sufficient, prior, thoroughly, instrument, several,
flow, position.

I11. Give opposites to the following words.

To start, improperly, loose, unimportant, disconnect, clean, to open, slowly.

IV. Translate the following groups of words.

High-pressure air piping; low-pressure oil alarm; air-starting flask; hand-operated
lubricating oil pump; stand-by sea-water circulating pump.

V. Translate the following sentences into Russian, paying attention to the
Nominative with the Infinitive construction.

1. Any internal-combustion engine is said to have a four-stroke cycle or a two-
stroke cycle, according to whether it receives a working impulse on the piston

every other revolution or every revolution.



2. After operating in one direction until everything is found to be in good order the
engine should be reversed to try out the reversing gear.

3. Frames have been known to crack, and the remedy is either to install a new
frame or to weld the old one.

4. Insufficient lubrication can probably be considered to be the basic reason for all
scuffing, but there many reasons for insufficient lubrication, disregarding the most
apparent —no oil in the crankcase.

5. If an injection valve happens to be in the open position, the air pressure in that
cylinder may cause the engine to turn quickly through part of a revolution.

6. Correct clearance of adjustable piston-pin bearings may be obtained by
removing enough shims to make the bearings bind slightly and then replacing the

thinnest possible shim.
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I. Read and translate the text “Inspection Routine” into Russian.
Cleanliness is a big asset in the operation of your equipment, for it is our
observation that operators in a clean, well- kept engine- room seldom report
trouble. Clean and inspect your engines and the auxiliary equipment regularly.
DAILY INSPECTION.
Under engine is running. Check the level in the clean fuel oil storage tank. The
level of the lubricating oil in the sump tank it is running should be to the "engine
running full” mark on the gauge. The level when it is not running should never be
above the "engine stopped max" mark. Be sure there is sufficient water in the
expansion tank of the cooling system. Inspect the sea water supply system. Open
the vents on the fresh water system during each watch to relieve the air. Rotate the
cleaning handles of the fuel and lubricating oil filters 2 or 3 revolutions every 12
hours. Check the temperature of the oil from the generator bearings. Take readings
of all gauges, thermometers and meters at regular intervals. Precede as is
recommended in the instruction.
PERIODIC INSPECTION.
Check the hold down- bolts on the engine and generator.
Remove the side covers enclosing the injection pumps and nozzles and make
certain that the control racks of each pump move freely. Clean and inspect for wear
all external leakage. Check the operation of the overspread governor trip
mechanism by pushing the emergency stop button. Be certain that the control racks
of the injection pumps move to "no fuel” position,
EVERY YEAR OF OPERATION-
In addition to the inspection and cleaning as outlined under the preceding
paragraphs, the following equipment and engine parts should be included.
Automatic timing device-disassemble, clean and inspect the parts. Camshaft
Bearings-disassemble and inspect the bearings. Coolers- Fresh Water Jacket-
Lubricating Oil- service as outlined in the instructions. Precede as is recommended
in the instructions. While the details of the watch routine must necessarily vary
with different types of engines, some of the things that are included in a typical

routine are as follows:



At Least Once Each Hour:

1. Turn all injection and exhaust valve stems at least one-half turn to prevent
sticking.

2. Examine all cam rollers and see that they are free to turn.

3. Open vent cocks on top of cylinder covers and air compressors to vent air from
jacket spaces. This is particularly necessary when reciprocating water pumps with
shifting valves are used.

4. Feel air starting pipes close to cylinder covers. Abnormal heating indicates
leaking

starting valves.

5. Read all thermometers and gauges and record readings.

6. Examine cylinder cover joints and air line joints for leaks.

7. Open hand hole doors in housing, look for smoke and listen for knocks.

8. Examine mechanical lubricators and time their feed.

9. Blow water out of spray air bottles.

Once Each Watch:

1. Clean fuel and lubricating oil strainers.

2. Pump bilges.

3. Sound and record readings of all oil tanks.

4. Wipe down engines and clean engine room thoroughly.

Once Each Day:

1. Take set of indicator cards.

2. Filter one batch of lubricating oil.

3. Record fuel and lubricating oil consumption.

I. Answer the questions.

1. What does daily inspection include?

2. What should the engineers pay attention to periodically to have the engine well-
operated?

3. What should the watch engineer do during the watch?

I1. Translate the following words and expressions.

[To xpaiiHeli Mepe, mpu palOTarOIIEeM JBUTATeNe, CIIyCTUTh, IMOJ 000poTa,

Y6C,Z[I/ITBC}I, Tporarb, pPsAAOM, YTCUYKa, IIOKa3aHH:dA, IPOAYTb, CETKaA, IIPOKadaTb



TIIATCJIBbHO, pacxo[, CHCTEMa II0Ada4u, aBapHﬁHBIﬁ, MEXaHU3M aBaprIHOFO
OTKJIKOUECHUSL.

I11. Give synonyms to.

Rotate, inspect; spray; apply; differ, write; measuring device; supply; search;
connections; tube.
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I. Read and translate the text “Maintenance”
The condition of the cylinder bore is one of the main factors affecting the operation
of a high speed oil engine. When excessive lubricating oil consumption or
excessive blow- by is observed the cylinder heads should be removed and the
cylinder bores checked for wear. This requires accurate measurements by means of
a dial indicator gauge, since the wear is in any case only in thousandths of an inch.
When the wear has reached the allowable maximum, the cylinder must be rebored
and resurfaced or have a new liner fitted depending on the design. In this
connection, maker's instructions should be followed strictly, and great care must be
taken, particularly in case of reboring, to ensure that the alignment of the engine is
maintained. Some engines particularly highly- rated engines, or engines using
unsuitable lubricating oils, may have a tendency to form lacquer deposits on the
bores. These lacquer deposits are in nature of a hard varnish, dark brown or black.
They prevent the efficient sealing of the cylinder and by causing blow- by lead to
excessive wear and increase friction. Any such deposits noticed when the cylinder
head is off, should be carefully cleaned away, taking care not to damage the
surface of the cylinder bore. On two- stroke engines sludge and carbon deposits
may tend, after a period, to foul the ports. Access doors for cleaning, are usually
provided, and the ports should be cleaned out to maker's instructions at periods
varying from 300 to 1,000 hours according to the design and duty. Periodic
examination, particularly at major overhauls, should be made for water leakage. If
water leaks into the lubricating oil, there is a serious risk of internal rusting and
corrosion with excessive bearing wear and possibly even seizure. Any water leaks
should be cured as soon as noticed.
I1. Answer the following questions.
1. What is one of the main factors affecting the operation of a high- speed oil
engine?
2. What should be done when the wear has reached the allowable minimum?
3. What's the result of using unsuitable lubricating oil?
4. What happens if water leaks into the lubricating oil?

I11. Translate these sentences into Russian, paying special attention to the modal



verbs meaning.

1. The future P 90 GFC engine will be able to achieve specific fuel consumption of
131 g/b.h.p.h. at m.c.p.

2. The engine is built as a direct- reversible unit or can be equipped with a
hydraulically

operated reversing gear.

3. Relatively few alterations had to be made with the engine itself.

4. This type of engine is to be built in two series, each from four to twelve
cylinders.

5. A great care should be taken with the design of the upper cylinder liner collar.
IV. Translate into English using words and expressions from the text.

1. OTnoxenus naka MemaT 3G HEKTUBHOMY YIUIOTHEHUIO IIMIIMHIPA.

2. W3Hoc, B m000M ciiydae, TOJIBKO B THICSIUHBIX JIOMMA.

3. Ecimn HCIIOJB3YCTCA HECTIOAXOAAMICC MACJI0, HAa CTCHKaX MUJIMHAPA 06pa3yeTc51
JaK00Opa3HbIN Harap.

4. 3HOC NWJIMHAPA MOKHO U3MEPUTHh UHIUKATOPOM C KPYTOBOM IIKAJIOH.

5. JIroOble mpOTEeUKH BOABI HA/I0 YCTPAHITh KaK MOKHO OBbICTpEe.

6. Honaz[aHHe BOJIbI B CMAa3049HOC MACJIO MOKCT IIPUBECTU K PKABJIICHUIO U
KOpPpO3UHU BHYTPH JIBUTATEIIS.

V. Give the detailed answers.

1. What factors affects the operation of an engine?

2. What facts show us that cylinder bore is worn?

3. When does reboring become necessary?

4. What is the nature of lacquer deposits?

5. What factors lead to excessive cylinder wear?

6. What deposits way foul the ports?

7. How can access to ports be arranged?

VII. Retell the text using the key sentences.
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I. Read and translate the text “Location of Troubles”
Below are set out the various troubles most likely to be encountered, together with
their causes and remedies.
Engine Will Not Start
1. Not turned fast enough by hand. Try to continue turning after the valve lifter had
been dropped. There is no danger of backfiring as with petrol engines. See that the
reverse gear is in neutral.
2. Loss of compression,
a) Sticky valves. Remove and clean the valves spindles, and if necessary, polish
with fine emery cloth.
b) Insufficient valve clearance. Check the valve clearances.
c) Valve seatings not tight. Examine these, and if they show sign of being pitted
and are not seated properly, they should be slightly ground in.
d) Dry piston after standing. Pour a small quantity of lubricating oil into each air
intake.
3. Air in the fuel system.
Engine Runs Irregularly
1. Sticky valves.
2. Dirty atomizers.
3. Air in the fuel system.
4. A fuel- pump delivery valve has stuck up.
5. Remove the delivery valve. If the delivery valve is found to be stuck, it will be
due to dirt, and carefully cleaning the valve and its guide it should move freely. On
no account must emery paper or powder be used.
6. Water in the fuel.
7. Drain all parts of the fuel system, including the fuel pump and fill up with clean
fuel.
8. Fuel filter chocked.
9. Remove and wash.
Engine Knocks.

1. Time of injection is incorrect. Check and reset, if necessary.



2. A bearing is loose. Examine all bearings and adjust, if necessary.

3. A piston is seizing. See that the engine is not being over loaded. Examine the
pistons and smooth up any rough parts on the pistons and in the liners.

4. Carbon on the pistons hittings the cylinder heads. Decarbonize.

Note:

If the engine is heard to be knocking at any time it must be slowed down at once,
and if possible stopped and the cause investigated. On no account must it be
allowed to continue running, except at a greatly reduced speed.

I1. Test your comprehension answering the following questions.

1. Why cannot the engine start?

2. What should you do if the valves are sticky?

3. What should be done if you find the piston to be dry?

4. What causes the engine to run irregularly?

5. Explain how to eliminate the troubles of such running?

6. What troubles can water in the fuel cause?

I11. Translate into English.

[lopmHM 3aKIMHUIO; PEBEPCHBIM MEXAaHW3M, CHATH KPBILIKY, 3a¢aHUE KJIAllaHa,
HarHeTaTeNbHBIN KJalmaH, MOYUCTUTh, HaxaayHas Oymara; GuiabTp 3a0uT;
CIyCTUTh BOJY (Macjo); OTIOJUPOBaTh IOBEPXHOCTh, IPOBHUCATh; TPI3HBIN
GuIbTP, TEPMETHYHOCTD; HECBOEBPEMEHHBIN BIPBICK; IPUYNHA MIEperpeBa, noreps
JAABJICHUS CKATHA, N3-3a I'PA3U, IPOAOJIKHUTH pa60Ty, CUJIbHO M3HOIIICHHBIN.

IV. Give synonyms to the following words.

To eliminate, to go on, fast, to fall, to stick, to polish, to check, amount, every,
thanks to, to operate, to decrease, to regulate, injection, to tune, to fit.

V. Give antonyms to the following words.

Slow, to remove, expansion, dirty, necessary, fine, dry, after, to stick up, loose,
reduce, rough, head, to stop.

VI. Put the verbs into the proper form.

1. The piston rings and cylinder liner (to wear) badly.

2. Water sometimes (to get) into the fuel oil.

3. A warm engine (to require) only two revolutions on air to start.

4. The piston and cylinder walls (to cool) during scavenging.



5. The air (to supply) pre-compressed and cooled.

VII. Ask as many questions as you can.

1. The lubricating oil pump delivers oil through a filter before it is fed to any
working part.

2. The crankshaft has bored ducts conveying the forced lubrication oil to all
bearings.

3. Frames are sometimes called "crankcases" for the reason that the frame walls
enclose the cranks and connecting rods.

VII1. Make up your own sentences with the following words.

To be overloaded, sticky valve, the burnt exhaust valves, to inspect, a loose

bearing, to fill up, to remove, to reduce engine speed, piston rings.
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I. Read and translate the text “Location of Troubles”
Engine Overheats
1. Water circulation defective.
See that no foreign matters have collected over the sea intake, in the sea-cock
strainer, or in the suction piping. Inspect the valves in the pump and see that there
IS no grit on the seats and that they are seating properly.
2. Time of injection is incorrect.
Check and reset, if necessary.
Engine Stops of its One Accord
1. Dirt in fuel filter or other parts of fuel system. Investigate and clean.
2. Water in the fuel.
3. Fuel tank is empty.
4. A fuel pump delivery valve has stuck up.
5. A piston has seized. Dismantle, examine, and smooth up any rough parts on the
piston and in the liner.
6. The propeller is fouled. Inspect and remove any ropes or other objects which
have become entangled.
Heating of Stern tube or Intermediate-shaft Bearing
1. Misalignment.
Check and, if necessary, re-align the engine and intermediate-shaft bearings, if any,
from the tail shaft half-coupling.
2. Tight stern tube packing.
Try slackening the nuts holding the glands slightly. If the gland cannot be eased
without
causing leakage, the packing has become hard and should be renewed.
3. Damaged propeller.
Examine the propeller to see that it has not become damaged to such an extent as
to throw it appreciably out of balance. If necessary, the propeller must be repaired
or renewed.
I1. Answer the questions.

1. What causes the overheating of the engine?



2. Why can the engine stop of its own accord?

3. What are the reasons of stern tube heating?

4. How can you eliminate the above troubles?

I11. Give English equivalents to Russian words and expressions.

WNuoponHble BelecTBa, IeperpeB, (QUIbTp, THE3A0 KiamaHa, IYyCTOM TaHK,
IOPpHICHb 3aKJIWMHHWIIO, CMCHICHHC, My(bTa, HEJIIb34 OCJIa6I/ITI>, HE BBI3bIBAasA TCUb,
IJIOTHAas Ha6I/IBKa, MUPKYJOHA BOJAbI, BpDCMs BIIPbICKA TOILIMBA.

IV. Give antonyms to the words and make up sentences with both opposites.
Dirty, fast, continue, drop, danger, tight; dry, fill up; badly; cylinder head; slow
down, reduced speed.

V. Translate sentences into English.

1. IIpoBepbTe ypoBEHb Macia.

2. OTBEepCTHUA B IOPIIHE 3aCOPUITUC.

3. HOpHIHCBBIC KOJIbI1a CUJIBHO N3HOIICHBI.

4. Cnerka ocnaObTe TallKH.

5. HabuBky cneayeT 3aMEeHUTb.

6. BBIpOBHSATH IEPOXOBATOCTU HA BTYJIKE LIWJIMH]IPA.

7. Ilepe3arpaBbTe TOIUIMBHYIO CUCTEMY.
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I. Read and translate the following texts to get some more information about
engine designs of different makers.
General Information about Burmeister and Wain Engines.
The present B. and W. marine engines are all exhaust turbo charged, the power
output of which is one- third more than that of the corresponding normally
aspirated engines for the same number of revolutions per minute. The reduction of
fuel consumption with a turbo charged engine is of 3 per cent. The engine is a
single- acting, two- stroke cycle, exhaust poppet- valve type and finds a wide
application all over the world. The design is a true crosshead engine, i.e. one in
which the crankcase is completely separated from the cylinder. Scavenging air
enters the cylinder through a row of ports located in the lower part of the liner. The
scavenge air is given a swirling motion. The exhaust gases are expelled through the
poppet valve centrally arranged in the cylinder cover. The structural components of
the engine type consist of the bedplate, «A» frame and scavenging air receiver.
These together form a rigid longitudinal girder which supports the cylinder units.
For engines of cast iron construction, vertical mild steel through- bolts are
provided. They extend from the top of the cooling water jackets to the bottom of
the bed plate cross girders. The crankshaft may be fully- built or semi- built
depending on the number of cylinders and torsional vibration characteristics of the
system. The main bearing steel shells are lined with white metal, the bearing keeps
are of cast steel. The connecting rod bottom-end top-end bearings, also the cross-
head shoes, are of cast steel lined with white metal. There are two camshafts. One
operates the fuel injection pumps, the other actuates the exhaust valves through
cams, rollers, roller guides, push rods and rockers. A fuel injection pump is
provided for each cylinder and it's cam- operated through a roller and roller guide
from a camshaft. The cylinder covers are made of chrome — molybdenum cast steel
and are bolted to the cooling water jackets. The liners are of very simple design
made of alloy cast iron. Two fuel valves, a starting valve, a safety and exhaust
valves are arranged in the cylinder cover. The cylinder covers, c. liners and exhaust
valves are fresh water cooled. The pistons are of a simple design with crowns of

chrome- molybdenum cast steel and skirts of cast iron. The pistons are oil- cooled



from the forced lubrication system. The B. and W. turborchavging system for two-
stroke cycle engines is a flunctuating pressure system.

I1. Answer the questions.

1. What is the power output of the pressure- charged engines?

2. What are the main particulars of the B. and W. design?

3. In what way are the cylinders scavenged?

4. How is the fuel injection pump operated?

5. What material are the cylinder covers made of?

6. What valves are arranged in the cylinder cover?

7. What pistons are used in the engine?

I11. Translate the following words and expressions into Russian.

Exhaust — turbocharged, normally aspirated engine, reduction of fuel consumption,
a single — acting, exhaust poppet valve, cross head; a swirling motion, to expell,
centrally arranged, a bedplate, a frame, rigid longitudinal girder, steel through
bolts, to provide, fully- built; semi-built; torsional vibration, to operate, to actuate
cylinder cover, cylinder head, the crown, the skirt, a flunctuating pressure system.
IV. Form nouns from the following verbs.

To inject, to arrange, to vibrate, to connect, to operate, to revolve, to reduce, to
apply, to locate, to separate; to receive, to support, to cool, to heat, to operate, to
inject, to actuate;

to press, to measure.

V. Translate sentences into Russian. Pay attention to the Ving translation.

1. Fuel delivery is regulated by varying the effective stroke- volume of the pump.
2. The second row of scavenging ports is closed by mechanically driven valves.

3. When operating the pistons move simultaneously either towards each other or
away

from each other.

4. No essential results having been obtained, the scientists had to carry out some
more

experiments

5. Manoeuvring is carried out by a single lever for starting and reversing, the

second lever



being provided for controlling the speed of the engine by adjusting the fuel supply.
6. In engines having more than six cylinders the crankshaft is built up in two parts.
V1. Give English equivalents to Russian words.

Cucrema TpPOAYBKH, NPOAOTLHAs Oajka, pPaMOBBIA TOIIMITHUK, KOPEHHOMN
IOAIIUITHUK,

Oammak Kpeuikornda, COCTABHOM KajeHYaThlil Bajl, PaCXOJHbIA TaHK, T'OJIOBKa
TOPIITHS KPEHI-KOTI(HOTO ABHUTATENs, F0O0Ka (BEpXHSS YacTh) TOPIIHS, CIUIAB,
49yr'yH, JiaTasd CTallb, IIPOKOBAH-HasA CTaJlb, CBApPOYHAA CTallb, CMA3Ka II0Q
JAaBJICHUCM, IMYJIbBCUPYIOIICC OAaBJICHUC, B JBa pasa OOJIbIIIE 4€M, IMHUPOKO
HUCITOJIb30BATHCA, paCHOJ'IO)KeHHHﬁ B OCHTPC.

VII. Translate into English.

1. TypOoHaayB yBeTuUMBaeT MOIIHOCTH JIBUTATEIIs.

2. Takue ABUTATCIIM paCXOAYyIOT MCHBIIC TOIIJIMBA.

3. B aBuraresne kpernkomn@HOro Timna KapTep MoJHOCThIO OTACNICH OT LIWJIUHIPA.
4. ITogbeMHBIN KJallaH paclojoKeH B KPBIIIKE [UJIUH/PA.

5. OauH U3 KyJa4KOBBIX BAJIOB PETYJIHPYET paOOTy BBIXJIOIHBIX KJIAIIAHOB Yepe3
CUCTCMY KYJIAYKOB, POJIMKOB, X HAITPABJIAIOIINX, TOJIKaTeeH 1 KOPOMBICCII.

VIII. Ask as many questions as you can.

The New Four-stroke Diesel Engine Type 65/65 is a Common Development from

M.A.N. and Sulzer Brothers Design Features.
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I. Read and translate the text into Russian.
The engine can burn heavy fuel and will be built as a reversible and nonreversible
prime mover. The engine frame consists of a crankcase of fabricated design and
cast cylinder blocks. The demand that the cast components must be of limited
weight and volume to simplify the casting procedure and that the crankcase must
be built in one-piece had a great influence on the design.
Crankcase.
The main bearings of the crankshaft are located in the cast steel cross girders
which are welded into crankcase. These results in a favourable flow of the ignition
forces. By using suitable devices, the dismantling and fitting of the bearing can be
carried out easily. The camshaft drive which is situated on the coupling side, is
integrated into the crankcase. The gear wheels have a long service life due to the
shift and vibration-free seatings. The torsional vibration damper fitted on the
crankshaft on the opposite side of the coupling is located within the crankcase.
Large openings in the crankcase guarantee good accessibility to the moving parts
and bearings.
Cylinder block.
The row of cylinder blocks made of cast iron are very resistant to corrosion. For all
cylinder numbers the rows of cylinder blocks are of three sections with end pieces
for two cylinders each at the aft and forward side. The rods which are parallel to
the cylinder axis relieve the castings of tensile stresses. The cylinder blocks and
sections are built as stiff brackets, so that the turbochargers can be mounted on the
coupling side or on its opposite.

Technical data are as follows:

Bore ... 650 mm

Stroke ... 650 mm

Piston displacement ................. 216 lit/cyl

Output ... 1600 bhp/cyl (1180 kw/cyl)
Speed ... 375 rpm

Mean piston speed .................. 8,12 m/s

Mean effective piston pressure ... 17, 8 kg/cm2 (17, 5 bar).



I1. Translate words and words — expressions into Russian.

Four- stroke diesel engine, design features to burn heavy fuel, a reversible prime-
mover, engine frame crankcase, limited weight and volume, main bearing, cast
steel cross girders, dismantling of the bearings, camshaft drive, torsional vibration
damper, cylinder axis, tensile stresses, stiff brackets, accessibility to moving parts,
gear wheel.

I11. Translate into English.

Bec u 00beMm, npuBoja pacripeqBaiia, TapaHTHUPOBATh JIOCTYI, LEIbHBIM KapTep,
yyryHHas Oajka, KpyTHIbHbIE KosieOaHus, cpenHedPp(HeKTUBHOE JaBJICHUE Ta3oB,
AUAMCTP HUJInHIpAa, BbIXOJHAas MOIIHOCTD, rapaHTupoBaThb HAOCTYII,
YCTBIPEXT aKTHBIN ABUTATCJIb, YCTAHOBKA, OCb HUJIMHAPA, pa36op1<a.

IV. Say in English.

Bhp/cyl; kw /cyl; r.m.p., m /c, m.m., kg/cm2, h.p., H.P, L.P, V- form.

V. Ask questions to the sentences.

1. The fuel ignited because of the high temperature of the compressed air.

2. To settle the problem of the engine weight they improved some of its parts.

3. The charge- air compressor and exhaust gas turbine are combined to form
supercharging unit.

4. The engine is offered with 6, 8&9 cylinders in line and 12&16 cylinders in V-
form.

5. The cylinder head carries two inlet and exhaust valves.

6. The rods relieve the castings of tensile stresses.

V1. Give nouns from the words and translate them.

Reversible, favourable, suitable, accessible, available, reliable, movable.

VII. Translate into Russian.

1. The rods were introduced to relieve the welded structures of the large ignition
forces reaching several hundred tons in large engines.

2. To improve running of the piston rings and reduce wear the pistons run in soft-
nitrited cylinder liners.

3. The cams with double contour allow the camshaft to be moved axially by

hydraulic servo without the need to lift tappets (manerr).



4. Most of the components are readily (without any trouble) accessible and special
purpose handling equipment is available to reduce overhaul time.

5. The row of cylinder blocks made of cast iron are very resistant to corrosion.
VIII. Translate into English.

1. [lmnnaapoBas BTyJNKa COCTOUT U3 IBYX YaCTEH.

2.B KOHCTPYKIHUH IMOPIIHA IPEAYCMOTPECHO OXJIAKACHUEC CMAa309YHBIM MACJIOM.
3. Kpbmnca MUWJIMH/IPpAa OCHAIICHA ABYMS BITYCKHBIMU W JIBYMS BbIITYCKHbIMU
KiIalTaHaMH.

4. Kiarmanamu YHPaBJIAIOT KyJIa4KH CO CIIAPpCHHBIMHW KOPOMBICJIIaMH.

5.V aroro aBuratens HeoObIYHAS KOHCTPYKLIHS.

6. I[JI}I HHTCHCHUBHOI'O OXJIQXKICHUS IIPOCBCPJICHBI OTBEPCTHUA.

IX. Answer the questions.

1. What fuel can this fuel burn?

2. What are the main technical data of the engine?

3. What demand had a great influence on the design?

4. What location of main bearings results in a favourable flow of the ignition
forces?

5. Where is the camshaft drive situated?



Bapuant 20
I. Read and translate the text “Akasaka 8 U 50 Engine””
The engine is built to operate at such a speed that it doesn't require to be coupled to
a reduction gearbox. The Akasaka 8U50 engine is a trunk piston medium- speed
unit which is produced in eight in- line cylinders and develops its rating of 813
b.h.p./cylinder at 340 rev/min. This machine is a development of Akasaka's earlier
6U50 machine which, though of less cylinders, was rated at 917 bhp/cylinder at
340 rev/min. The Akasaka 8U50 engine is a four- stroke machine with two inlet
and two exhaust valves which are actuated by rockers. The machine operates on
low- grade heavy fuel and, because of that, the exhaust valve seats are arranged for
fresh water cooling. The pistons are of the built- up type with an alloy steel crown
and cast iron skirt; cooling is by system lubricating oil. The entire construction of
the engine including the bed plate, cylinder block and cylinder covers, is of cast
iron. The bed plate is cast in two pieces and clamped together by horizontal stay
bolts at the centre of No, 6 cylinder. The crankshaft is of the solid type, balance
weights are fitted on each crank web. It is a turbo chargers are mounted one on
either end of the engine.
I1. Translate the English phrases.
To operate at a speed of, is not coupled to, a trunk piston engine; to develop its
rating of; entire construction, build up type; high grade fuel, low grade fuel,
actuated by rockers; a development of an earlier design, to be made of cast iron, is
mounted on; to be a turbo-charged engine.
I11. Form a comparative degree of the following adjectives.
Small, much, early, late, good, little, low, high, heavy, comfortable, complex,
effective.
IV. Give synonyms to.
Machine, velosity, pair, rating, emission, head, to install, to fix, decrease, to work
out, to be connected, to run, to be designed for, comprise, whole, every
V. Say in English.
30 0C, 15 m3, 340 rev/min, 810 bhp/cyl., 120 kg/cm?2.
VI. Ask questions to.

1. This engine operates at the speeds of 210 to 110 rev/min.



2. Air pressure of 7 kg/cm2 is applied to the cylinder during low load conditions.
3. Symmetrical cams were installed for fuel pumps.

4. Long stay bolts will secure the cylinder block to the entablature.
VIl.Translate into English.

1. Macno nogaercst K paMOBBIM MOAIINAITHUKAM.

2. MomHocTb 3toro asurarens 917 n.c. npu 340 06/MuH, HE CMOTpPSI Ha MEHbIIIEE
KOJIMICCTBO MUJIIMHIPOB.

3. Orot ABHUTATEJIb MOXKCT pa60TaTB Ha TOIINIMBE HU3KOT'O Ka4YE€CTBA.

4. I'osoBKa [MopIHsA U3 CTAJIBHOI'O CIlJIaBa, a 100Ka MOopIIHA — YyryHnHasd.

5. Ha kax oM 1jieue KpuBOIIKIA CTOUT MPOTHUBOBEC.

VIII. Answer the questions.

1. What are the peculiarities of Akasaka engine design?

2. What's its rating?

3. What type of engine does it concern?

4. What fuel can it operate?

5. What can you say about engine piston?

6. Where are balance weights fitted?



Bapuant 21
I. Read and translate the text «Types of Diesel Engines». Check your
comprehension by answering the questions.
Two-cycle and four-cycle diesel engines may be divided, according to structural
arrangement, as follows: trunk-piston type, crosshead type, single-acting, double-
acting, opposed-piston.
Trunk-piston and Crosshead Types
In the trunk-piston type the piston is attached to the crank by means of a
connecting rod. Connection of the upper end of the rod to the piston is made by
means of the piston pin, while the lower end is attached to the crankpin by means
of a bearing known as the crankpin box. The horizontal component of the
downward thrust of the piston, when it drives the crank, is taken by the piston and
results in a side pressure against the wall of the cylinder. To provide adequate
bearing so that this side pressure will have a low unit value, the piston is provided
with an extended skirt, or trunk, from which this method of construction gets its
name. This construction has the advantages that it reduces engine height and is
cheaper than crosshead construction. It is universally used for small engines and in
some cases for engines of quite large power. The crosshead type is usually
confined to large engines. The piston is connected to the crosshead by a piston rod
and the crosshead is in turn connected to the crankpin by a connecting rod. This
construction has the advantage of relieving the piston and cylinder wall of side
thrust and in the four-cycle engine permits to use a short piston. In the case of a
two-cycle engine the extended piston skirt is still required in order to keep the
exhaust and scavenging ports closed during the upstroke of the piston. This
construction is penalized by the extra height required to make room for the
crosshead and piston rod.
I1. Answer the questions:
1. How is the piston attached to the upper and lower ends of the connecting rod in
the trunk-piston engine?
2. What advantages does this engine have?
3. What advantage does the crosshead type engine have?

1. Ilepeseoume npednorcenun na anenuiickuii A3viK:



1. B XonoaHy0 MOroy ABUTATENh Mepe] ITyCKOM CIIeyeT IPOTrpeTh.

2. Ilocne mycka nBuratens ero padoTy MPOBEPSIOT MO MOKA3aTeNIsIM KOHTPOJIHHO-
U3MEPUTEIbHBIX TPHOOPOB.

3. Ocoboe BHIMaHME CIIETyEeT 0OpaTUTh Ha pabOTy CHCTEM CMa3KH M OXJIAXKICHUS:
4. Tlepen mycKOM IBUTATEIb JOJIKEH OBITh THIATEIEHO OCMOTPEH.

5. Yb6eaurech, YTO B TOIUIMBE HET BOJBI.

6. HeoOxoaumo onpo6oBaTh CUCTEMBI CMa3KH U OXJIKICHUS 10 MyCKa.

7. UadbopMupyiiTe MOCTUK O TOTOBHOCTH JIBUTATEIS.

8. IloBpImeHne TEMIICPATYPbI B CUCTCMC CMA3KH IMOKA3bIBACT, YTO IMOAIINITHUKH

HEePErPENHCh.

9. 3anucu B MalIMHHOM >KypHaJIe JOJKHBI IPOU3BOAUTHCS IO KpaiiHel Mepe

Ka)KIIbIM 4ac.

V. Ilepeeecmu cnosocouemanusn na pycckuil A3plK:



damaged exhaust valve seat
worn ring groove

to cut off from

to weld in place

to use heat

grinding

wear rate

shut-off fitting

ultrasonic test

to verify the scope of work
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«IIpogeccuonanbHbIe TEMbI. JJIEKTPOOOOPYAOBAHNE U MHCTPYMEHTBD)

1o yuyeOHoW aucuurinie MHOCTpaHHbIN S3bIK

(HaMMEHOBaHUE JUCLUIUINHBI)

CocraBurenb /E.H.T'opuikoBa/

(oamnucek)



BapuanT Nel
I. Translate the text.
The nature of electricity

The ancient Greeks knew that when a piece of amber is rubbed with wool or fur it achieves
the power of attracting light objects. Later on the phenomenon was studied, and, the word
electric, after the Greek word 'electron”, meaning amber was used. Many scientists investigated
electric phenomena, and during the nineteenth century many discoveries about the nature of
electricity, and of magnetism, which is closely related to electricity, were made. It was found that
if a sealing-wax rod is rubbed with a woolen cloth, and, a rod of glass is rubbed with a silken
cloth; an electric spark will pass between the sealing-wax rod and the glass rod when they are
brought near one another. Moreover, it was found that a force of attraction operates between
them. An electrified sealing-wax is repelled, however, by a wax rod, and also an electrified glass
rod is repelled, by a similar glass rod.

The ideas were developed that there are two kinds of electricity, which were called resinous
electricity, and that opposite kinds of electricity attract one another, whereas similar kinds repel

one another.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or
the Subjunctive mood.

I11. Answer the following questions:
1.  When was found electric phenomena?
2. What does a force of attraction mean?

3. What kinds of electricity are there?

IV. Supply some, any, no, where required
1. ... pupils went to the river, ... to the woods. 2. ... of my friends live in Moscow. 3. ...Have
you ... English dictionaries? 4. Is there ... ink in the inkstand? Yes, there is... 5. Bring

...chalk, please. 6. There is ... chalk in the box. 7. Is there ... milk in the jug? Yes, there is

V. Fill in blanks with the Past Progressive or the Past Simple Tense of the verbs in margin.

1. We ... to a lecture yesterday at ten o'clock. listen

2. She ... the piano from 11 till 12 o'clock. play

3. Whenhe ... in, | ... my exercises. come, do
4. What ... you yesterday at 8 o'clock? do



5. Yesterday when I ... the newspaper, my sister ... to a concert over the radio. read, listen
6. She ... out of the window when I ... her. look, see
7. | ... along the street with my friend when the car ... by. walk
V1. Choose the correct variant
1. Before you ____, don't forget to lock the door.
-are leaving -will leave -leave -shall leave
2. Please do not speak to anyone before the police .
-come -are coming -’ll come, came
3. His parents will be very glad if she___ the university.
-enter -’Il enter - enters - entered
4. Whenyou _ my brother,you ___ him.
-'ll see; - won't recognize; - see won't recognize; -saw, recognize; -'ll see, don't recognize

5. We won't discuss the matter until the headmaster

-l arrive -won’t arrive - doesn’t arrive- -arrives



Bapuant Ne2
I. Translate the text:
What is electricity?

Have you ever gotten a shock when you touched a doorknob, or seen sparks fly when you
combed your hair? That's electricity.

Electricity is a type of energy that gives things the power to work. This energy comes from
electrons. Scientists have learned how to use electrons to produce electricity.
Classes of electricity.

The study of electricity may be divided into three classes or branches: magnetism,
electrostatics, and electrodynamics. Magnetism is the property of the molecules of iron and
certain other substances through which they store energy in a field of force because of the
arrangement movement of the electrons in their atoms. Electrostatics is the study of electricity at
rest, or static electricity. Examples of this type of electricity are charges on condenser plates.
Rubbing glass with silk produces static electricity. Electrodynamics is the study of electricity in
motion, or dynamic electricity. The electricity which flows through wires for light and power

purposes is a good example of latter type of electricity.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or
the Subjunctive mood.

I11. Translate the text:

OGopynoBaHusi pa0OTAOMIEr0 HAa OCHOBE WCIIOJIIB30BAHUS BO300HOBISIEMBIX HCTOYHUKOB
3Hepr1/m JId4 aBTOHOMHOTI'O TCIIJIO- H BHGKTpOCHa6)K€HI/I$I YaCTHBIX AOMOB H BHaHHﬁ. C cro
IMOMOIIBKO MOXXHO YaCTHYHO HJIM IMOJHOCTBIO IMOKPBITH 3HEPro3arparhbl MPAKTUYCCKHU J'IIO6OFO
00BEKTA.

- COJIHCYHEIC BaKyyMHBIe BOI[OHaneBaTeJII/I JUTA KPYTJIOFOI[I/I‘IHOFO HpOI/IBBO,Z[CTBa FOpH‘ICfI BOAbI
- BETPOTE€HEPATOPHI TSl BBIPAOOTKU HJIEKTPOIHEPTUH.

- COJIHEUHBIE (POTOANEKTpUUECKUE OaTapen W TOBaphl HA MX OCHOBE — 3apsiIHBIC YCTPONCTBA,
dbonapu.

- 3HeprodPPEeKTUBHBIE CBETOAMOIHBIC JIAMITHI

IV. Fill in the blanks with the articles a, an, the, where necessary.

We live in ... nice flat ... new house near ... park. ... flatis on ... second floor. There are ... two
rooms in it. We have also ... kitchen and ... bathroom. ... kitchen is ... big enough. As ... rule, my
mother cooks for us. We spend ... lot of ... time together in ... kitchen. There is ... TV set in



... corner of ... kitchen, and we often watch ... TV there.

V. Replace the infinitives given in brackets by the Future Progressive or the Present Simple:

1. The delegation (to start) for London as soon as they (to receive) their visas.

2. At the travel bureau they (to tell) you exactly when the train (to leave).

3. Ask the Smith if it (to take) him long to make a duplicate of this key.

4. | (not to think) I (to be able to) call on them and (to say) good-bye before | (to go)
abroad.

o

If you (not to want) to climb the tree you can shake it and the apples (to fall) down to the

ground.

o

If I (to go) to Moscow | usually (to stay) at my friends.

~

Ask him when he (to. finish) packing.

VI. IlepeBenute npemioxenus. OnpeaenuTe, Kakoe 3HaYeHUEe MPHUOOPETAIOT BBIACIEHHBIC CJIOBA
B KOHTCKCTC CICAYIOIIUX HpGI[JIO)KGHHfI.
1 .The soldier is now at his post. 2. The man did his best to get a better post.3.1 will send you the

book by post. 4. The wooden gate was supported by two metal posts.



Bapuant Ne 3
I. Translate the text.

Electroscope

An electroscope is a sensitive instrument for detecting small electric charges. It consists of a
glass-jar closed with a stopper of insulting material in which is fitted a varnished glass-tube. A
rod passes through the tube. At the top of the rod there is a metal ball or disc at the bottom of the
rod two pieces of gold leaf are suspended. When is charge is brought near the electroscope, a
charge of opposite sign is induced on the metal ball, and a charge of the same sign appears on the
two of the gold leaves. Since, the two pieces of gold leaf now have charges of like sign they
repel each other.

As an example a negatively charged glass rod is brought to the electroscope. A positive
charge is induced on the ball and a negative charge appears on the two pieces of gold leaf.

The polarity of a charge may be determined by means of an electroscope. We charge the
electroscope negatively by touching the ball with the rod of hard rubber which is rubbed with
flannel or silk. If the unknown charge is brought to the electroscope it will induce on the ball a
charge of opposite polarity and on the gold leaves a charge of the same polarity as that of the
unknown charge. Therefore, if the unknown charge is negative, the gold leaves will repel each
other; if it is positive, they will attract.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

[1l. Translate the text.

OJIEKTPOCKOII, mnpubop nans oOHapyXeHUs dJeKTpuueckoro 3apsga. HawmbGoiee
pacipoCTpaHeH JJIEKTPOCKOI C 30JO0THIMH JTUCTOYKAMHU, B KOTOPOM JBE 30JI0THIC IJIACTHHKH,
IIPUKPEIUICHHBIE K IPOBOJHUKY, IOMEILECHBI B H30JIMPOBAHHBIA Kopmmyc. Ecim K cTepxkHIO
NIPOBOTHUKA TIOJIBECTH JICKTPUICCKHIA 3apsi]], TUIACTHHKH Pa30MIyTCs, U CTENICHb PACXOXKICHHS

YKa3bIBaeT Ha BEJTMUMHY 3apsijia.

IV. Fill in the pronouns.

When Mary came to the dining room ... took off ... coat and sat down. The waitress soon brought
... some soup. When Mary finished ... dinner ... looked at ... watch, put on ... coat and went out.
(Now Mary tells her little brother John what he must do when he goes to the dining room): ...
must take off ... coat and sit down. Then the waitress will bring ... some soup. When



... finish ... dinner ... must put on ... coat and go out.

V. Use the Present Indefinite, the Present Perfect or the Past Indefinite.

1. You ever (to be) to the picture gallery?-Yes, I (to be). I (to visit) it once when | was a youth
and the pictures (to make) a great impression on me. Since then | (not to be) here.

2. You already (to see) the new Indian film? - Yes, | (to see) it. | (to manage) to see it yesterday.
I (to go) to the cinema in the evening and (to get) two tickets easily.

3. You always (to take) books from our library? - Yes, as a rule, | (to take).

4. | (not to see) Jane lately. When you (to see) her last? -1 (to meet) her two days ago. | (to
think) that she (to change) very much.

5. You (to have) dinner already? -No, not yet. The waitress (to take) my order fifteen minutes
ago and (not to bring) me anything yet.

6. Where you (to get) this fine new bicycle from? - My parents (to give) it to me as a birthday

present.

VI.  Choose the correct variant
1. I want to go shopping but if you to come, you

-want, need -not want, needn't -don't want, needn't -do want, needn't
2. If you on this tram it'll take you to the downtown.
- "Il get - have got - got -get
3. He to the country tomorrow if the weather is fine.
- go -goes -'ll go -'d go

4. You'll understand nothing unless you the book yourself.
- read -won't read -don't read - 'll read
5. You'll understand this rule after your teacher it to you.

- 'll explain - explain -explains - don't explain



Bapuant Ned
I. Translate the text.
Electric currents and their properties

Conduction is the name normally given to a movement or flow of charges. The charges are
usually electrons, but may also be ions when the conduction takes place in gaseous or liquid
conductors, in which the ions are mobile.

How does the current flow through a wire? A metal is made up of tiny crystals which are
visible under a microscope. A crystal is a regular and orderly arrangement of atoms. As it was
explained, an atom is a complex particle in which tiny electrons move around nucleus. When the
atoms are tightly packed as they are in a metallic solid, some of the electrons move freely
between the atoms. These are called free electrons. Ordinarily, the free electrons move at random
through the metal. There must be some driving force to cause the electrons to move through the
metal conductor. This driving force tending to produce the motion of electrons through a circuit
is called an electromotive force or e.m. f. that moves electric charges from one point in the
circuit to another.

When an electromotive force is applied to the ends of a wire the free electrons move in one
direction. It is the movement of the free electrons in a conductor that induces an electric current.
The greater the number of participating electrons, the greater is the flow of current.

No one has ever seen analectic current. We only know of the existence of a current by its
effects. A current can heat a conductor, it can have a chemical action when passing through a
solution, or it can produce a magnetic effect. We can measure currents by observing their
heating, their chemical, or their magnetic effects.

There are some kinds of current, namely: a direct current (d. c, for short), an alternating

current (a. ¢.) a pulsating current

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or
the Subjunctive mood.

[1l. Translate the text.

T'ajoreHHBle JIaMIBI  CTaU NpUMCHATL U B GBITy, TaK KaK OKa3aJIuCb AO0CTAaTOYHO
S9KOHOMHWYHBIMU U y,Z[O6HI>IMI/I B OKCILTyaTalluu. I'amorennas JlaMIia, B CYHIHOCTH, SBJISACTCA
JaMrol HakKaJduBaHHs, TOJBKO BMECTO BaKyymMa B HeW HaXOAMTCS CIEIUalbHAs CMECh, Kak
MpaBuJjIo, colepkalias OpoM WM KO, KOTOpas MOBBIIIAET CBETOOTHauy Jjamnbl. [Ipu Toit ke
MOIOHOCTHU, YTO U JiaMIla HAKAJIMBAHUSA, TAJIOFCHHAA JIaMIla UMCECT MCHBIINEC Pa3MCpbl, CBCTUT

Ooee spKo.



IV. Fill in the prepositions:

It was two o'clock when John went ... the dining-room to have dinner. Peter was already
there. He sat ... a table with a book ... his hands. John took the menu ... the next table. When the
waitress came, he ordered some soup and meat. "Can you bring me some white bread?" asked
John. "Yes, of course, I can", answered the waitress, "I shall bring you some ... a minute". She
came back ... a few minutes. "What will you have ... dessert?" she asked. John asked her to bring

him some ice-cream. "I'm sorry", said the waitress. "It will only be ready ... half an hour".

V. Put these sentences in the Future and in the Past:

1. The tourists are shown many places of interest in our town.
2. The Moscow University is greatly admired by everybody.
3. New metro station is built in our town.

4. The poem is recited in our group.

5. We are told to wait outside.

VI. Use the Past Indefinite or the Past Perfect:

1. They (to complete) all the preparation for the fancy-dress ball by 5 o'clock.

2. On leaving the hospital the man (to thank) the doctor who (to cure) him of his disease.

3.In the morning all the passengers (to feel) good after the night they (to spend) in the
comfortable sleeper.

4. During my last visit to the picture gallery | (to find) that I no longer (to like) the pictures
which (to impress) me when I first (to see) them. Evidently my taste (to change).

5. Last night he (complete) the experiment which he (to begin) some months, before.

6. They (to be) friends for some ten years before | (to meet) them.



Bapuant NeS.
I.  Translate the text.

Conductors, insulators, semiconductors Conductors are materials that have a large number
of loosely bound valence-ring electrons; these electrons are easily knocked out of their orbit and
are then referred to as free electrons. Insulators are materials in which the valence-ring electrons
are tightly bound to the nucleus. In between the limits of these two major categories is a third
general class of materials called semiconductors.

Capacity
When two insulated conductors, one of which is charged, are brought into contact, the charge
spreads over both conductors. The uncharged conductor becomes charged. A larger conductor
receives a larger part of the charge. The potential of the two conductors becomes the same as
soon as they are brought into contact, but the quantity of electricity is not the same on each. The
larger portion of the charge is on the larger conductor.

We say that the conductors have not the same capacity for electricity. The capacity of the

conductor depends upon its size.
The capacity of the conductor is measured by the quantity of electricity which must be given
to it in order to raise its potential to a given amount.
From this definition it is seen that if the capacity of a conductor increases while the quantity of
electricity on it remains constant, its potential will become less.
Condenser
Any arrangement by which the capacity of a conductor is increased artificially is called a

condenser.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

[1l. Translate the text.

TexHuka 6e30macHOCTH:

Hu B KkoeM ciydyae Henb3s OJHOBPEMEHHO JOTPAaruMBaTbCs A0 OBITOBBIX TNPHOOPOB H
3a3eMJICHHBIX IPEAMETOB (BOJIONPOBOAHbIE TPYObI, OaTapen HEHTPAIbHOTO OTOIUICHHS U T. 1.).
BriosiHe BO3MOKHO, 4TO Ha KOpIyc ObITOBOro nprbopa mpoOuBaeT 31eKTpuIecTBo. B mociennee
BpeMsi Bce Oouble U Oosbllie TPHOOPOB MMEIOT 3a3eMJICHUE. DTO JAeNaeTcs JJisa oOecreueHus
O6e3omacHOCTH TToTpeduTeseii. Takue ObITOBBIE TPHUOOPHI UMEIOT TPEXHKMIIBHBIN IIHYP U BUJIKY C

TPEMs KOHTAKTaMH.



IV. Fillin the blanks with the articles a, an, the where necessary.

| have ... hobby. | like to cook. During my leisure time | make ... cakes and pies. It is not

difficult to make ... pie. Sometimes my brother helps me. He is ... good boy and we get along

well with ... each other. My brother usually goes ... shopping and buys ... different things, which

are necessary for ... cooking. My cakes are tasty but I like ... pies ... best of all.

V. Use the Present Indefinite or the Present Perfect.

1.
2.
3.

As arule I (to have) ham and eggs for breakfast, but this time I (to order) an omelet.

This is the house where | (to live). I (to live) here since childhood.

Once in a week | (to write) letters home, but I (not to write) one this week, so my next letter
must be particularly long.

Where (to be) your monitor? "She (to go)" to the library.

I regularly (to see) him every morning at the tram stop, but I (not to see) him these two or
three days.
It (to be) cold in winter in Moscow as a rule? - Yes, generally it (to be), but this winter (to be)

exceptionally warm.

Why you (not to shave) in the morning?-1 (to shave) every other day.

V1. Use the Passive Voice.

A guide will show the visitors the new buildings.

Someone told him to make a report on ancient architecture.

Mr. Smith taught her Greek and gave her a dictionary.

The teacher told John to learn the alphabet.

I will tell you another fable next time.

They invited the rest of us to go sightseeing.

The guide showed the American the Houses of Parliament.



Bapuant Ne6
I. Translate the text.

Potential and difference of potential

Two bodies oppositely charged have a difference of potential or voltage is measured by the work
required to carry a unit of positive charge from one body to another against the force of attraction or
repulsion. The magnitude of the difference of potential depends upon the concentration of the charge and
not on the amount of the charge.

If appositively charged body and a negatively charged body are brought in contact, electrons from
the body with negative charge will move over to the body having the positive charge until an equilibrium
of charge has taken place.

There is a very instructive analogy between the use of the word "potential” in electricity and
"pressure™ in hydrostatics. Just as water tends to flow from points of higher hydrostatics pressure to points
of lower hydrostatic pressure, so electricity tends to flow from points of higher electrical pressure, or

potential, to points of lower electrical pressure, or potential.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I1l. Translate technical terms and phrases.

AmnHanorosrsie QJICKTPOU3MCPUTCIILHBIC HpI/I60pBI

AMHepMCTpBI, BAaTTMCTPBI, BOJBTMETPBI, USMCPUTCIILHBIC Hp€06paBOBaT€J'H/I, HWHAYKIIMOHHBIC, CYCTUYUKHU,
KOHTPOJIbHO-U3MCPUTCIILHBIC HpI/I60pBI, MAarHuTOJMHaAMHUYCCKUEC HpI/I60pBI, MAarHuTO3JICKTPUYICCKUC
npuOOPBI, MyJIBTUMETPBI, OMMETPBI, IPUOOPHI BHIIPSIMUTEIBHOTO THIIA, TEPMOINECKTPUUYECKHE IPHOOPHI,
(baBOMeTpBI, (l)eppo,Z[I/IHaMI/I‘leCKI/Ie HpI/I60pLI, YaCTOTOMCEDHI, ]_[I/I(l)pOBBIG QJICKTPOU3MEPUTCIbHBIC

HpI/I60pBI, DJICKTPUYCCKUC C‘léT‘{I/IKI/I, SJICKTPOMAIrHUTHBIC HpI/I60pBI, QJICKTPOCTAaTUYCCKUC HpI/I60pBI.

IV. Supply many, much or little, a little.

When we came to the dining-room there were ... people there already. We sat down at a table, took the
menu-card and began to read it. "I shall not eat ... today", said. "... soup, some milk and ... cake-nothing
else". "I never eat very ... said Mary. "But today | am hungry, and | want to eat as ... as | can: soup, meat,
fish and potatoes". "But it will take a lot of time", said Peter, "and we have very ... time, you know. We

have ... things to do before the lecture begins".

V. Fill in the prepositions where it is necessary.
This writer is known all ... the world. Many people are fond ... his books. | read one of his novels ... a
month ago. He tells his stories ... such a way that you remember them ... a long time. Although his

characters are imaginary it always seems that they live ... real life. ... the beginning of the year they made



a trading expedition ... Africa. Crusoe, left ... saying good-bye to anyone. .. . his way ... London he had

his first experience ... a shipwreck. The ship ran ... a rock and broke ... pieces. The sailors were swallowed

... the sea.

VI. Use the Present Continuous instead of the infinitives given in brackets:

1
2
3
4,
5
6
7

. Look the sun (to rise). It is (to shine) brightly.

. John (to polish) his boots and his sister (to press) her dress.

It (to rain)? Yes, it (to rain) very hard. 6. The delegation (to leave) Moscow tomorrow.

What you (to read) now? | (to read) stories by Maugham.

. 10 The weather is fine. The sun (to shine) and the birds (to sing).
. Why you (to speak) so fast?

. Who you (to wait) for? | (to wait) for my sister.



Bapuant Ne7
I. Translate the text.

Unit of electrical current and current measurement

The electron is an extremely small unit, and for thus reason it is not a convenient unit to use
in the measurement of electric current or of quantity of electricity. The presence of an electric
current in a circuit may be detected and its strength may be measured by a number of different
methods. Each method is based upon some effect which the current produces under given
conditions.

One of these effects is known as electrolytic dissociation. The properties of most conducting
liquids are such that when a direct current is maintained in them, the constituent elements of the
liquid are separated. For example, when two copper plates are dipped in a solution of copper
sulphate and a direct current is maintained in a liquid entering at one plate, the anode, and
leaving at the other, the cathode, metallic copper leaves the solution and is deposited on the

cathode.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

[1l.Translate the text.

TexHrKa 6€30MaCHOCTH:

Urobb1 o0e3omacuTh ceds OT BO3JACHCTBUS 3JIEKTPUYECTBA, MPUHATO paboOTaTh B PE3MHOBBIX
nepyaTkax WM CTOSITh Ha PE3MHOBOM KOBpHKE. DIIEKTPUKU (KakK, BOPOYEM, U HE AJIEKTPUKH)
OepyTCsl IOYMHUTH PO3ETKY WJIM JAPYTrON SJIEKTPUUYECKH MPUOOp, HE OTKIOYas TOK. B Takom
CJIyduac OHU 06H3aHBI BBITIOJIHATE TOJIBKO OJHO IMPAaBHJIO: HC 3aMbIKATh COGOﬁ SJICKTPHUYCCKYTO
Ierb. HOBTOMY OHHU HE€ JOJI’)KHBI KaCaTbCs KaKI/IX-HI/IGyI[I: IMPOBOAHUKOB 3JICKTPUYCCTBA, 4 TAKIKC

000MX KOHTaKTOB 3JIEKTPHUUECKOT0 IIPOBO/Ia OJTHOBPEMEHHO.

IV. Fill in the blanks with the preposition required. Translate the sentences into Russian.

... week-days we work. We rest ... Sundays. | get up ... the morning. We sleep ... night. She
promised to do this work ... time. We have our vacation ... January. We live ... the twentieth
century. We tell the ... a clock or a watch. Our child is in the fresh air ... morning ... night. My

father comes home ... noon.

V. Use the Present Simple or the Present Progressive:



1. Why you (walk) so fast today? You usually (walk) quite slowly.-1 (hurry). | am afraid to miss
the train.

2. Cuckoos (not to build) nests. They (to use) the nests of other birds. 3.1 always (to buy) lottery
tickets, but I seldom (to win)

4. You cannot (to have) the book now because my brother (to read) it.

5. Some people (to do) everything with their left hand.

6. Who (to make) that terrible noise?-It is my son.

7. How you (to feel)?

V1. Use an adjective or a proverb.

What is the (proper) answer to this question?

If you read this joke (proper) you will understand it.

It was a (gay) song and she sang it (gay).

She spoke very (good) and everybody wondered where she had learnt to speak so fluently
She was (kind) to him and he was (happy).

The children were running among the trees laughing (happy).

N o g~ D oRE

He is a very (careful) driver.



Bapuant Ne8

I Translate the text.

How does it work?

It takes billions of electrons to make electricity operate. Electrons move through an electric wire in
much the same way water moves through a garden hose. Turning on the faucet pushes the water through
the hose. Pushing electrons makes electricity move through the wire.

The machine that pushes the electrons through the wire is called a generator. The wire from the generator
goes to your home and into a control center, which is either a fuse box or a circuit breaker.

The fuse box controls how much electricity you use. If you try4o use too much, you will "blow a
fuse"”, and the electricity from that fuse will be cut off. A circuit breaker works differently from a fuse
box. A circuit breaker does not let you use too much electricity. It cuts off the flow before there's an
overload.

If you did not have a fuse box or circuit breaker, your electric wires could overheat and start afire!

From the fuse box or circuit breaker, the wires go inside your walls to light switches and sockets.
Turning on the light switch lets the electricity flow to the light, and the light goes on. When you put a
plug into a socket, electricity comes to the socket. But it doesn't flow into the lamp until the switch is

turned on.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I11.Translate the text.

TexHuka 6e30macHOCTH:

Hu B KkoeM ciydyae Henb3s OJHOBPEMEHHO JOTPAaruBaTbCs A0 OBITOBBIX TNPHOOPOB H
3a3€MJICHHBIX MIPEeIMETOB (BOAOIPOBOIHBIC TPYObI, OaTapeu IEHTPATLHOTO OTOIICHUS H T. II.).
Bo3MoxHO, 4TO Ha KOpIyc OBITOBOrO MpUOOpa MpOOUBAET IEKTPUUECTBO. B mocnennee Bpems
Bce Ooipmie W OonbIle MPUOOPOB HMMEIOT 3a3eMJICHHE. ODTO JenaeTcs s oOecreueHus
O6e3omacHoCTH TToTpeduTeseil. Takue ObITOBBIE TPHUOOPHI KMEIOT TPEXXKMIIBHBIN IIHYDP U BUJIKY C

TPEMS KOHTaKTaMH.

IV. Supply somebody, anybody, nobody, (no one, none), something, nothing, everybody,
everywhere nowhere, somewhere, anywhere where required.

1. Good morning...! 2. He never goes by train: he goes ... by plane. 3. There is ... here. 4. He did ... all
day yesterday. 5. They want chairs. They have ... to sit. 6. ... of the pupils will go to school. It is too cold.
7. ...is coming to see us. 8. She will tell us ... about her holidays.9. He will go ... to have a little rest. 10.

Is ... coming to inspect us? 11. Have you ... interesting to tell us? 12. Haven't you ... to go?



V. Replace the infinitives given in brackets by the Past Indefinite or the Past Continuous.

1. John (to write) the label when the bell (to ring) and a short man (to enter). A dog (to follow) him.

2. There (to be) silence while the man (to look) John up and down.

3. I (to see) the light in your windows as | (to pass).

4. During the dinner while he (to eat) his piece of cold meat, his aunt (to help) herself to wine.

5. While he (to read) a newspaper she (to sit) studying him, and by the look in her eyes he (to see) that
she (to reflect) on something concerning him.

6. Jim half (to dream) still when he (to come) to the place of his destination.

V1. Choose the correct variant

1. I want to go shopping but if you to come, you
-want, need -not want, needn't -don't want, needn't -do want, needn't
2. If you on this tram it'll take you to the downtown.
- "Il get - have got - got -get
3. He to the country tomorrow if the weather is fine.
- go -goes -'ll go -'d go
4. You'll understand nothing unless you the book yourself.
- read -won't read -don't read - 'll read
5. You'll understand this rule after your teacher it to you.

- 'll explain - explain -explains - don't explain



Bapuant Ne9
I.  Translate the text.
Kinds of circuits

Circuits can be divided into four classes: series, parallel, combination of serial-parallel, and
network.
Series circuits are those having one closed path for the flow of electricity. All the elements, or
devices which make up the circuit are connected in tandem, one after the other, so that the end of
one is connected to the beginning of the other; or, in other words, the positive terminal of one is
connected to the negative terminal of another. If the series circuit is opened anywhere, the
current will not flow through the circuit.

A parallel circuit is one divided into two or more branches, each brand carrying part of the
current. Another way of saying the same thing is that all the elements or devices are connected
so that one half of the terminals are fastened to a common conductor, and the other half are

fastened to another common point, or another conductor.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

[11. Translate the text.

[leperpy3ka SJEKTpUYECKOW CETH SBJSETCS OJHOM W3 CaMbIX PaCIpPOCTPAHEHHBIX MNPUYHH
KOPOTKOTo 3aMbIkaHusi. KopoTkoe 3aMbIKaHHE MOXKET MPOU30UTH U U3-3a BO3JACHCTBUS BIIar.
DJEeKTPOYCTaHOBOYHBIE YCTPOMCTBa — PO3ETKM U BBIKIIOYATETH  TaKXe JOJDKHBI OBITh
BJIaro3amuiicHHbIMH. BHyTpeHHHH IMMpoOBOAKA, a €CJIM 3TO HCBO3MOXKXHO, TO BHCIIHASA MMPOBOJAKA

JOJI’KHA OBITH XOPOILO U30JIMPOBaHA.

IV. Fillin the blanks with the articles a, an, the where necessary.

I have ... hobby. I like to cook. During my leisure time | make ... cakes and pies. It is not difficult
to make ... pie. Sometimes my brother helps me. He is ... good boy and we get along well with

.. each other. My brother usually goes ... shopping and buys ... different things, which are

necessary for ... cooking. My cakes are tasty but | like ... pies ... best of all.

V. Fill in the prepositions.
It was two o'clock when John went ... the dining-room to have dinner. Peter was already there.
He sat ... a table with a book ... his hands. John took the menu... the next table. When the

waitress came, he ordered some soup and meat. "Can you bring me some white bread?" asked



John. "Yes, of course, | can”, answered the waitress, "I shall bring you some ... a minute". She
came back ... a few minutes. "What will you have ... dessert?" she asked. John asked her to bring

him some ice-cream. So they took some milk, paid ... their dinner, and went out ... the street.

VI. Use the Future Perfect where possible:

1 I am afraid we (not to solve) all the problems by the time they (to come).

2 Let me know as soon as you can (to make) an appointment with him.

3. After the clerk (to decode) the telegrams he (to take) them to the chief,

4 I am sure he (to throw) some light upon this matter before | (to learn) about it

from my sister's letter.

o

The secretary (to look through) all the papers by the time the director (to come).
6. Do not start arguing until you (to hear) what | have to say.

7. If you do not hurry, the train (to leave).



BapuanT Nel0
I. Translate the text:
Measuring devices

Ammeters and Volt meters. - Ammeters measure the current flowing in a circuit and
normally have scales which are graduated or calibrated in amperes, milliamperes or
microamperes.

Voltmeters are used to measure the potential difference between two points in a circuit. The
calibration of voltmeters is usually in volts, millivolts or microvolts.

The main difference between the two instruments of the same type or design is in the
resistance of the operating coil, identical moving units may be used for either meter. An ammeter
Is connected in the positive or negative lead in series with a circuit and, therefore, must have a
low resistance coil, otherwise the readings will be incorrect as the coil would absorb an
appreciable amount of power.

A voltmeter is connected in parallel across the points of a circuit where the difference of
potential is to be measured. The resistance of the operating coil must, in this instance, be as high
as possible, to limit the amount of current consumed by it, or else a drop in potential due to the
meter would occur and the pointer indication would not represent the true potential difference
across the circuit.

Wattmeters .- The measurement of the power in a D. C circuit at any instant can be achieved
by means of an ammeter and voltmeter as the power in watts is the product of the current and the
voltage. With A.C. circuits, however, the instantaneous values are always changing. To measure
A.C. power correctly, therefore, it is necessary to use the third instrument to measure the phase
difference. The normal practice, however, is to combine these three instruments in one which

will give a direct reading of power in watts.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I1.Translate the text.

DIIeKTPOUHCTPYMEHTHI.

Kak mpaBmio, B MHCTpYMEHTaX 3JCKTPUYECTBO HCIOJIB3YETCS ISl BBIPA0ATHIBAHUS MEXaHUYECKOW
OHEPTHUU, OJJHAKO €CTh U TaKWMEC MHCTPYMCHTEI, KOTOPBIC BBIpa6aTI)IBaIOT TCIUIOBYIO DHEPTHUIO: MasdJIbHUK,

Kajopudep.

IV. Fill in the prepositions where it is necessary.



This writer is known all ... the world. Many people are fond ... his books. | read one of his novels
... amonth ago. He tells his stories ... such a way that you remember them ... a long time.
Although his characters are imaginary it always seems that they live ... real life. ... the beginning
of the year they made a trading expedition ... Africa. Crusoe left ... saying good-bye to anyone.

... hisway ... London he had his first experience ... a shipwreck. The ship ran ... a rock and

broke ... pieces. The sailors were swallowed...the sea.

V. Replace the infinitives given in brackets by the Past Indefinite or the Past Continuous
1. John (to write) the label when the bell (to ring) and a short man (to enter). A dog (to follow)
him.

2. There (to be) silence while the man (to look) John up and down.

3. I (to see) the light in your windows as | (to pass).

4. During the dinner while he (to eat) his piece of cold meat, his aunt (to help) herself to wine.

5. While he (to read) a newspaper she (to sit) studying him, and by the look in her eyes he (to
see) that she (to reflect) on something concerning him.

6. Jim half (to dream) still when he (to come) to the place of his destination.

VI.Change the verbs in bracket by Gerunds. Put prepositions where necessary.

I have no intention ... (to stay) here any longer. She insisted ... (to help) me. Are you fond of

... (to play). They have had very much experience ... (to cast). There was no possibility ... (to
come) in time. There is little chance ... (to see) him today. We have the pleasure ... (to invite)

them to the evening party. We are proud ... (to fulfill) that task ahead of time.



Bapuant Ne 11
I.  Translate the text.
What is electricity?

Have you ever gotten a shock when you touched a doorknob, or seen sparks fly when you combed

your hair? That's electricity.
Electricity is a type of energy that gives things the power to work. This energy comes from electrons.
Scientists have learned how to use electrons to produce electricity.
Meghometer

The most commonly used apparatus for insulation resistance is the meghommeter or "megger"”. The
device is easy to handle. It consists of a hand-driven generator in a permanent magnet frame which causes
a moving coil to register the insulation resistance in ohms or megohms, the amount of which is indicated
by a pointer.

The "megger" is also used for continuity, ground, and short-circuit testing in general electrical power
work.

Electricity- Sound and Light

Flip a switch and a light goes on. It's simple, right? Wrong! Every time you flip a light switch, you
make billions of little electrons go to work for you. Uncountable hours of work have gone into providing
you with the electricity you need to turn that light on. Without electricity you wouldn't have telephones,

television, video games, and many other things you use every day.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I11.Translate the text.

TexHrKa 6€30MacHOCTH:

Urobb1 o0e3omacuTh ceds OT BO3JACHCTBUS 3JIEKTPUYECTBA, MPUHATO paboTaTh B PE3MHOBBIX
nepyaTkax WM CTOSITh Ha PE3MHOBOM KOBpHKE. DIIEKTPUKU (KakK, BOPOUYEM, U HE AJIEKTPUKH)
OepyTCsl IOYMHUTH PO3ETKY WJIM JAPYTrON SJIEKTPUUYECKH MPUOOp, HE OTKIOYas TOK. B Takom
CJIydyac OHU 06H3aHBI BBITIOJIHATE TOJIBKO OJHO IMPAaBHJIO: HC 3aMbIKATh COGOﬁ SJICKTPHUYICCKYTO
IeIrb. HOBTOMY OHHU HE€ JOJI’)KHBI KaCaTbCs KaKI/IX-HI/IGyI[I: IMPOBOAHUKOB 3JICKTPUYCCTBA, 4 TAKIKC

000MX KOHTaKTOB 3JIEKTPHUUECKOT0 IIPOBO/Ia OTHOBPEMEHHO.

IV. Fill in the blanks with the articles a, an, the and prepositions, where necessary:
We live in ... nice flat ... new house near ... park. ... flat is on ... second floor. There are ... two rooms in it.
We have also ... kitchen and ... bathroom ... kitchen is ... big enough. As ... rule, my mother cooks for us.

We spend ... lot of ... time together in ... kitchen. There is ... TV set in



. corner of ... kitchen, and we often watch ... TV there The young scientist shook hands ... his friends

who had come ... the airport to see him ...

V. Fill in blanks with the Past Progressive or the Past Simple Tense of the verbs in margin.

1.1... aletter to my friend yesterday . write

2. We ... to a lecture yesterday at ten o'clock. listen

3. She ... the piano from 11 till 12 o'clock. play

4. When he ... in, | ... my exercises. come, do
5. What ... you yesterday at 8 o'clock? do

6. Yesterday when 1 ... the newspaper, my sister ... to a concert over the radio. read, listen
7. She ... out of the window when I ... her. look, see

VI. Choose the correct word form those given in brackets:

1 .When | saw that actress on the stage for the first time, she (to look like, to take after) a small girl. From
her biography I learnt that she (to look like, to take after) her mother, who had also been a great actress. 2.
If you want some information on trade, go to the Ministry library. There are a lot of good (magazines,
journals) on the subject there. 3. After coming home from work, my father likes to spend an hour reading

(a newspaper, a magazine).
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1. Translate the text.
How electrical energy is produced

There are several methods of producing electricity for practical purposes. The battery of a
pocket torch may be contrasted with the source of enormous energy represented by a larger
power station. Both are examples of the application of electrical energy to a particular purpose,
and in general the purpose determines the nature of the method used to produce the energy.
Practical methods of producing electricity may be enumerated as follows:

1. Chemical, as represented by the various types of batteries or primary cells in which the
electricity is produced by purely chemical actions.

2. Electromagnetic, forming the basis of operation of rotating generators in which the
electricity is produced by conductors moving through a magnetic field.This is the method
employed in practice for generators of various sizes.

3. Thermo-electric, in which the heating of the junction between two different metals
produces a very small voltage which may be used for purposes of temperature measurement and
as a source of power.

4. Piezo- electric, in which a very small voltage is produced across certain faces of a crystal
by application of mechanical pressure. This effect is used, for example, as a means of frequency
control in radio oscillators or for gramophone pick-ups, but it is not suitable for power supply.

5. Electronic, characterized by the flow of electrons through evacuated or gas-filled tubes,
and having the following forms: a) thermionic emission, in which the electrons are produced by
the heating of special materials; b) photo- electric emission, in which electrons are liberated at
the surface of certain substances by the action of light; ¢) secondary emission, in which electrons
are driven from a material by the impact of electrons or other particles on its surface; d) Field
emission, in which electrons are drawn from the surface of a metal by the application of very

powerful electric fields.

Il. Translate the text.

TexHuka 0€30IaCHOCTH:

BeiToBBIE TIPUOOPBI, HMMEIOUIME 3aAIIUTy OT BO3ACUCTBUS BJard, HUMEIOT CIEHUAIBHYIO
MapKI/IpOBKy, OAHAaKO 3TO BOBCC H€ 3HA4YUT, 4YTO HC CJ'IGI[yeT 6I>ITB BHUMATCJIIbBHBIM. Bcerz[a

IIOMHHUTE O TOM, YTO COUCTAHHUEC BOJbI U 3JICKTPUYCCTBA OUCHL OIIACHO.

IV. Fill in the blanks with prepositions and adverbial particles where necessary:



1 .Instead ... buying something ... everyday wear, as she had first intended, Mary bought

a .

.. Sleeveless dress... better waer.2. | don't advise you to buy this pair ... shoes. | am afraid

they’ll soon wear... .3. | wonder why the water has set the table ... two persons instead ... three.

4. Speaking at the production meeting, the director ... the factory pointed ... that each ... the

workers and engineers was responsible ... carrying ... the plan.

V. Use the Past Indefinite or the Past Perfect.

1.
2.
3.

They (to complete) all the preparation for the fancy-dress ball by 5 o'clock.

On leaving the hospital the man (to thank) the doctor who (to cure) him of his disease.

In the morning all the passengers (to feel) good after the night they (to spend) in the
comfortable sleeper.

During my last visit to the picture gallery I (to find) that I no longer (to like) the pictures
which (to impress) me when I first (to see) them. Evidently my taste (to change).

Last night he (complete) the experiment which he (to begin) some months before.

They (to be) friends for some ten years before I (to meet) them.

No sooner she (to open) the drawer than she (to find) the photo which she (to think) she (to

lose) long before.

VI.Change the verbs in bracket by Gerunds. Put prepositions where necessary.

I have no intention ... (to stay) here any longer. She insisted ... (to help) me. Are you fond of ... (to play).

They have had very much experience ... (to cast). There was no possibility ... (to come) in time. There is

little chance ... (to see) him today. We have the pleasure ... (to invite) them to the evening party. | think ...

(to go) to the South in summer. We are proud ... (to fulfill) that task ahead of time. They had not any

difficulty ... (to get) new machines.



Bapuant Nel3

I.  Translate the text.

Direct current generations and their applications

The Essential difference between a d.c. generator and a. c. generator is that the former has a
commutator by means of which the generated e. m. f. is made continuous, i. e., the commutator
mechanically rectifies the alternating e. m. f. so that it is always of the same polarity. This is not,
however, the only difference between them.

A d.c. generator as well as a motor of conventional type is made up of the following parts:
outer frame, or yoke, pole cores, pole coils, armature windings, commutator, bruches, and
bearings. Of these, the yoke, pole cores, armature core and the air gap between armature and
pole core form the magnetic circuit while the pole coils, armature windings, commutator, and
brushes form the electric circuit.

Generator fields may be either of two main types-separately excited or self- excited. The self-
excited type is further, classified as series-wound, shunt-wound and compound-wound. In

general practice compound-wound machines are used.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

[11. Translate the text.
Bennumnna 31eKTpu4eckoro Toka (KOJIMYECTBO MEPEHOCHMOro 3apsAja) U3MepsieTcs B amIiepax.
Hampspkenue, T. €. pa3HOCTb IOTEHLIMANOB, KoTopas 3actaBiser Tedb Tok (DHAC -

AJIEKTPOJIBHIKYIIIAs CHIIA), U3MEPSIETCS B BOJIbTAX.

IV. Fill in the blanks with the articles a, an, the and prepositions, where necessary.

When Mary was to open a meeting ... the first time ... her life, her voice shook ... excitement.
The young scientist shook hands ... his friends who had come ... the airport to see him ... . |
wonder why Bob is such an ill-natured boy. It's a pity he takes ... his mother only ... appearance!
Ask Kate to join ... our party. She looks serious, but I know she is very gay ... nature and is fond

of ... singing and dancing.

V. Put the verbs in brackets into the correct voice and tense-forms:
1. Don't let the boy stay out so long. He (to run about) for three hours, and may catch cold. 2.

That young singer has had very good training. He (to sing) for half an hour and never (to stop)



for a moment to rest. 3. It is unfair of you to be so cross with the man. He (to be) away for two

weeks and you can't blame him for few mistakes that (to make) during his absence.

VI. Use the Future Perfect where possible:

I hope that they (to receive) my letter by Saturday and (not to expect) me on Sunday.
Let me know as soon as you can (to make) an appointment with him.

After the clerk (to decode) the telegrams he (to take) them to the chief,
The secretary (to look through) all the papers by the time the director (to come).
Do not start arguing until you (to hear) what | have to say.

| suppose that when my letter (to reach) you, you (to return) from your voyage.

N g o~ 0w Dbhe

If you do not hurry, the train (to leave).
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I.  Translate the text.

Industrial application of D.C. generators.
D.C. generators are used for electrolytic processes such as electroplating. We know that
large d.c. generators are employed in certain manufacturing processes, such as steel making.
The d.c. generator of small capacities is used for various special purposes such as arc welding,
automobile generators, train lighting systems, etc. It also finds rather extensive use in connection
with communication systems.
For supplying direct-current power networks, the supply comes first from an alternating-
current source and is converted to direct current by synchronous convenors or motor-generator

sets.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

[11.a) Find in the text English equivalents:
-IIpOU3BOJACTBO CTaJIN
-MaJIbIX MOIIIHOCTEH - TyroBasi CBapka
-CHUJIOBBIC CCTU MOCTOAHHOI'O TOKA - SHCPIr'ud MOCTyInacTt

b) Translate the text.
ATOMBI JIFOOOTO BEIIECTBA PACIOJArarOTCsd Ha HEKOTOPOM pAacCTOSHUU Jpyr OoT apyra. B
METaJlJIaxX PACCTOAHUA MEXKAY aroMaMHd HACTOJIBKO MaJibl, 4YTO 3J3JICKTPOHHELIC 000JI0UKH
IMPAKTUYCCKU COMPHUKACAIOTCA. 910 AaCT BO3MOXKHOCTH J3JICKTPOHAM CBOGOI[HO 6J1y)i(l[aTb oT
a1pa K sApy, CO34aBasi IIPU 3TOM IEKTPUYECKUHN TOK, ITOITOMY METaJUIbl, & TAKKE€ HEKOTOPBIC

APYruc BCIICCTBA ABJIAIOTCA IMIPOBOAHUKAMH JJICKTPHUICCTBA.

IV.Fill in the blanks with the articles a, an, the and prepositions, where necessary:

We live in ... nice flat...new house near ... park. ... flat is on ... second floor. There are ... two
rooms in it. We have also ... kitchen and ... bathroom, kitchen is... big enough. As ... rule, my
mother cooks for us. We spend ... lot of...time together in ... kitchen. There is...TV set in ...

corner of ... kitchen, and we often watch ... TV there.

V. Put the verbs in brackets into the correct voice and tense-forms:
1. 1 not (write) this letter now. I (write) it in some days.

2. Peter and Ann (go) away five minutes ago.



She already (answer) the letter.

I (not see) him for three years.

You (switch off) the light before you left the house?
I (not meet) him last week.

I read these books when I was at school. I (like) them very much.

© N o g &~ W

He (not smoke) for a month. He is trying to give it up.

VI. Fillin the blanks with prepositions and adverbial particles where necessary:

1. Instead ... buying something ... everyday wear, as she had first intended, Mary bought a ...
sleeveless dress ... better wear. 2. | don't advise you to buy this pair...shoes. | am afraid they'll
soon wear ... 3. | wonder why the water has set the table ... two persons instead ... three.

4. Speaking at the production meeting, the director ... the factory pointed ... that each ... the

workers and engineers was responsible ... carrying ... the plan.
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I. Translate the text:
The compound motor

The features of the shunt and series type of motors may be combined in one machine by
providing both series and shunt windings for the field. This arrangement gives the compound
motor. There are two windings on each field pole; a heavy or series winding for carrying the
armature current, and a shunt winding connected to the supply. Each winding is formed by the
series connection of the corresponding coils, and the fields due to the respective windings aid
each other.

Speed control of a compound motor may be obtained by means of resistance in the field or
armature circuit, as in the case of the shunt motor.

The compound motor may be regarded as having a higher starting torque than a shunt motor
and a more constant speed under changing load conditions than the series motor. Either feature

may be emphasized by varying the proportion of the total field strength due to each winding.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I11. a) Find in the text English equivalents:
- HCIIOJIB3ys OOMOTKH Kak MMOCJICA0OBATCIIBHOTO, TaK W MapalJICJIbHOIO B036Y)KI[GHI/I$I I
CO31aHUA I10JIsL
-COCTMHEHHBIN ¢ ICTOUHUKOM MUTAHUA - PETYIUPOBKA YKCIIa 000POTOB

b) Translate the text:
BCH_IGCTBa, KOTOPBIE MMCIOT JAJICKO PACCTABJIICHHBIC aTOMBI, 3JICKTPOHBI, IIPOYHO CBA3AaHHLIC C
SIPOM, KOTOpbIE HE MOTYT CBOOOJHO TIepeMemIaThcs. Takue BemecTBa HE  SIBISIOTCS
MMPOBOAHUKAMU U HUX TMPUHATO HA3BIBATH JUIJICKTPUKAMH, CAMBIM H3BCCTHBIM M3 KOTOPBIX
ABJIACTCA PE3UHA. DTO U €CTh OTBET Ha BOIIPOC, MOYCMY DJJICKTPUYCCKUC MPOBOJA ACIANOT H3

MeTajia.

IV. Fill in the blanks with the articles a, an, the and prepositions, where necessary:

1. What ... fine day it is today! 2. ... History and Computer Science were ... my favorite subjects
at ... school. 3.1 don't know ... way to ... station. 4. He is ... engineer by ... profession. 5. Usually
| get up at ...7 o'clock in ...morning. 6. ...Rostov is on ... right bank of... Don. 7. Will you have
...cup ... of tea? 8. ...Warsaw is ... capital of Poland. 9. We shall go to ... cinema together with ...
our friends. 10. This is ... book ... book is very interesting. 11. Do you see ... sun in ... sky today?



V. Put the verbs in brackets into the correct tense-forms:
He (know) several foreign languages.

Our grandparents (live) now in Moscow.

He often (visit) them last year.

She (work) abroad next year.

She (not like) loud music.

What you (do) yesterday?

His sister (go) to the seaside next July.

N o g~ e D oRE

V.Fill in the blanks with prepositions and adverbial particles where necessary:

1. Instead ... buying something ... everyday wear, as she had first intended, Mary bought a ...
sleeveless dress ... better wear. 2. | don't advise you to buy this pair ... shoes. | am afraid they'll
soon wear.... 3.1 wonder why the water has set the table ... two persons instead ... three.

4. Speaking at the production meeting, the director ... the factory pointed ... that each ... the
workers and engineers was responsible ... carrying ... the plan. 5. She said that the new film was
worth seeing, but there was such an expression ... her face that | thought she was saying it only ...

fun.
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I.  Translate the text:
Transformers
One of the great advantages in the use of the alternating currents is the ease with which the
voltage may be changed by means of a relatively simple device known as a transformer.
Although there are many different applications, the principles of action are the same in each
case.

The basic arrangement consists of a laminated iron core forming a closed magnetic circuit on
which two separate windings are mounted. One winding, called the primary, is connected to the
a.c. supply, and the other winding, the secondary, produces a voltage which can have any desired
value if the respective windings are suitably designed.

The transformer relies for its action upon the fact that when a magnetic field passing through a
coil is changed or varied a voltage is produced in the coil. The amount of this voltage is
proportional to the number of turns in the coil and to the rate at which the magnetic field varies.
In general, it is approximately true that the ratio of the primary to the secondary voltage is equal
to the ratio of the number of primary turns to the number of secondary turns. This ratio is not
exact because of leakage effects in the magnetic circuit.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I11. @) Find in the text English equivalents:
-UCTOYHHK MTEPEMEHHOT0 TOKa
-pabota TpaHcopmaTopa OCHOBaHa Ha
-IIPOIIOPLUOHAIEH YHCIIy BUTKOB

b) Translate the text:
OGopynoBaHusi pabOTAONIIETO HAa OCHOBE WCIIOIB30BAHMUS BO300OHOBISIEMBIX HCTOYHUKOB
SHEprun Jjis1 aBTOHOMHOI'O TCIUIO- U BHGKTpOCHa6)KeHI/IH YaCcTHBIX AOMOB H SHaHHﬁ. C ero
MOMOIIBKO MOXHO YaCTHYHO HJIM IMOJIHOCTBIO IMOKPLITH 3HECPro3arparbl MPAKTUYCCKU JIIO6OFO
o0BeKTa.
- COJIHEYHBIC BaKYyMHBIC BOJOHATPEBATENHN ISl KPYTIOTOJMYHOTO TPOU3BOJICTBA TOPSYEH BOJIBI
- BETPOTCHEPATOPHI I BRIPAOOTKU DIIEKTPOIHEPTUH.
- CONTHEYHbIE (POTORIEKTPUUECKHE OaTaper M TOBapbl HAa MX OCHOBE — 3apsAHBIC YCTPOWCTBA,

dbonapwu, sHeprodHPeKTUBHBIC CBETOANOIHBIC JIAMITHI.



IV. Fill in the blanks with the articles a, an, the and prepositions, where necessary:

When Mary was to open a meeting ... the first time ... her life, her voice shook ... excitement.
The young scientist shook hands...his friends who had com ... the airport to see him.... | wonder
why Bob is such an ill-natured boy. It's a pity he takes ... his mother only ... appearance! Ask
Kate to join ... our party. She looks serious, but 1 know she is very gay ... nature and is fond of ...
singing and dancing.

V. Put the verbs in brackets into the correct voice and tense-forms:

1. That young singer has had very good training. He (to sing) for half an hour and never (to stop)
for a moment to rest. 2. It is unfair of you to be so cross with the man. He (to be) away for two
weeks and you can't blame him for few mistakes that (to make) during his absence. 3. Our reply
(to send) to you as soon as all the dates (to fix) finally. At the moment some of them (to

consider) still.

VI. Fill in the blanks with the necessary forms of Modal Verbs:

(must, should, would, ought to, needn't, can, could, may, might)

1. They ... not do this work themselves. 2. You ... take my dictionary. 3. You don't look well, you
... consult the doctor. 4. Why ... | give you my money? 5. She ... not speak any foreign language.
6. He ... to help them, they need his help. 7. ... you tell me the time? 8. ... I go with you? No,

you ....
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I. Translate the text:
Auto-Transformers

The Transformer effect can also be obtained with a single tapped winding instead of separate
primary and secondary windings. The arrangement is called an auto-transformer. If the primary
winding n 'resents the whole coil, the secondary voltage will be substantially the same proportion
of the applied voltage as the proportion between the turns up to the secondary tapping and the
total number of turns. By interchanging the voltage so that the supply is connected to the smaller
number of turns, a voltage larger than the supply voltage appears across the whole coil. The
auto-transformer can thus be used to obtain a higher or lower voltage than the supply, as in the
case of the convential transformer with two separate windings.

In practice, the use of auto- transformers is limited to fairly small voltage ratios, one reason
being that if a break occurs anywhere in the secondary section of the winding, the primary
Voltage is applied to the apparatus connected to the secondary. With a high primary voltage this
would give dangerous conditions. The chief uses of auto- transformers, are in a.c. voltage

regulation and for infrequent service such as the low-voltage starting of induction motors.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I11. a) Find in the text English equivalents:
-Ha OJTHOM OOMOTKE C OTIaHKOM
-o011ee YUCII0 BUTKOB
-3aITyCK aCHHXPOHHBIX JBUTATENICH Ha HU3KOM HaNPsHKCHUN
b)Texuuka 6e30macHoCTH:
BeiToBBIE TPHOOpBI, HMMEIOLIME 3aAIIUTy OT BO3ACUCTBUS BJard, HUMEIOT CIEHUAIBHYIO
MAapKHUpPOBKY, OOAHAKO 3TO BOBCC HC 3HAYUT, YTO HC CICAYCT 6I>ITB BHUMATCIIbHBIM. Bcerz[a

IIOMHHUTE O TOM, YTO COUCTAHHUEC BOJbI U JICKTPUYCCTBA OUCHL OITIACHO.

IV. Fill in the blanks with the articles a, an, the and prepositions, where necessary:

1.What ... fine day it is today! 2. ... History and Computer Science were ... my favorite subjects
at ... school. 3. I don’t know ... way to ... station. 4. He is ... engineer by ... profession. 5. Usually
I getup at ... 7 o'clock in ... morning. 6. ... Rostov is on ... right bank of... Don. 7. Will you have

...Cup ... of tea? 8. ...Warsaw is ... capital of Poland.



V. Put the verbs in brackets into the correct tense-forms:
She (not like) loud music.
His sister (go) to the seaside next July.

I not (write) this letter now. I (write) it in some days.

. 1 (not see) him for three years.

1

2

3

4. She already (answer) the letter.

5

6. You (switch off) the light before you left the house?
7

I (not meet) him last week.
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I.  Translate the text.
Protection and control equipment

In electrical systems for the generation, distribution and use of electrical energy,
considerable control equipment is necessary. It can be divided into t\v. classes: A) equipment
used at the generating and distributing end; b) equipment used at the receiving end of the system.
Safety switches are used at the point where the power enters the building. They are of the knife
type and are usually enclosed in metallic boxes.

A magnetic contactor is used to make and break the circuit at the points where considerable
power used.

An automatic starter is a device which is used to keep the current from being excessive while
the motor is obtaining full speed. It is a kind of a resistance inserted in series with the direct

current armature. As the motor obtains speed it gradually removes.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or

the Subjunctive mood.

I11. @) Find in the text English equivalents:
-aBapUUHBINA BBIKIIOYATEIb, IPEIOXPAHUTEIbHBIA BBIKIIOYATEIb
-3aMbIKATh U pa3MbIKaTh LCIIb
-TIPEAOXPAHATH OT CBEPXTOKOB, OT NIEPErPy3KH
-IIOCTETNIEHHO BBIBOJUTCS

b) Translate the text:
BemecTBa, KOTOphIE UMEIOT JAlIEKO PACCTABIEHHBIE aTOMBI, 3JIEKTPOHBI, TIPOYHO CBS3aHHBIC C
SAIpOM, KOTOphIE HE MOTYT CBOOOJHO TiepeMeniarhcs. Takue BelecTBa HE SBISIOTCS
MPOBOJAHUKAMM W HMX TMPHUHATO HA3bIBaTh TUAJIEKTPUKAMHU, CAMBIM H3BECTHBIM M3 KOTOPBIX
ABJIIETCS. pe3UHA. JTO U €CThb OTBET Ha BOMPOC, MOYEMY 3JIEKTPUUYECKHE MPOBOJAA AENAOT U3

METalIa.

IV. Fillin blanks with the Past Progressive or the Past Simple Tense of the verbs in margin.

1. 1... aletter to my friend yesterday. write
2. We ... to a lecture yesterday at ten o'clock. listen
3. She ... the piano from 11 till 12 o'clock. play

4. When he ... in, | ... my exercises. come, do



5. What ... you yesterday at 8 o'clock? do

6. Yesterday when I ... the newspaper, my sister ... to a concert over the radio. read, listen
7. She ... out of the window when I ... her. look, see
8. I ... along the street with my friend when the car ... by. walk
9. It ... the whole day yesterday. rain

V. Choose the correct word form those given in brackets:
1 .When | saw that actress on the stage for the first time, she (to look like, to take after) a small
girl. From her biography I learnt that she (to look like, to take after) her mother, who had also
been a great actress. 2. If you want some information on trade, go to the Ministry library. There
are a lot of good (magazines, a journals) on the subject there.

VI.  Fillin the blanks with the necessary forms of Modal Verbs:

( must, should, would, ought to, needn't, can, could, may, might)

1. They ... not do this work themselves. 2. You ...take my dictionary. 3. You don't look well, you

... consult the doctor. 4. Why ... | give you my money? 5. She ... not speak any foreign language.

6. He ... to help them, they need his help. 7. ... you tell me the time? 8. ... I go with you? No, you
. 9. Your daughter ... have told about it. 10. In winter we ... often skate. 11. You ... not miss

your classes. 12. ... you play the piano before?
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I.  Translate the text
Automatic Voltage regulators

In the generation and distribution of electrical energy it is important to keep the line voltage
constant as the load or speed changes.

Where the load is changed gradually rheostats are used, in installations where the load may
change rapidly automatic voltage regulators are used.

To protect electrical equipment and the wiring from damage due to short circuits and
overloads, fuses or circuit breakers are usually used. The fuse is known to be a device for
inserting in the circuit a strip of metal which melts at a relatively low temperature. The fuse will
melt if the current gets above a certain limit.

A circuit breaker is similar to the magnetic contactor.

I1. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or
the Subjunctive mood.
I11. a) Find in the text English equipment:
- TIPY U3MEHEHUHU HArpy3KH WKW 000POTOB MOJACPKUBATH JTUHEHHOE HAMPSHKEHNE TIOCTOSTHHBIM
- U3-3a KOPOTKHUX 3aMbIKAHUU U MEPETPY30K
-U3BECTHO, 4YTO IUIABKUH  TpPENOXpaHUTENb MPEACTaBIsIeT CO00I0  MPHUCIIOCOOICHHE
- €CJIM TOK NIEPEXOAUT ONPEIETCHHBINA MpeIes

b) Translate the text.
Ileperpy3ka 3JEKTPUYECKON CETU SBIISIETCS OMHOM W3 CaMbIX PACIPOCTPAHCHHBIX INPUYUH
KOPOTKOI'O 3aMbIKaHUS. KOpOTKOC 3aMbIKaHUEC MOXCT HpOH30fITH u U3-3a BOB,Z[GfICTBPISI BJIaru.
DIEeKTPOYCTAHOBOYHBIE YCTPOHMCTBA — PO3ETKA M BBIKJIIOYATENW  TaKXKe JOJDKHBI OBITh
BJIAaro3aluIncHHbIMHA. BHYTpeHHHH IMPOBOAKA, a €CJIM 3TO HEBO3MOXKHO, TO BHCIIHAA IIPOBOJAKA

JIOJKHA OBITH XOPOIIO M30IMPOBAHA.

IV.  Change the verbs in bracket by Gerunds. Put prepositions where necessary.

I have no intention ... (to stay) here any longer. She insisted ... (to help) me. Are you fond of ...
(to play). They have had very much experience ... (to cast). There was no possibility ... (to come)
in time. There is little chance ... (to see) him today. We have the pleasure ... (to invite) them to

the evening party. | think ... (to go) to the South in summer.

V. Fill in the blanks with the necessary forms of Modal Verbs:

(must, should, would, ought to, needn't, can, could, may, might)



1. They...not do this work themselves. 2. You...take my dictionary. 3. You don't look well, you...
consult the doctor. 4. Why... | give you my money? 5. She... not speak any foreign language. 6.
He...to help them, they need his help. 7. ...you tell me the time?

VI.  Choose the correct variant
1. I want to go shopping but if you to come, you
-want, need -not want, needn't -don't want, needn't -do want, needn't
2. If you on this tram it'll take you to the downtown.
- "Il get - have got - got -get
3. He to the country tomorrow if the weather is fine.
-go -goes -'llgo -'d go
4. You'll understand nothing unless you the book yourself.
- read -won't read -don't read - 'll read
5. You'll understand this rule after your teacher it to you.

- 'll explain - explain -explains - don't explain
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I. Translate the text:
Care of the electrical equipment

As a rule electrical equipment operates reliably. Still it does not mean that it deserves no attention. It is
necessary to give the equipment frequent inspections, keep it well cleaned, lubricated and repaired. Undue
heating, vibration, sparking should be immediately removed.

Heating may be due to overload or to a short circuit between turns, lack of oil in bearings. Vibration
may be due to unproper foundation, unbalance in the moving parts of the machine.

Conductors may get heated because of overload or by reason of damage of the insulation of the
conductor.

An electrical machine of any kind requires certain conditions under which it may operate reliably:
temperature and freedom of access of surrounding air, need for protection against dirt, dust, type and
duration of load, etc.

Rotating machines should be placed on solid foundations.
Conductors should be protected against mechanical damage.

All measures of safety precaution must be undertaken.

Il. Write out from the text the sentences with verbs in the form of the Participle or the Gerund or the

Subjunctive mood.

I11. a) Find in the text English equipments:
- KOPOTKO€ 3aMBbIKAHUE MEXKIY BUTKAMU
- Ype3MEPHOE HATPEBAHUE
- MEpHI 0 TEXHUKE 0€30MacHOCTH

b) Texuuka 6€30MacHOCTH:
Hu B xoeMm ciryyae Henb3sl OJJHOBPEMEHHO JOTPAaruBaThCs N0 OBITOBBIX MPUOOPOB M 3a3eMIICHHBIX IPEIMETOB
(BomompoBoIHEIE TPYOBI, OaTapew IEHTPATLHOTO OTOIUICHHS | T. 1.). BIoaHe BO3MOXKHO, 9TO Ha KOPITYC OBITOBOTO
npubopa MpoOHBaeT IJIEKTPUUECTBO. B mociennee Bpems Bce Ooublie U OOJbIIe IPUOOPOB UMEIOT 3a3eMIICHUE.
Oto nenaetca Aya obecnieyeHHs 0e30macHOCTH moTpeduTeneil. Takue ObITOBbIE MPHOOPBI UMEIOT TPEXKHUIBHBIHN

IIHYP U BUWIKY C TPEMA KOHTAKTaMH.

IV. Fill in the blanks with the articles a, an, the and prepositions, where necessary:
When Mary was to open a meeting ... the first time ... her life, her voice shook ... excitement. The young

scientist shook hands ... his friends who had come ... the airport to see him.... | wonder why Bob is such



an ill-natured boy. It's a pity he takes ... his mother only ... appearance! Ask Kate to join ... our party. She

looks serious, but | know she is very gay ... nature and is fond of ... singing and dancing.

V.Put the verbs in brackets into the correct voice and tense-forms:

1. Don't let the boy stay out so long. He (to run about) for three hours, and may catch cold. 2. That young
singer has had very good training. He (to sing) for half an hour and never (to stop) for a moment's rest. 3.
It is unfair of you to be so cross with the man. He (to be) away for two weeks and you can't blame him for
few mistakes that (to make) during his absence. 4. Our reply (to send) to you as soon as all the dates (to

fix) finally. At the moment some of them (to consider) still.

VI.  Fill in the blanks with prepositions and adverbial particles where necessary:

1. Instead ... buying something ... everyday wear, as she had first intended, Mary bought a ... sleeveless
dress ... better wear. 2. | don't advise you to buy this pair ... shoes. | am afraid they'll soon wear.... 3.1
wonder why the water has set the table ... two persons instead ... three.

4. Speaking at the production meeting, the director ... the factory pointed ... that each ... the workers and
engineers was responsible ... carrying ... the plan. 5. She said that the new film was worth seeing, but

there was such an expression ... her face that I thought she was saying it only ... fun.
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MeToauueckue PEKOMEHIANUH 110 BHINMOJHCHHUIO TCCTOBBIX 3aJJaHuH

CocraBuTteib /E.H.T'opmikoBa/

(nmoamucek)



1. OOuIue MOJI0KEHNSA

1.1. Tect — 3TO MHCTPYMEHT, KpaTKOE€ CTaHIAPTHU30BAaHHOE HCIBITAHUE, B OCHOBE KOTOPOTO JIEKHUT
CMELUANbHO TIOATOTOBJICHHBIH HA0Op 3aJaHMii, MO3BOJSAIOMIMX OOBEKTUBHO M HAIECKHO OICHUTH
UCCleTyeMble KaueCTBa Ha OCHOBE UCIOIb30BaHUS CTATUCTUYECKUX METO/IOB.

1.2. TecroBble 3amaHuMsi pacCUMTaHbl Ha CaMOCTOSTENIBHYIO paboTy ©0e3  HCIOIb30BaHUS
BCIIOMOTaTeNIbHBIX MaTepHaiioB. TO €CTh MpPU HUX BBINOJIHEHUH HE CIEAYET MOJIb30BAaThCS TEKCTaMU
3aKOHOB, y4eOHUKaMU, TUTEPATYPOH U T.1.

1.3. TecToBbIii KOHTPOJIb NPUMEHSETCA B OPraHUYECKOM E€IUHCTBE C YCTHOM, NHCHBMEHHOW |
MPAKTUYECKON MPOBEPKON 3HAHW, YMEHH, HABBIKOB.

1.4. TecToBbIli KOHTPOJIb JA€T BO3MOXHOCTH MPU HE3HAUUTENBHBIX 3aTparax ayJUTOPHOIO BPEMEHU
poBepUTH Bcex oOyuarommxcs. C ero mOMOIIBI0 MOXHO HPOBEPUTH PENPOAYKTUBHYIO NESTEIBHOCTh
00y4Jaronuxcs: 3HaKOMCTBO C y4e€OHBIM MaTepuajoM U ero BocmpousBeneHue. [loatomy oH Hambosee
MIPUMEHHUM B Ipoliecce TeKyliero KoHtpois. Hecmorps Ha Gombliioe pasHooOpa3ue xapakTepa 3a/laHui,
MPUMEHSAEMBIX MPU CTaHJAPTU3UPOBAHHOM KOHTPOJIE, C TOYKH 3PEHHUS CTPYKTYPbI UX MOKHO CBECTH K
JIBYyM OCHOBHBIM THIIaM BOMpOCAa: K W30UpaTeIbHBIM, OCHOBAHHBIM Ha TaKHX BHAAX JEATEILHOCTH
oOyuarolerocsi, Kak Yy3HaBaHHe, TPUINOMHHAHME, W KOHCTPYMPOBAHHBIM, OCHOBaHHBIM Ha
MPUTIOMUHAHUU U JTOTIOJTHEHUU.

1.5. K xaxxqoMy BOIpocy TecTa MpeajaraeTcst OJAWH WM HECKOJIBKO OTBETOB Ha BBHIOOD, 00y4aromuics
JOJKEH HAWTHU Cper HUX MPaBUIbHBIN (TIPaBUIBHBIC).

1.6. Bce 3amaHusi TecTa, HE3aBUCHMO OT COJACPXKAHUS TEM, PA3JEiIOB U OT YYEOHBIX AMCIUIUIMH,
pacrojararoTcs B MOPAIKE BO3pacTarolield TpYAHOCTH.

1.7. TecTbl MOTYT UCIIOJIB30BATHCSL:

- 00y4aromuMuCs MpU MOATOTOBKE K 3a4eTy (IuddepeHIupoBaHHOMY 3a4ueTy, SK3aMeHy) B ¢opme
CaMOIIPOBEPKU 3HAHUM;

- npenojaBaTesieM s TPOBEpPKM 3HAHUN B KadecTBe (DOPMBI TEKYLIEr0 U MPOMEKYTOYHOTO
KOHTpPOJISI 3HAHUU;

- JUISE TIPOBEPKHM OCTATOYHBIX 3HAHWUU OOYyYaroOMIMXCs, W3YyYUBIINX MJAaHHBIM KypC TUCIUTUTMHBI
(MJIK).

1. Pa3nenenue TecTOB 1O YPOBHIO CIIO)KHOCTH

2.1. TlepBbIii ypoBeHb (3HAKOMCTBO) - TECTBl IO Y3HABAHUIO, T.€. OTOXKJIECTBICHUIO OOBEKTAa M €ro
o0o3HaueHMs (3a7aHus Ha OIO3HAHME, PA3IMUCHHE WM KJIACCH(PHUKALNIO OOBEKTOB, SIBICHUU U
TIOHSATHH).

2.2. Bropoii ypoBeHb (pEeNnpOAYKIIHS) - TeCThI-IOJICTAHOBKH, B KOTOPBIX HAMEPEHHO IMPOITYIICHO CIIOBO,
bpaza, opmyna wim qpyroi Kakoi-mmOO CYIIECTBEHHBIN dJIEMEHT TEKCTa, U KOHCTPYKTUBHBIC TECTHI, B

KOTOPLIX B OTJIMYHUC OT TCCTA-IIOACTAHOBKU O6y‘-IaIOH_II/IMC5I HC COACPKUTCA HUKaKOH IIOMOIIK OaXXC B



BUJIC HAMEKOB U TpeOyeTcs JaTh onpeaeseHne KakoMy-I100 MOHITHIO, YKa3aTh ciydail JecTBUs KaKoi-
mu00 3aKOHOMEPHOCTH W T.J. B KadecTBe TECTOB BTOPOTO YPOBHS MOTYT HCIIOJIB30BAThCSI U THIIOBHIE
3a/1auu, YCJIOBHUSI KOTOPBIX MO3BOJISIOT «C MECTa» MPUMEHSATh U3BECTHYIO Pa3peIIAIOILyI0 UX MPOLEAYPY
(mpaBwmito, hopMyy, aITOPUTM) U TIOJTydaTh HEOOXOIUMBIN OTBET HA IMOCTABJICHHBIN B 3a71a4€ BOIPOC.
2.3. TpeTbeMy YypOBHIO COOTBETCTBYIOT 3aJaHMs, COJEpXkKalue MPOAYKTUBHYIO AEATEIbHOCTh, B
MPOIIeCCe KOTOPOH HEOOXOAMMO HCIONh30BaTh 3HAHUSI-YMEHHsI. TeCTaMu TPEThero YPOBHS MOTYT CTaTh
HETUINOBBIE 33/1a4d HAa MPUMEHECHUE 3HAHUN B PEAIbHOM MPAKTUYECKON AECATEIBbHOCTH. Y CIIOBHUS 3a1a4u
bopMyTuUPYIOTCS OJU3KUMH K TEM, KOTOPBIE HMEJIM MECTO B PEAIbHON KU3HEHHOM 0OCTaHOBKE.

2.4. TecTbl 4eTBEPTOrO ypOBHS — 3TO MPOOJIEMBI, B PEIICHUU KOTOPBIX €CTh TBOpPUECKAas NESATEIbHOCTH,
COMPOBOXAAMOIIASACA TIOTy4YeHUEM OOBEKTHMBHO HOBOM wuHpopmammu. TectamMu YETBEPTOTO YPOBHSA

BBISIBIISICTCSI YMEHHE OOYyYaroIUXcs OPUEHTHPOBATHCS M MPUHUMATh PEIICHHUS B HOBBIX, HMPOOJIEMHBIX

CUTYaIIHsX.
2. OcHoBHBIE (OPMBI TECTOBBIX 3aJIaHUNA
3. OCHOBHBIE DJIEMEHTEI TECTOBOT'O 3a1aHusA

3.1. Beinenstot 4eTblpe OCHOBHBIE ()OPMBI TECTOBBIX 3aIaHHIA:

- 3aKpbIThle  (COAEepXkKaT BONPOCHI €  BbIOMPAaeMbIMH  OTBETaMH, BapUaHTAMU  OTBETOB,
MHOXECTBEHHBIM BbIOOpOM. K HHUM OTHOCAT: (paceTHble 3aiaHus, 3aJaHMs-33Jaud C IpeaIaraeMbIM
BapUaHTOM OTBETOB — YUCIIAMH);

- Ha YCTAHOBJIEHHE COOTBETCTBHUS (0OYYAIOLIMICA JOKEH YCTAaHOBUTH COOTBETCTBHE 3JIEMEHTOB
OJTHOI'O MHO>KECTBA JIEMEHTaM JIpyroro. K HUM OTHOCAT: TEPMHUHBI-ONPEAEIECHNUS, T0KA3aTEIU-CIIOCOOBI
pacueTta, X031iCTBEHHbIE ONEpalun);

- Ha OIpeJesieHue TPaBWIBHOW IOCIEA0BATENbHOCTH (0OydaromeMycss HEoOXOIUMO yKa3aTh
MOPSIOK BBIMTOJHEHUS MPOLIECCOB, onepanuii, BerauciaeHnidi. O0ydaeMblii BBOIUT HOMEpa MpeiaraeéMbIx
omepanuii B HYXHOM TOCJIEAOBaTEIbHOCTH. Pa3HOBUIHOCTh — 3aJaHUs Ha PaHXUPOBAHUE:
PacIoyIoKEHUE IEMEHTOB 10 BO3PACTAHUIO UX 3HAYMMOCTH);

- OTKPBITHIE (COAEPIKAT 3aaHUs Ha 3arl0JIHEHUE MTPOIYCKOB, Ha 3aBeplIeHHe (pa3, MpeIoKEeHU: B
MECTE MPOITYCKa (TOYEK) YKa3bIBAETCS CIOBO WJIM HECKOJIBKO CJIOB).

4.

4.1. OCHOBHBIMH 3J1€MEHTAaMH TECTOBOI'O 3aJaHUs SIBISIOTCS:

- WHCTPYKIUS (OTpEeNeNsieT, 4To CAeAyeT AeNIaTh: OTMETUTh MPaBUJIBLHBIN OTBET, OTMETHTh HOMEpa
MPaBUJIBHBIX ~ OTBETOB,  JIOMOJIHUTH, YCTAHOBHUTH  COOTBETCTBHUE, YCTAaHOBUTH  MPABUIBHYIO
MOCEI0BaTEeILHOCTD U T.1.);

- 3aJIaHue;

- OTBETHI K 3aJaHUIO;

- OILIEHKA.



4.2. Tlo conepkaHuio ACHCTBUN 00ydaeMoro mpu KOHTPOJIe 3HAHUW MOYKHO BBIJICIUTH 3aJJaHuUs Ha!
- BBIOOD OJTHOTO OTBETA;

- BBIOOp HECKOJIBKHX OTBETOB;

- YCTaHOBJIEHHE COOTBETCTBUS;

- YCTaHOBJICHHE MPaBUIIHLHON MOCIIEI0BATEIbHOCTH;

- paHXUPOBaHUE;

- 3ar0JIHEHNE MIPOITYCKOB, 3aBEPLICHUE NPEAJIOKEHNI;

- MOJICTAaHOBKY;

- COCTaBJICHUE OTBETA,

- BBIYKCIICHUE OTBETA;

- BBIUKCJICHHE U BEIOODP OTBETA.

5. TpeboBaHMs K BBITIOJIHEHHUIO TECTA

5.1. Ilpex e 4emM mpUCTYIUTh K BHIMIOTHEHUIO T€CTa, 00YJIArOITUICS JOJIKEH:
- U3YYUTh UH(OPMAIIHIO IO TEME;

- IIPOBECTH €€ CUCTEMHBIN aHAJIu3;

- BBITNIOJIHUTDH TECT;

- BHUMATEJIbHO IPOBEPUTH PE3YJIbTAT BHIIIOIHEHNUS;

- IIPEACTABUTDL HA KOHTPOJIb B YCTAHOBIICHHBIN CPOK.

(o]

. Kpurepun ouenku tecra

6.1. [Ipu BeICTaBICHUH OLIEHKHU 32 TECT PEKOMEHAYETCSI MOJIb30BATHCS CAEAYIOIUMU KPUTEPUSIMHU:

Onenka ypoBHsI IOATOTOBKU
[IpoueHT pe3ynbTaTUBHOCTH
(MpaBWJIBHBIX OTBETOB) -
Oat (oTMeTKa) BepOATbHBIN aHAJIOT
80 + 100 5 OTJIUIHO
70+79 4 XOPOIIIO
60 + 69 3 VIOBJIETBOPUTEITHHO
Menee 60 2 HEYIOBJIETBOPUTEIHHO

6.2. KpuTepun OlIEHKH TECTOB MOTYT pa3padaThIBaTHCS MPEMOIaBaTeIIeM CaMOCTOSTENHHO.
6.3. HpI/I OILICHUBAHHWHU BBIIIOJIHCHUS TCCTA 110 KCJIAHUIO MMPCTIOAABATCIIA MOXKHO TAKXKC HAUYUCIIATh!:

- 1 MM HECKOJIBKO OaJIIoB - 3a MPaBUJILHOC BLIITOJIHCHUC BCCT'O 3aJIaHUSA




- no 1 Gayty - 3a KaX bl TPaBUIILHBIN OTBET;
- no 1 Oamny - 3a KaXAblil IPaBUIBHBIM OTBET M BBIUMTATHh | Oamit - 3a KaXIbl HEMPaBUIbHBINA

OTBCT.



[MPUJIOXEHME 13

MeToauyeckue peKOMEHIAMU

10 MOATOTOBKE M BHINOJHECHUIO IPAKTHYECKOH PadoThI

CocraBurenp /E.H.T'opuikoBa/

(moxnuce)



1. OOmme noJioKeHUs1

1.1. IlpakTyeckasi MpoBepKa 3aHUMaeT 0coboe MecTo B cucrteMe KOHTpossi. OCHOBHBIC ILIENH
oOyueHUsl B CPEIHEM CHEIHATIbHOM 00pa30BaTEIbHOM YUPEXKICHUU HE TOJBKO YCBOCHHE ONpeeseHHOM
CHCTEMBbl 3HaHUU, HO W, TJIABHBIM 00pa3oM, (GopmupoBaHuEe NPOPECCHOHATBLHON TOTOBHOCTH PeEIIaTh
MPAKTUYECKHE  MPOU3BOJCTBCHHBIC  3aJayd. lakas TOTOBHOCTh  OMPEIENSETCS  CTENEHBIO
c(hOpPMHUPOBAHHOCTH CUCTEMBI YMEHH, U, TIPEXkAE BCEro, MPO(heCCHOHATBHBIX.

1.2. TlpakTuyeckass NIpoBepKa IIO3BOJIIET BBISBUTh, Kak OOydarolluecs yMEIOT TPUMEHSTh
MOJIyYeHHBIC 3HAHUS HA TPAKTHKE, HACKOJIBKO OHHU OBJIAJEIH HEOOXOAMMBIMU YMEHHSIMH, TJIABHBIMH
KOMITOHEHTaMHU JeSATeNIbHOCTH. B mporiecce BBIMOTHEHUS NMPO(ECCHOHATBHBIX 3aJaHUi 00yJaromIHiics
00OCHOBBIBAaCT MPHUHATHIE PEIICHHS, YTO IO3BOJIIET YCTAHOBUTH YPOBEHb YCBOEHUS TEOPETUUYECKUX
MOJIO)KEHUH, T.€. OJHOBPEMEHHO C MPOBEPKOM YMEHUMN OCYIIECTBISAETCS MPOBEpPKA 3HAHUUA. DTOT METOL
WCIIONB3YIOT MPU HM3YYCHHH O0O0I1e00pa30BaTeIbHBIX W OOIIETEXHUYECKUX IUCIMIUIMH, HO Haubosee
[IUPOKO — CHCHHANBHBIX IUCIUIUIMH, HA TPAKTUYECKUX 3aHATUSAX, TPHU BHIMOTHECHUH KYPCOBBIX H
JTUTUIOMHBIX TIPOEKTOB, MIPH MPOX0KICHUH MPOU3BOJICTBEHHOMN MPAKTUKH.

1.3. Jlma mpakTHYecKOoW MPOBEPKH MpejiaraloTcsi caMble pa3HOOOpa3HbIE 3aJaHUs: TPOBECTH
pa3iIuyYHble U3MEpPEHHS, OCYIIECTBUTH COOpPKY, pa30opKy, OMNpENeNUTh NPUYMHBI HEUCIIPABHOCTH,
HACTPOUTH TpuOOp, pa3paboTaTh TEXHUYECKYIO JIOKYMEHTAIMIO, W3TOTOBUTH KOHKPETHOE H3MaHuE,
BBHITIOJTHUTh TMPAKTUYECKYI0 paboTy, MPOaHATM3UPOBATh MPOU3BOJCTBEHHYIO CHUTYallUI0, IOCTABHUTH
SKCIIEPUMEHT U T.JI.

1.4. Ha mpakTudeckux paboTax mpernoaaBaTeib UMEET BO3MOKHOCTh IMPOBEPUTH HE TOJIBKO 3HAHUE
TEOPETUYECKUX TMOJIOKEHUH, HEOOXOJMMBIX IS BBHIMOJTHEHHs 3anaHuii. B mpoimecce HabmogeHus 3a
XOJIOM  Takux paboT  (MOCIIeIOBATETbHOCTBIO, YBEPEHHOCTHIO B  JIEHCTBHUSAX)  BBISABISICTCS
c(OpMHUPOBAHHOCTh YMEHHI 00paIarbes ¢ NpudopaMu, MPOU3BOAUTh U3MEPEHMS, BBIMOIHATh PAaCUEThl,
aHAJIM3UPOBATH MOJTYYEHHbBIE PE3YJIbTAThI, 1€aTh BEIBOIBI, 0QOPMIISTH OTYET O MPOIECTaHHOM.

1.5. TlpoBenenue mpakTUYecKUX pabOT MO3BOJISET Hambojee OOBEKTUBHO OIMPENEIUTh YPOBEHB
TOTOBHOCTH OOYYarOIIErocs K MPAKTHUYECKON IesITeNbHOCTH, C(HOPMHPOBAHHOCTh TAKUX BaKHEHUIIUX
MHTEJJIEKTyalIbHBIX yMEHMH, KakK aHajiu3 M CHUHTe3, 0000lIeHue, cpaBHEHHE, IEPeHOC 3HaHUM,
MCIOJIb30BaHNE 3HAaHUM 1 HECTAHIAPTHBIX YCIOBHSIX.

2. OcHOBHBbIE KPUTEPHH, M0 KOTOPHIM OIl€HUBAETCS JeSITeTbHOCTh 00y4al0IUXCsl BO BpeMs
NpoBe/IeHUs] MPAKTHYECKOii padoThI

2.1. OCHOBHBIMH KPUTEPHSIMH, [0 KOTOPHIM OLICHUBAETCS IESATENbHOCTh OO0YJaroIIMXCsS BO

BpeMsI MTPOBEACHUS MTPaKTUUECKON (J1TabopaTopHOil) pabOTHI, IBISIOTCS CICTYIOIIHE:

—IPaBUJILHOCTh MPUMEHEHUSI IPUEMOB PaOOTHI;

— paloHaNbHAs OpraHu3ays Tpyaa U pabodero Mecra;



— BBINOJIHEHUE YCTaHOBJICHHBIX HOPM U TPeOOBaHMM K KOHKPETHOMY BUAY paOOTHI (palimoHaIbHOE

UCIOJIb30BaHNE 000PYIOBAHMS U HHCTPYMEHTA, COOJIIOICHUE IPAaBIUII TEXHUKU O€30IaCHOCTH, CTETICHb

CaMOCTOATCIIBHOCTHU ITPU BBINTOJIHCHUU BaHaHHﬁ).

3. Kputepunu u mkaJia oneHuBaHus

3.1. Ilpu BBICTaBICHUH OIEHKH 3a TMPAKTHUYECKYID pabOTy pPEKOMEHIYETCS T0JIb30BAThCS

CIIEYIOIIUMU KPUTEPUSIMHU

Ouenka

Kpumepuu OUCHKU

Ouenka «5» (OTJIHYHO)

[IpaBUBHOCTH  BBITIOJIHEHHS  3aJlaHUS  JIAOOPATOPHOU/TIPAKTHIECKOMN
paboOTbl B COOTBETCTBUM C BapUaHTOM; BBICOKAs CTEHECHb YCBOCHHS
TEOPETUYECKOr0 MaTepuana Mo TeMe J1abopaTOpHOM/MpakTUIECKOi
pabotbl. CrocoOHOCTh MPOAEMOHCTPUPOBATH MPEIMOIABATENIO HABBIKH
paboThl B MHCTPYMEHTAJIBLHOW MPOTpaMMHON cpejie, a TakKe MPUMEHHUTD
UX K PEIICHUI0 THUIIOBBIX 3a]a4, OTJIMYHBIX OT BapuaHTa 3aJaHMUS.
Bricokoe kauecTBO MOJATOTOBKH OTYETA MO JIA0OPATOPHOU/TIPAKTHIECKOMN
pabore.

[IpaBMIIBHOCTH W MOJHOTA OTBETOB HAa BOMPOCHI MPENOIaBaTelsl BO BpeMs
3alUThI pabOoTHI.

Ouenka «4» (xopoiuo)

JIeMOHCTpHpYET  JIOCTaTOYHO  BBICOKHI/BBINIE  CPEIHETO  YPOBEHBb
BBIMIOJIHEHUST  3a7aHus  JabopaTOpHOI/MpakTHUecKo  paboTel B
COOTBETCTBMM C BapHaHTOM W  XOPOIIYIO CTENEHb YCBOCHUS
TEOPETUYECKOTO MaTepuaja 10 TeMe J1abopaTOpHOM/MpaKTHIECKOM
pabotel. Bece TpeboBanms, mpeabsBiseMble K padoTe, BHITIOJTHECHBI.

Ouenka «3»
(Y10BJIETBOPHUTEJIBHO)

JleMoHCTpHpYET CpeaHHI YPOBEHB BBITTOJTHEHUS 3aJlaHus
1abopaTOpPHOI/IPAKTUIECKOH pabdOThl B COOTBETCTBHU C BapHUAHTOM
BosbmmuHCTBO TpeOOBAaHUH, IPEIBSIBISIEMBIX K 3a/IaHUIO, BBITIOJTHEHBI.

Ouenka «2»
(Hey10BJIETBOPUTEJIbHO)

JIeMOHCTpHUpYeT HM3KUI/HIKE CpEIHEro YpOBEHb 3HAHWN, YMEHHH,
HAaBBIKOB B COOTBETCTBUM C KPUTCPUSMH OLEHUBaHUA. MHorue
TpeOOBaHUs, IPEABSIBISIEMbIC K 3aJaHHUIO, HE BHIIOJTHEHBI.
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